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Reading Skill

Example

smaller(FE+= small)

p.10

oz
In the 1950s, / most families in the United States /
1950 Hof| HEEQ 0= 7H™e

included four people, / two parents and two chil-
49| 71=0| ULt 25 2HI} XA 2

871

dren. // Since that time, / the size of the American
1 0|2 0= 7t&59 37|=

family / has become smaller. / In 1970, / the aver-
o =opx|z Uct 19700 ris

age American family / had three people. / And in
02 7152 3o|AUCt az|u

2000, / the average American family / only had 2.5
2000E0l= & Ol= 7t&0| 2.5%0] =mt3ict

people.

OREEAM
* the size of the American family has become
smaller. : has become= "have(has]+ p-p- .
oo AYSR AR, BARE AL =ol
= S YEr L o

W sH A

1950 el t2ef vl= 7Hgell= 4789 7H=
5, F5 273 A4 250 Aslth T olF=2, 1]
= 7h5e] 271 © AopAa 9l 1970 =
Bt vl= 7hSol 3olgint. Sl 20004 o=
Bt vl= 7kl 2.57 0 =3,

@®Solution
1950499 4% — 19704 3% — 20009 2.5
o2 Hi 7S U A4S S8 o2

smaller (small)7} &%ch,
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ol
=
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Let’s Try .11

®

@20 g1
All East Asian countries / use chopsticks, / but that
SOtAlote] 2E =752 HNorets AEettt Skt
doesn’t mean / that they are all the same. // Japanese
A2 QOjsHx| 2=t H7teho] RF Zots A2 €2
chopsticks / are made of lacquered wood. // Chinese
P = REE LIRE 2soint =
chopsticks, / usually made of wood, / are longer /
M2 2E L7z USoXI= o dot
than those from other countries / since they are
CHE Lfgtel A7t2tect Gl [ pa R A = =
developed / to share main dishes / at the center of
JHEEIRZ] f2olct 2§ 20l HI| siA HolE Sl U=
the table. / On the other hand, / Korean chopsticks
gt of &= Wt =5sict
are unique / in that / they are commonly made of
~0l FollM OS2 EE AHQZ|IA AEHZE
stainless steel. / Users feel more weight / and have
RS0 ZIT AMEXER2 RAE o =7t a2ln
to use more strength / to handle them. // Therefore /
O W2 2= AtEshoF 3t HotatE tE7] flsi ety

Koreans are

ghEolEe EEdt=rt

trained / from an early age / how to use
02l Lto|2E M7H= ARgstE
them.

HitH
od

mjo

=
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R
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* Japanese chopsticks are made of lacquered
wood. : 'be made of ;&= ~CE FHEOA|TY
e Yu2 7o JHo] WA = =94
H3E yeRdTE HHEY Tbe made from,

= A= o] ¥ste 3otz WHIE UE

o
ex. Cheese is made from milk.

Hze $H=2 EoXH)

* Chinese chopsticks are longer than those
from other countries : thosex= ¥H&EH+&=
chopsticksE H4lst= g Ato|ct,

*since they are developed to share main

ER

o
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dishes : sincex ~W&of = o2 ‘o]

£ Uetll= H&Afolt

* Korean chopsticks are unique in that they

rr

are commonly made of stainless steel. : "in
that,= "~ HAA 2h= 2juoltt.
*how to use them. : "how to+&AMIE
~ahe W 2 ojuln,
@ EsHA
Fohlote] RE F71EL AIeS Agut,
gk 230] (AHgEHE) R7tete] BE Zrhe
2 oustAE gttt 92 Avlete 23
P2 fEoldt, HE URE wEoli: F3
A7HEE e yEhe] AR o 2, Hol
= T e F2IYE Dol HEF AEEHI
2o}, ¥hdof, &= A7t HE 2E A
& 2"z wEoinks HolA 558, ARA
=< FAE 9 =74 =i A7 957 Al
H g2 A= Soiof gk wEbA =SS v
% ol Yol 7Y A7k ARgSte WS S

<=t

f
Lo o

@ Solution

7k AS2 Qi e = Wgo] ojojRl Bz At
He WES AALEA olojE HEAF On the
other hand(8tHol)7} E°17t= Ao 7M4 &

Ela=g

A= E
@ Akt @ ufetA
®@dEE @ 18} FAl

Let’s Read

L L Ly
1. @ 2. How much luck he/she will
have in the coming year.

p.12

@20 g7l
The Chinese spend / much of their money / buying
EIQUS2 20t ue =2 Zzg

fireworks / for Lunar New Year. / They like / to set
Atz o =8 42 2lsiM adse Bofeitt E=2
off fireworks / and make wishes / for the new year. //
Blegle A2 32| AHS i MsHE 2lal

The Chinese are well-known / for their liking / for
FIUS2 & LX Atk Zotets A=

the color red. / They decorate their houses / with

w7y ase @ Rar

e
1jo

red-colored ornaments / and even wear red under-

R L] J213 ARIof W7 =2 Yot

neE

wear / which is believed / to bring good fortune. //
2ojxIct s JtM=2Ct

Fortune cookies are also popular. / When one bites
A2 WA= A7|7h U WAE o = of

the cookie, / a slip of paper / is found. / It tells / how

gt zzfo] Fo[7t  wAHL A2 Lol =Ct

=212

much luck / the person will have / in the coming
AotLt e MRS I Aol JIXIA EXI2 CHSsho

year. // Like Korea, / Chinese parents and grandpar-
St &% RERSn 2RES2
ents / give money to children.
oo|S0ilAl == =t

OREEN

* The Chinese spend much of their money
buying fireworks : "spend + A7) +-ing
~st= d ARME]S 24
The Chinese are well-known for their lik-
ing © "be well-known for; ~22 2 4#A
2 thH= be famous for)

even wear red underwear which is believed

to bring good fortune : which+ A3JA} red
underwearE T43h= F4 BA N BAe|H
a slip of paper is found. @ "a slip of ~; &
}_z}g] ~

how much luck the person will have : 7t
AEZEE "YJEA+FA+FALY ooz

2o}

o
o
o
HE
[e]
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e
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O 26 A
FRAEL ML P9 EHL TYSE o @
o E2 £ 152 EZS Huel A2 Fo}
sha AjshE 93l Age vt FRASL W
Be Folshe Ao 2 deiA Ytk AL W
7 RAFOR FE Fulm, Axol Yo

AA LT o AR WA YBE 7| e},
P& T} A A7 Ak, BRE wo] B 2
& Fo] z7o] et} 1 Fol 1 Aol T
aol dult gol YdeXE Wa) Erh, FRAY,

3 RREN 2ROEL ol oA E& F

@ Solution
1. ¥z Fof olojxL Wz AAEOR L
T3, e 7P STk oA K| WA 1
B2 Q7% B & WEOoR me] FH
o WIS W9 FolbE & 4 Stk webA
ol & olujat: likingol Soi7le o]
gt
2.Q : o® Abgo] WE I} &4 FolB B
Mekn YA 1 Folrk Rog e F
a2
— 2 Fol 1 Aol o] Anht ol

VA E Tl okl Jo

1
.
A

A=< El
1. OAFT @5 @A ® &A%

p.13

2. 2HH(*%+= pumpkin)

ol
Although Halloween, / which is on October 31, / is
HE 22 ool ~o[x|2t 10E 31olct

not an official holiday, / it is a very special day / in

SAXQ Y2 ofLct a2 e SLat ot

871

America. / On Halloween, / children dress in cos-

D2ME 2@ Holdl  OlISS =Fo2 i Yect
3 2 34

tume / as all kinds of things / such as witches,
2= R AS obL,

ghosts, monsters, pirates, TV characters, and even

=g, 1=, o™, TV ST g, dXlol=s

computers and cereal boxes. / The windows of

FREIL M2 ExF E2 B2 s F2ols

many houses / have Halloween decorations and

Y= E FMEH FHS0l =0 Atk

jack-o’-lanterns. // Jack-o’-lanterns are pumpkins /
sHts2 sHo|ct

that are carved / with strange faces / and have a

=715 oMt ¥E BYoZ J2|m I ol

candle inside. / In the evening, / the children / go
Z=0| At o oto|E2

from house to house, / knocking on doors / and say-
Yoot Sofckdot == FE2HM J2|x 2SHA

—= T

ing / “Trick or treat!” / The people in the houses /

MEE FX foE s B Ade Ho A= AEE2

give the children / candy or some other treat. // If
oto|SoilA =ct AFEOIL} CI2 oS 712 ool

they don’t, / the children might / play a small trick /

FR OB 1 0j0ISS ~UAE BEC A FHg At

LIs— =
on them!
mEl

C®TE2EA

* Although Halloween, which is on October
31, is not an official holiday, : although+
B & ~o]X|RF o]z ou|9] YR E YEHY
+ A&Arlt which+ Halloweens A3JAt
2 oh= AlEA SR Y BAN B ARl

* children dress in costume as all kinds of
things such as witches, ghosts, ~.
such as= "~ 2% 9] 9n| = Jike®} v &
= At

*Jack-o’-lanterns are pumpkins that are
carved with strange faces @ that< pump-
kinsE AYAR stz 4 BA Aot

* knocking on doors and saying “Irick or
treat!” : knocking®} saying< A543 U
Btll= BAFELS R, ~3HA = S
= and they knock on doors and say ~

o
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* the children might play a small trick on
them! : mights ~¥4X= 2T} 2= 9u|
2 OFf 35 & Ueh 25 Al

CRalo B!

104 31¢¢] €24 dojl= 343 FL2 of
UL olgolAe dlg- SE3 goltt. d=d
glojof ojdolE2 uh, 13, A&, &, TV &
A=, AAole AFEY AL A 22 %
7HA BRe R A et B2 HEd A2
© 22 AHEFH TEreol o dedH, =9

Solgk ol et A2 27wlo] 1 ghof Fo] 9]
L supolth, Aol ololS& AAnitt Sojrk
WA B FEen Age FA gow g

T
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|

e A Adares 2gch a=w Yo s A
YES I olo|SolA Aol HE He AL &
LW e AL FX gom, 1 ofo|So] 1

EolAl A2 U2 AN = BEH

o

@®Solution
1. =4 dojof ofel&L FAuh EotryH
Trick or treat!(A3= A ¢god At 2
Adl el Xt
2. Q ! jack-o-lanternsE F<& R THEo(X]
a9
— Jack-o’-lanterns are pumpkins©l| A jack-
o-lanterns= O Z TS t= e &
% 9},
=g E
1. @ AolAlo, AU, g8 dol8.
(T.G.LE : FEo] AR EEZ W= D)
@ HA #2o] A7IE "’
® 2=lTtojof,
® Alo] GAA FHE& HEAI7IE.

p.14

Zum N E gl Lud o ok ANA SeacH
1.® 2. 8= o3 AHES QuE dd
gtk 3.0

@®20] ¢i7]
“Don’t judge a book / by its cover.” / That means /
M WESHR| ofet ZHEXZ a2 oot
we should not judge people / by their appearance. //
2|7t M-S TESHX] 2ofof Bttt Q2=
But in many cases, / we still do. // Perhaps / ancient
SHR|ZE 2 F0lM <2l= o5 ettt ofot=  aich
Egyptians / were wiser than us.

olEEQISS PaHct o Mt

—_— =2
An American scientist / has discovered / that
ot 0l= IFsixt= LA s
ancient Egyptians / didn’t discriminate against
0IHERISO HEO0IE AMESHR| AT
dwarves. / Dwarves are much shorter / than other

HEH0IE2 W o HUC CHE AFEEEC
people, / but in ancient Egypt / they weren’t

SHX|2H 2Ll O|HEO A a2 HAXIX|
thought / to have handicaps. / In fact, / they were
AT A ZEE X Y= Aez HHz as2
respected. / According to the scientist, / the dwarves

EEYRACE O Stxtof| TEH EESE

had many important jobs / in ancient Egypt, / such
E2 5% HYsS 7ot It oIEENAM
as jewelry makers, fishermen, entertainers, nurses,
2 Zoi|7t ofF, Holl2l, ZHS AL
and midwives. // There were also several elite
Ao 22 R H2E HHISE AU
dwarves / who worked for the pharaohs.

ot flsf LM
Therefore, / we can say / that Ancient Egyptians
Ui fals g+ Atk 1 0[HERISO
were likely more open-minded / to physical handi-
2 HAol AT AR ool cHai A
caps. // One wise man of ancient Egypt / said / that

uo o|FESl & A= Ut

caring for / the old, the sick and the handicapped /
EEE A2 LI0IE MEE, OFE AIEE, 2|1 HoiE 7H
was a moral duty.

AHES ZEHA oR0|Ct
PR EN
* An American scientist has discovered that
~ : has discovered= ‘€& 9] 9u|E zZt=&
Az FEol},

ol
g
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)
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* Dwarves are much shorter than other peo-
ple : much+ H|2g& ZF2shH= FALR, even,
still, far, a lot= &2 §H o2 2t}

* There were also several elite dwarves who
worked for the pharaohs. : who+ several
elite dwarvesE APALE st 74 BA S
Abo]tt,

* caring for the old, the sick, and the hand-
icapped was a normal duty. : "the+3§&
Ahe B HEHARE YEho] ~3F AFREE
o] ofmjojrt,
the old = old people
the sick = sick people
the handicapped = handicapped people

2 WA vhek” 2L 97k AL
S m= WESK| Wolop FE ojujdtt 3
B e Ao, Selt ods A gm

T gtk obbE TT olgEAES ¢

oﬂ w2, ‘*XPOl— - 29 Pszow w3
o7, o, Aolgl
o 293 NYe 7\}
S AP B A= Aol
webd, o) o] PES! Syofel
el A2e) sietn 2 5 94k 2 ol g
3 ARE UolE ARE, ofZ ARE, %

A AYES BHE R 2EA gretn %P?EEEP.

l:l r

rulrt
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__)é
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)
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=
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@ Solution

1. BIZE Fof o]ojA= EFoll &9 u|(At=
< u = YrisA= ot "Eoh7b vehd Sl
1 9ujet Z2 &£2-2 ® Don’t judge a
book by its cover.(BEXE & BstA]

Ae 2 o4

-9 WSA 2007.1.17 5:14 PM  #o|x6 CMYKZH $ AYOI OrEr as

e}, ol

2. Eo Y& BRI B we still
judge people by their appearance (2] ¢
23] AbgE u 2 wdgith) o] ouo|t},

3. (@314 1o o|FEJIEL Aelielel Higt HA
< 7HA AL AR FdT
— o] 22 ¢fmof tigt HAo] glAA f o]
HE ASE th2 it

G EH I
1. @ 2Fo] glom
@ AU B 32
® Aol Fasih
@ AHolx
3098 ©%9 © 947 @ =4

A= gl

Grammar Check p.15

1. which 2. who 3. built 4. the

(@25 A
1. Y= 7H 27t gle Fd ASHE 7HR1 L Qi
2. Julie= 2E AI@A & 1008 W= 99
auo|rt,
3. 1 oJFERIES e Mo w2 Hu| =&
=T
4. A = HEL 7P AR ES =l

9] A4S uhe

ot

@ Solution

1. APA7E AHEY 9 BAHEARE which &
= that< &

2. APA7L /\}%}“ 73 BAHEA= who E=
that= &

3. %3 °] many pyramids7} £8¢] Fo|&2 2%
082 ThegAttp.p., o FEEHR 2ofof 3t
o}, buildA ™ — built — built

4. "the+3-8&AL, | B4 REEAH~T AFREE)

o
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sl B2 43 E LT p.16
1.O 2. Q7] &30 L7|e s &35
FEA7)T, G AT 1BoR A 5 Qe
S8zt 3.0

®zof 27

It’s the Sth lesson. // You begin / to feel drowsy and
5mAjoct o2{E2 AlEfeitt  UEsiX|n Z2|7

sleepy. // You try / to listen to the teacher, / but it’s
22 Helith MYy 25S =7 flsh shx|2t

not easy.

2X|7h et

Go to Spain or Portugal. / You can take a nap / after
AHQIO|LL ZEELZ JIEX  HYE2 HES H U0

T Xo=E

lunch time. // This afternoon nap / is called “siesta”. //

o Azt =0l o] 2% HEH2 siesta2ty =Lt

People in these countries / take a short nap / in the
o Lizte] AE2 e JES T

early afternoon, / right after lunch time. / Some
0|2 2% o Azt 2=ol ol
people sleep / the whole time, / but most people /

ANHE2 Tt A2 LHLK SHR|ZE RO AIE2

watch television / or take a short 15 to 30 minute

Hefu| ™S 2ot E= 15200A 3027t B &2 *ot

nap. // The siesta is usually / between 13:00 and
siestac EE 2% 1A|0i[A 4A| Atofo|Ct

16:00. // Therefore, / business hours are usually /

kA =2 A2 B8 ~o|tt

8:00 to 12:00 / and 16:00 to 20:00. / In any case, /

2 BAIA 12A] T2|1 2F 4A[0|M 8AI7HX| HME

it’s hard / to see people or cars / in the street / at the

ot AIHO|LE Xt HEE A2 ZdAH2[0IA

siesta time.

siesta AlZtof

According to some recent studies, / it’s natural / that
2o ¥ A0 MEH gHSICH

humans become tired and fall asleep / in the middle

Q1ZHo| mZsix| FHol S == A2 2& 30

of the afternoon. // The siesta can satisfy / this desire
siestas EFAA & 4+ ATt o]H +H

for sleep / and allow a person to wake up / feeling

275 2|3 Ao THOLIES of FECf

much more refreshed.

W o M3t RS LyIEA

* right after the lunch time : right WM&’
eh ofu]e] RAbolct,
ex. right now (U2 A|&)

* it’s hard to see people or cars in the street
at the siesta time : it 7}, to see ©]357}
A5ofolct

*it’s natural that humans become tired : it
£ 7}50], thatdo] Aofoltt,

* The siesta allow a person to wake up
allow + B A 0] +to R YA, ~7} B 3
2siet

- feeling much more refreshed : &A152HS

Uheh BA R}

SaAjolty, UEsA| 2L E2|7] A&zt AR
TES 5083 85T, HA7F gt

22 7FEA} o2& FHAl A
T IS & 4 Stk oY o5 e
siestagtal 9Tt o Ut AFEE o8 2
T, AA A AFof g2 IR o o’ Ab
FE2 AIZE YW ARG tjRE] ARFES E
PEHe EAY 15294 30279 &2 =
Zhek, siesta= HE 2% 1A]0014] 4A] Ato]o]t},
whEba] 25 AR BE 9 8AIOA 124],
2L 2% 4A]9A 8A|7EXolth, oBE, siesta
Azl AA A Aol AEsAE B7]= of
.
2o g o] w2, QI7to] 2.5 Fof u
AL Fro] A E= AL Tt siesta= ©]
23t o S5 SHA7]AL, Algro]l BX H A
71 8-S 7HA A 5= JEE F & 5 ot

@ Solution
1. BIZE $FRE siesta Al{to] HE % 14]9
Al 4A] Atolo]al whEka] R A|7Fo] @4 8A|
oA 12A], 123 5 4A]o|A 8A] Ato|7t
Hoh= Aol Yot ok mEbA] siesta Al
= AAF A Aty AEA7E AUk A

ol
g
HE
)
nx
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= 27] {3 &(hard) Aot 5T = . @HEHY

2. "FA9F 2% The siesta can ~ refreshed.ol ¥ 1 9=3e 1930W3RE 4dnict dajx ot
el BTk ek gl 2. 2 A9 §9F 1ol utEgo A mdgct

3. Q :siesta Al AAI7ER? 3. W7t ERHS 1 JaneS Mol gtk au=
— A4 HAF Z$(right after the lunch time) B Lgato] o)) WYl A=zt Ale| gt

o 2+ W7t A17Fo] siesta?h A=} YT,
CEA=5: El
1.@4e @2 @Y2F O =AL
3.@ ok AA A%
@ A4 Az A
@ 4
® AFrgol Usts A7k AAE

Grammar Check p-17

l.to 2.that 3.togo 4.tocome

(R

'HA1

|

Ao
ol

3

l

f

= flo

i

£ AHIE Aol Fast,

o] ol|gt= AL ApA o)t

o8t 27t FHEE ST

CREYANE YA 104714 Hof| 28t w4
AT

o > d

~>5~.N.~

@ Solution
1. 7k (1) + 220 (to F-FAh
2. 7} (It) + A 30 (that &)
3. Tallow + && o] +toF AL

s|etaiet
4. "tell + HA o] +toFF AL ¢

sk

R N ]

~olA - ES

Grammar Focus

Example
1. been held
2. been stolen

p.18

3. been taken

o,
ol
e
)
2

@®!Solution

1. @45 45H : "have(has) +been+p.p.,
(hold - held - held)

2. SR 5
(steal — stole — stolen)

3. AYRE =55 : "had +been+p.p.,
(take — took — taken)

: "have(has) +been +p.p..

Let’s Try P19

1.® 2.@

1

@20 2171
More than 3,000 students / have become sick / after
3,000F 0f&f2l ol AS=0| 2o
eating lunch / at school. // These schools / used food /
Hods 2 & stuolM o] Stus2 SAE AE3
mostly from CT Food System. // This company / has
tHEE CT Food System2| 0| 3lAt=

stopped / providing meals / to schools. / Students

oS4 AEe saol styse

have been asked / to bring lunch boxes / from
et CAEE IHREE

home.
oA

MY

OEEEA
* Students have been asked to bring lunch

boxes from home. : "ask A to B, A°A BE

iR

@IS
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3‘-"
kl
i
rlo
)

S EN BE CT Food
Systemol Al AFE 24& AR}, o Ak
stio] $4 AFS FRHh PYSL FoA
EAHEE 7THALEE @ Hukoit)

= A

@®Solution

U o F2lo] FEE7] wZeoll Shaof A
SN =AE oA 7hA L2t 8 R
Zoltt, mekA g =&Y Foi7F S
(Students) ©|B2, @3S "t AkSlo] E|o] a5k

£ FSHE HoF T4, AR +FH=
"have(has) +been +p.p., = YEHATH

2

@®20] 27|
A lot of money / has been spent / on English educa-
2 =0l AMEZO ATt 0| W0

tion, / but it is not showing / in the quality of
StX|2H Ho[X| ¢4 lct O wakAf2| Eoj| A

English textbooks. / According to recent reports, /

Z2 Exof mEH

many grammatical errors / have been found / in

LA=|o] Bt

middle and high school English textbooks. / In

B, 1SS ol nutMolA

addition, / there are awkward expressions / that

ALzt OfASH Ho1S0] ATk

native speakers do not use. / Some of the errors are /

HHRSO0| AE3HA| f= RFE 39 2

as follows: “Open you book”, / “I think her very

CHSat 2t “Open you book”, ‘I think her very

smart”, / and “Would you like some drink?”

smart”, 22|23 “Would you like some drink?”

o

CEECTS

* A lot of money has been spent on English
€ Boll 2t

* there are awkward expressions that native

education : "spend A on B,

speakers do not use : that awkward
expressionsE AWALZ St= F24 BA

Aol

2007.1.17 5:14 PM ®#°o]X]9 CMYKZH $

2 =0l Fol Ao AREE o] AR, Fof 1
Ao HoAs Holx] ¢Far ek T HEof
a2l B 284 eRf7E F, Assha gof
A oA E =] ot ATzl fojlEe] A
|HA o= oAt FEEE o /e Y
22 t}-33 Z} “Open you book”, “I think
her very smart”, “Would you like some
drink?” S°|t}.

@ Solution

(A) 1 B =0] Fol AFof AREE Y = g
o2, Fo1¢ ‘E(money) & AHg3tt}
(spend) #h= &2+ FA171 2 = gleB=
FEHE FAE ook gt =, be spent=
Hpofo sh=d|, ol has7t B = R
4587} =] been spent7} Eojof gt}

(B) : Fol?l FHH 2F(grammatical errors)
£ FHfind) 2= 29 FAVEE 4+ ¢
oug 289l be found”} i, EIF &
of have7} loBE &8 $=FEH 7} o
been found”} ¥ ojoF gty

o
o
o
HE
[e]
==
e

o
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A7l ome ®

Reading Skill

Example

fire(

p.24
=35

ke

People learned / how to mak
S22 HigC nE=

27|

it / in about 7,000
7|8 9 7,000

B.C. // It was used / for heat and light / and to

Hof X2 MEEoRCH Bt Hez =i

destroy dangerous animals.

€
g weE Y

Eo=Eo =

fedet S22 S2X|7] {6l

CEERS

* People learned how to make it : "how to+
AR~ U

@ EsHA

AFFES 7194 oF 7,0009 0 24 TEE W
2 Wiglth 2Ae 93 wo= AgEFL ¢
A sE=E= =TA7] Yol ARgE o F .
@ Solution

Q3 9e Un 52

=22]7] #f8h AR AT
o}

I FES
S WEs F8 it fir(@)9S &

p.25

®E0 7]
Elections are political characteristics / of democratic
dne X EZolct UFFo =7t
nations, / such as the United States, Canada, Korea,
ol=, 7HUCt of=, HAZet 22

oX,
o
ye
ol
=
ot

2007.1.17 5:14 PM #°]x]10 CMYKZH $

Mexico, / and the United Kingdom. // They give

J2|2 Y= JNES MEE
people / the opportunity / to choose their own lead-
oA =t 712E aS9 X=AE MEE

= o=

ers / and to replace those / whose policies have

J2|n MHSS A 59 FHo|

become unpopular. / So they are important ways /
217171 glof ! M 2RSS S0t gyt

of limiting the power / of government leaders. // By
HHE HMgfsl= U] X=XEY

choosing / among different candidates and political
MEHSto M CHE SEAED Y= S0M

parties, / voters also help / give directions / to their
EHXS2 E3 =0 YE MAlste A2
government. / For example, / by voting / for a can-
as9 FRo g = Furgozl =EXA
didate / who promises / to improve local schools, /

X% stmE HAsHCtD

A==
A£Sh= =

voters show / that education is important to them.

ERIEE B &0t u=0| AS0A BQsitts RS

OEEEA

* They give people the opportunity to choose
their own leaders and to replace ~ : to
choose®} to replace:= the opportunityE 4
Aoh= B4 §H Y toF AT

* voters also help give directions to their gov-
ernment : "help+EAHIE, ~dh= AL &

* by voting for a candidate who promises to
improve local schools, : 'by+-ing, = ~&2
2N g oz F & UEYH, whoe a
candidateE AYALE k= 4 BAHHALO|T,

IAEL AFEEA 159 A=AE A9 7
I AR o] 7|7} glolxl AFFES dAE
ot 284 IRAES AR A=A E
ghohe Sash Yol o2 SHEAET}
3
B
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@ Solution

AFEAA A=AE AT 73 E
elections(AA)olth, 2ol AAH
vote, voter, candidate 52 To]2 o} They
+ Elections(AA)E &m|ehE & o= Ut

L Qe
a4 ol

=

A= E
@ WFFo 27t @ A=A @ A G FEA

Let’s Read
T3 WS o

1.® 2.©@

p.26

@20 27|

Have you ever heard / about the Magna Carta? // It

o222 S0 2 ol A=t opaLt FH2EH] tHaiA

is a document / signed by King John of England / in

az2 ZMolct F=9f John ol ol ME=01Z!

1215. // He didn’t want to, / but the English lords

121601 J= kK] LUCH a2 F=9 HFE2

forced him / to sign it. // It limited / the king’s

J5 22yt IR0 MESt=E JA2 MRt g2l

power. // Before then, / the King of England ruled

HHE I3 oo = &2 ZE A= X[HHRYC

everything, / and his people didn’t have / a lot of
J2|lm a9 RS2 JHXIX| Rk B2

options. / The Magna Carta gave / certain rights / to

MEdHES  OfaL 7l2EkE FUCH o H2ES

all free men / such as the right to a fair trial, / access

2= ARUSOHA SF e He 2

to the courts, / and more. / The U.S. Constitution, /

3 ojdef At 2 ol=2 iy

the Bill of Rights, / and the governing documents /

2| A J2|1 SX 2ME

of many countries / were influenced / by the Magna

B2 Las Fefs U oLt Z+2Efol

[E= g

2007.1.17 5:14 PM #°o]x]11 CMYKZH $

Carta.

2|3
eTEEN

* It is a document signed by King John of
England : signed= JAZAIZ ‘ABE 9 &
o™, ¢ WAl a documentE A%t
document®} signed Atololl= "4 HANTY
Ab+besAk which was7F A 2FE o] 9lct,
He didn’t want to, : to ¥+ sign ite] A=k
Hol 3tk toe & FAE HiAldke HF*A
Aboltt,
the English lords forced him to sign it. :
"force + &2 o) +to R G ~7F B ES TF8
stet
The Magna Carta gave certain rights to all
free men such as ~ : give= $HFALE 7H
52 0{7} all free men2 2 FARA} to FHell 9]
i
The U.S. Constitution, the Bill of Rights,
and the governing documents of many

countries were influence by the Magna
Carta. : 5H 222 PRl the Magna
Cartas 502 st th23 2t

— The Magna Carta influenced the U.S.
Constitution, the Bill of Rights and the gov-
erning documents of many countries.

)
uhaut Fh2 et gl Sof £ Ho 7?14
& 939 John ol oJ5) 12154e] A=l
Aol 1& AWEIIE AsHA gskort, 3

X

=6iA

o) GFEL AR NEHES 18 gagict
a5e o) AR AR, 2L ol He] IF %
o BE RS AP, FUSL Yo HUAS
AN A FR v shEes BE A4uS
A AT AVL, WY DL, 2 ol AW 7
o ALESL FUh wFo AW, A= AW, 1
91 Be Uetse] X BASL v} 7h2g
o oJ3 QgL Wereh.

i



D (Level 3)-2WFA  2007.1.17 5:15 PM  #o]X12 CMYKZY $

12

@ Solution
1. o] BE AL FA5k= Atz 231 R
A9 AguEdA d8E FAe e
%3l, a lot of options= B & u|g<
o 4= Qi
2. @14 vty 7t2E= 9] HEE Agsts
s bit=g

— It limited the king’s power.& &3l 1l-1
U lEERe gRe ARk BAGSS & 5

AT

A= El
2. © Zaste= @ A 5h=
@ N&sh= ® IFS F=

eHB A K05 pdte L 2w p.27
1.® 2. wife
@20 g7l

Why is the president’s wife called / the “First Lady”? //
o s Fel2 =2l=7t ‘HAEgo|C| 2tn
The word “first” / can mean / that something ranks /
“first’2lz Bol= Qo 4 Aot o o] flof Utk= A
before others / or is most important. // Since the
e AE Hol L= 1Y EQsitts As HsgE2
president is at the head / of the country, / his wife is
2Z0[7] o a Ltzte) 19| OfLfs
seen / as an important woman, too. // Earlier, / in
O{AZICH BB BQF ooz 2LHo|

some countries, / a woman of high rank / or the
O LiztSolM= =2 X912 oy
wife of an important official / was called a “First

Q8 289 o= ‘o2 MAEo[C]

AT oT

=
==

Lady of Honor.” / But the American president’s wife /
2t 2R 2Lt 0|2 jEYo| B0l

hasn’t always been called / the “First Lady.” // For
& 22Xl Ut HAEO[C|2ta

example, / Martha Washington / preferred / to be
g & Martha Washington2 ol Z0RiCt  “Lady

i~
iau
el
of
o
x

called “Lady Washington.” // In the 20th century, /
Washington”0|2tn £2]|7|2 20M(7 ol

people commonly called / the president’s wife / the
AEE2 ES SR S oS

“First Lady.”
‘HAEY0|C| 2t

OEEEA

* Since the president is at the head of the
country : 9714 9] since= ~o|U7t 2= g
o] ol o HEAfe|th sincew ~OlFE

© ARY o HEARE 2T
ex. It has been warm since noon.

(H2FE AL wxsit)

his wife is seen as an important woman,
too. : as= ~E2A Y o2 AH & UEy
< AAAfoIH,
*the American president’s wife hasn’t
always been called the “First Lady.” :
£ & Uehdls YR ssH FEFeR,
B EERE AL ofUY = ST
people commonly called the president’s
wife the ‘First Lady.” : "call + 520} . H& 7
Kol 9] 534 EXFOE the president’s wife
£ E3Zo, the “First Lady’+ E3Z Eojo]
o HEge Fde HAEF Y Al &7

o 2 sjAst,

W EIF 583 o2 ofAXY, YHo], of
A UgeolAde =2 AYY o4, E= T8
THEHYY offl= "FUAER HAEH oY 2L &
Atk 1y v di5g e FRlo] At HAE
dojg gt £ A= &t dE =°1, Martha
Washington< “Lady Washington™ °]2}al &4
715 © Fotgith 2041719 AFES HE U

o
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49| ohfg “WAEY ol ek B},

@ Solution
1. §IZk o o]o]x]= &% Martha Washington
°] “Lady Washington” o]zt E2|7|& © &
ofgitt= W& RIZE $EA v EH Y
Felo] 34} mAEdedz EYA It
W&o FAA dAlof sigstaz Ao A2
©]<Ql For example(dl& E°1)°] &%t
2. @A) “HAE Y = vl=oA tFgH e £
ot
— utzA|et £% people commonly called
the president’s wife the First Lady” & 53
HAEF ot gy FAS ¥ & &

2= 2 T
e,
W3
1. © 284 @ 1Eg
@ AEHoR ® vt

o e £ O p.28
1.@ 2. AA ogA dojdA] o} ¢A

o7l fZel  3.@

®E0 87

It’s hard to believe / what’s happened. // It’s even
2I17F o Fo F& 20| Lo{R=X e

harder / to watch the images / in the newspapers
ot 1 2852 MAE=E A2 M2

and on TV. // Terrorism is a violent act / by people /
TVOIM  HE= ZZXQl dS0|ct AgSoll oIt

[ e e i

who want to get attention / for their cause. //

g WIS Hots as9 s700f

Everyone is afraid of it / because no one knows /
ZE MNHE2 OAS FSICH QLictE Off= YX| RSt
when or where it will take place. / When a terrorist
X OCIM 20| LOLXIE Ot Ef2{2[AET
strikes, / it seems / that the whole world is upside

~&E 2olTt M MAVE A2 A

S48 o 2eA

down.

You probably remember / the terrorist attacks / of
Ofz{22 ofot 7|o4gh Aolct  H22|AEQ SAS

September 11, 2001. // There have also been attacks /
20014 9& 119 Lot 340] Ao 2Art

in other parts of the world, / in Spain in 2004 / and
MA T XI9SdME 2004 Aol

most recently in London. // Lots of people suffer /

a2 7k FI2ols HEA 2 AIZS0| Mstct

because of these attacks, / many more / than those

ol SZE W=zol o W2 ARS0l

who were injured or killed. / Even if you weren’t
CIR[AL 2 MEHSEO HIE 0f2{=20] o Xof

anywhere / near the attacks, / you still might be

UR| LEX|2HE 34 20 oHE2 ofTs| 24T

scared and upset.
sgAzE Aolct

CEEEE
« It's hard to believe what’s happened. : It
7}, to believe ©]317} A Foitt,

« It’s even harder to watch : even< H|1L
ZFz23te R A2 much, still, far, a lot® &
Yoz 2Y 4 ik
it seems that the whole world is upside
down. : Tit seems that ~,= ‘~*¥ Ho|t¥
= YR toFAARE °]&sto] that 2ol
vy & o Ql

— the whole world seems to be upside

down.

Even if you weren’t anywhere near the
attacks, you still might be scared and
upset. : "Tf+Fo]+5A] A (were), F
o] +would(should, could, might) +&AHd
.9 TR A FEoR, A AR Hid
£ 733t even ife 9714 HIE ~dA

= o] ‘obn’ o] ou]g pEhiict,

@26 A
m& go] Qolgtx] W7} oY Aol
TVOlH 1 5552 AARE 2 94 § o

o HEe 289 571 #ds TS Yshe

o
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AEE Qg ZHAQ PFolth, BE AFEES
°1X11 oty A IZAo] o dA] UA| L37] wfjEol
AL FHYEt. od HeYH2rEN 345
EH, A NAE E282 AXE Bl
o EL ofut: 2001 9€¥ 11¥9] HFZAE
9 3AL 719 Aolth. ®3 20044 /\Jﬂ°1
a3 7 HEdle= d1d 5 AAE o2 A
owE 7ol 3o gttt o] FA= EHTOH o

o Aol mASEY, THAL £ AFER
o o Be AlgEol wAI HE cjie] 1
A 24 240 X FSAE, ofPLe oA

AL SEAE Aot

ol

@®Solution

1. A oA dojgR] B2 Fx9 giifolzt
= Y&o=Z Hot it terrorism(H )< 71
] 0 0]— 2 0]]:].

2. no one knows when or where it will take
placeol AHEE0] HEE FAYs= °olR/7t
ket gle,

3. (@A) A AAL g2 AFRES H
3k ek,

— QA oftiA] PoldA] mEL €
AgEo] Tt ks Bl of
oltt.

G2 EH3
1L.OFY @159 57 @AAA ® 4™
3. @ ~oA FASH= @ ~2 FoEHsh=
® ~oll Balo] gl @ ~of Ash

Grammar Check P.29

1.1t 2. had

1. BE 7L A7 AL e Fasic
2.4 ol @A) globd WA g ALY a7t
3l

@ Solution
1. to¥ A B4 Fo2 29 1) FofQl ok
S B FIE Bm 24 go] 713l it
2 2o,

2. 78 A @A AHA L] B E 7HY
"f+5F01 +5AY BAF (were], Fol+
would (should, could, might) +%AFdE

L Rk e 2E p.30

1. v|g7]o A Ho Al Abg FE 1]
2.3 3.®

0] &7l
Can you imagine / candy falling / from the sky? //
OHE2 4de & A7t MEo| Eojxl= A= S==RH
Well, / that is / what children in Berlin, Germany
xt, az0| ~olct =Y HISE Q| 0t0|S0] HUAE A
saw / in 1948. // The people of Germany / were suf-
19480 =YL AHS2 st AU
fering / from destruction by World War I / and
2XF M7l el otalz
they were in need of supplies. / Berlin was divided /
J2|n OS2 42 €450 EQAT  HIEZ2 UM AUCH
into two parts, / the western half / controlled by
F REe=2 A gt
America, Britain, and France / and the eastern by
0=, ¥=, ZA9 SHE 2= Jz2|3 A" ofF &
the Soviet. // To control the city, / the Soviets creat-
ZAE SHoh| flal AB2 SMS USUC
ed a blockade / around Berlin. / No one could bring
HIEZ F2{ol  OfFE SAln dE dLES
food and supplies / into the city. / So American and
Nz It 1 EA otez aiM oj2a g2
British military started / sending airplanes / to drop
= AR HI#ZI1E 2U71E Feolg
packages / for the people in Berlin. / A few weeks
Zo{=2]7| 2lshA HIE2! AFESollA 23 20

later, / Lt. Gail Halverson began dropping / tiny
Gail Halverson A%/= Ho{E2|7| A|ZBHCE 2

o
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MY

bundles of candy / to crowds of children. / People [@F25HA

AtEF T2j0|2 oto|s 2alof7 Ase _
S o HEE oeppe shmold Aol ol AS AR
read the “candy bombs” story / in the newspapers / g - -
‘Mg ZEF olopIE itk NE A7k A, 2ol 54 HE ‘“"4 ofol 5]
and sent him / packages of candies. / Children 19484°f HSIH Aot 54U At=2 22 AlA
Ja2|n JofA 2Yc Al Rols ofo|E2 Ao 93t gz 1A P IELS S
looked forward / to receiving sweet treats. / They daZo] AP} HEYL ) gL ZEgA
ot 2Se 2 7188 WIE ase

o TAE e A% Nk "o o) FAIE
could taste freedom / through those candies.

XRE ok 4 YU 1 AEES =4 Lz u T HBROoZ UolA Tt EAE
SA) A, 2R AEY Folo] BHLE

ST Iope orEQith ofR: 7 T A| ¢to g 2Alu)l AE T
o SES AL 5 A2 294 vRT 37 2

* that is what children in Berlin, Germany L oW Zelo ATSoA FauS Yojmaly]
?317423 :948' e wf_jﬁ&f T qea wasle mus) A%En 2 F g,
JAMZ the thing which ajojm =~ . 2olL olol= 20 2

S 2 o2 SAB, Gail Halverson &%= oFol& F|ollA &2 A

) N Z FYu|E goj=g)7] AFPTH ARES AE
* they wer—e 11} need of supplies. : 'in need S 4] o] “AFEF ZE}" ojor| 2 ol oA AFEH
of, ~o Bz Y0 E Bt} olo)lEL I EE3 Z rms
Berlin was divided into two parts, : "be o EE o E'Z’ = E: 1_51—_ :;
divided into, ~2 throfAek g on  VIE HHME A5E 2 4TS S 42
2, into Flol troizl oo yer o, HE T UME Al
* To control the city, : Z=AIE SAI57] Y3l
A ke ouE, BA S UEd= to R A
AP g o= gt

* American and British military started

@ Solution

1. 19489 = HE™HY ofo]5o] & A2 H|F
710 A @R Aler Ity u) g}

2. W29 ofo| Sl A 7= AHFS Al &

sending airplanes to drop : sending=>
2919 oJof7]o]E=2 @ The Candy Bombs

started®] H& 2 23l FHA|LL, to drop

o ‘Hojma]y] A Bt onzg ‘BEA S from the SkyGHE2HE 2] Al Z&ho] Al &
UEHHE to QAL BAtd g oz 2t S 7H gYth
- People ~ sent him packages of candies. © 3 (Bl4) At Zgh2 v|g7]oA ofolE A &
send= 4% FALE him< 7HgEA 0], pack- 2hE AR e m s
ages of candies= A F & o) 2 2 At} — HY7]oA HojF7] e FE ol
« Children looked forward to receiving FAS AR Aol

sweet treats. : "look forward to, &= ~& 1L
tistct 2= omojtt, 74 to= HA AR )
Holl $PAE 2t mpAE ~ef ofgat 2 OMISH HE U= HRY)

CEA=: E

oF 2= 9me Tbe used toy o 29 tox A @ AHE= 2] vl

AXE Fo] PAE 2 treats BAR & @r=omrH IF 2 7%

olW ‘th2r} HFE} | WAR oW B ® 22} A A #1948 9] HIED
g 2 7| o ojuE 7}t 3.0 @ FE @AEEES © HAL

Ag 2y 15

o
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Grammar Check .3
1. what 2. what
3. visiting 4. working
@ Z 5l A

@ Solution
1~2. BANYA what APALE EgsH=
2~ A olgta sjAste EgoA Fo,
HHo] Hojg ARgHtt, APArE ZFHE o]
penz H3PAZE @ 2] oh5of o3ttt
3. Mook forward to(~& L3t} 2] to= A
At el f-2gttt, whakA] FE AL 2fok gt
4. "be used to(~°ll ¢&3tth 9 to= AR
EBA7} efof gt

Grammar Focus
Example

1. cook

p.32

2.cry 3. wait
@ EZ6H A
1. = 329 A5NA A9 HAE 85
At
2. Y= Charlie7} 1.9] WoflA = & S0
3. Ue 714 2 F3p$-E 7Iezl= Aol Wk

@ Solution
1. AF95At make2] 534 Ho|2 G}
2t

2. AZ-EA hear?] 5214 Hol2 AFFAHATL

-
o
ox
r
HEL
ol
—
nx

CMYK=H $

2,
‘~sl= "ol Wr¥ gk 9u]e] #§ 4 Thad
better, ol YFEAAT} o}

Let’s Try p.33

1.0 2.0

1

@20 27|
For many years, / people have believed / there is a
o3 of Set AEE2 Eol 2ttt F{Ctet 20|
large monster / living in the waters of Ness, a lake in
ALt ARSHE S400 HA0 H1 U=
Scotland. // Some people say / they have seen /

ot AfZlS= Zetct aS0| Bttt

something move / in the water / like a giant snake. //
FAV BEH0lE A2 =SB0 et #HxEH
Some have taken photographs / showing a shape /
oI AFHS2 ARZIE WRACH o 2L B F=

in the water.
=S50M

MY

CELTIY
* there is a large monster living in the waters
of Ness, a lake in Scotland. : living= @4
EAFR 9] YA monsterE 418} Ness

¢} a lake in Scotland+ 50|t}

CLELE
ofe] o) Fot, ARES ATEAEO] 549 ]
2o A3 gl Acket YZo] Grka Wol gk,
ofE AFEL F7t BolA A BAY &
W AgEL 2

Aol slE ugda Ui, of
SolA] o =

@ Solution
AN} see] BHZ Holz AFR

St

HAY &

o
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2 5 E2 e, & A97] 223 2ot Y
@z 27| = Ao AR B oS A 5171 9
Local governments build / subway and bus systems / 3l k5ol P ES} ofoful S Fu|sHES .

X H2= M2ct X|otea HA HAS

for people / to get around in cities. // By car, bus / or @ Solution

AREE0] SAo] 0i7x7IE Tt=2 7| ol A=, HAz  (A) @ AFSEAL helpe YFREAHAS} toR A B
subway, / the government helps you / get to the = E2X A HolZ F3)

%2 Foits Pos dugg soad (B) : A5 make P YA BHZ wol
store, to work, or to school. // After a big storm, / 2 23}

I, ¥ E= st 7tEE FCit 22 S0l =

your local government is responsible / for cleaning
X YRIb MATIT =2 Faske XS
up the roads, / removing snow / and repairing / so

AeE e adlshe 22

Hr
mjo

that the people in your community / can drive safe-

Atg] A0 oPHsHA 2TY + UA=E

ly. // It also makes / cars have seat belts and air bags /
a2 ot HECH XS0] HEEL} of0jH#S FH|SHES

to keep you safe.

o 2S 2ATstA t7| sl

R

=

HI

* Local governments build subway and bus
systems for people to get around : 'for+
24,2 to T AR ul o] Fojo|tt,

e your local government is also responsible
for cleaning up the roads, removing snow
and repairing : "be responsible for,= “~°l
s o] Aot 2h= u=, AAA} ford] =
Hol2 FHAF cleaning, removing, repair-
inge] gttt

* so that the people in your community can
drive safely. : "so that+3=°]+can(may]...,

~7b R JEE olgte Yu|E HE

o g ol

A ARE AFE] BA] 4714718 FES 5
7l el AskAT WA AAE Al 7w
o XAz, ARi ojziRo] A, ¥ B
shao] 71ES molEth Atk ZF Fole,
o R} ALS) ARrEe] s e 4 Y

o
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Pinfer

Reading Skill

Example p-38
A WA &Ju| : Harry &) = 24l 2do|t},
= WA o] : Harry 9] 217} 71 =A ek,
@ Solution
latestl "Hael, HAI) e ojuigh b %
o upAurel ehe ou)z Malt
cf. last © 2 5-¢], wpx|2}o]
Let’s Try P39
)
zol 27|

One afternoon / at Walt Disney World, / where I
oL & 2% EE f=UEE0N

ot= =

7t U5
worked, / I was approached / by a group / of senior
LA Ch7bsetct et f2lof olsf of=AE
citizens / who wanted to know / what might be / of
Y1 Hojst= ool 2x|
particular interest / to them. // I thought / a
Sds5| #Hol U= asolA L= 2ot
moment, / and then / I said, / “You might enjoy /

Al J2|m UM Lhs 2R @S2 E7IHK] REUER

American Journeys, / a film shown / inside a 360-
American JourneysE  E0X|= st 360= 3 2tofl A
degree theater.” / With a look / of surprise, / one of

HHoR E9

the women / replied, / “Oh, no. / I don’t think so. //

e =0 CHEFICE o oflR. I3 A X ot

2ol 39

That would be / much too warm.”

ax2 ~g A 22 LHE #2o| g2

ox
o
ye
ol
=
ot

CMYK=H $

OEEEAN

*at Walt Disney World, where 1 worked,
where2 TARALR and there®]2h= 21| °]
o}, AP A= Walt Disney World©|t,

* [ was approached by a group of senior cit-
izens : 'be approached by &= +5EH 2 ~7}
o7tett g Auz a4

el & ofuldi
*who wanted to know what might be of

3ttt senior citi-
zen—<

particular interest to them : know$| 52]¢]
2 9JZAF whato] Fo]= 2%t

* You might enjoy American Journeys, a film
shown inside a 360-degree theater. :
American Journeys® a filmo| &4 |t}
shown2 9] AL a filmE F4l5hs AR
Abot.

* With a look of surprise :
2t= ofujojt,

* That would be much too warm. : ThatZ
360 SHA Gt He A& ofujddtt 7t
A ouj= TI3to] Jled YR gol tE |
. o] Solt.

EThE YR

>
il
19

2l American JourneySE E714A =2
B4 & Felo] it “of, olya I

LA gpoba. UE wol e A gRa

@®!Solution
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Let’s Read

LI2FLNE Grjmrm i p.40
1.@ 2. Aotz A 9] A9
@20 g1
The fable / “The Wolf and the Man” / was written /
=&t Sher 1zt PGS,
by Wilhelm and Jacob Grimm. // These famous
Wilhelmt Jacob Grimmof 2Jsf 0| RS Y=

brothers / wrote / hundreds of fables. / Millions of
Aot = Ho| 312 a2 go
children / around the world / know their stories. //
0to|£0] H MAL 59| ojob7|E 2t
Actually, / the stories / in the fables / were neither
At 0lor7|E2 Szt M0{Z A0| oty Tt
written / for children / nor created / by the Grimm
Ot0|S2 #lafl  F=&tE Ax ofLict
brothers.
Grimm A0 25
The Grimm brothers / were both linguists. / They
Grimm ¥HE2 = Cf AOISRIRACE as2
wanted to learn / about the history / of the German
iR HOIRAC ALl cHa A 09|
language, / so they collected / old stories. // The sto-
M 252 +EIACH AL 0[0F7IE OloprIE2
ries used to / be told / orally. // They collected /
~ata 3ot Hafixict  FHez OS2 WA
many of their stories / by talking to people / in their
ofor7|9] =2 EES AMESOIA S AAHM  OS9

hometown / of Kassel, / Germany.
InCi{vN Kassel0|2t= S0 U=

MY

CEETRS

* neither written for children nor created by
the Grimm brothers : 'neither A nor B+
‘AL oYl B opd’ o= 5ol

« The stories used to be told orally. : "used
to+EAMEE & ~akE ok 2 Y|z
A9 AHiy 582 YEdTh be told orally«
TR AT 2 oot

CMYK=H $

* by talking to people : 'by +-ing ;= ‘~&2
EX e Rom - W S UERdT

@ ZsH
53} “5det 72 Wilhelm ™ Jacob Grimm
off &Jsf 2oFt}, o] - FAl= = HY F
3= Aok A AA Y T o ofolEo] 5
9] olop7|& &L Qit}. AM, o] T3] oJopr|E
2 ool 5L 93 £ AXE olYI Grimm &
Aol &3l 2rd A= oy et
Grimm A= & o dogAH. 152 &
o] ate] tha w3 Aol LA A
olop7| & Rt I oJopr|EL FHLE
AL Pk, 15L =A9] T3 Kassel A2 A
AFFEOA T AlAA 259 olopr] 9] B F

s

1

Ho

qr

&t gl

@®iSolution

1. @ : The Wolf and the Man< SQ oA AR
59 Yo B A HHeE oloprE 22

2 ZE 5 sholt,
2.Q : F9lo] Grimm BAE &3 7R wE

Aa?

Grimm FA = AATARA FYole] o
A €] Y8l A olopr|E B o= T oA
7 H3oh bEtA Grimm3AI7E 5
3t 2717 © olfE 259 Aotz A 9] 7

AuiEoleha e 4 At

WEH I

1. @ : the stories ~ neither written for chil-
drenollA ojdo|E I8l 2097 ZFo] of
4 ¢ 5 Utk
nor created by the Grimm brothers®ll
A Grimm FAI7F 2R Zlo] opd S &
T Utk

@, ®: SLolM U2 2e L] F3to|t

®:

o
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Bk e E ant P41

1. words attributed to Abraham Lincoln

2.0

@20 7]

Lady Margaret Thatcher’s speech writer, / Sir Ronald
Margaret Thatcher 29| A4 Ztytol Ronald Millar 42
Millar, / remembers his first meeting / with her:

9| A grEE 7|dstot Ju4ete
“We both / began / with deep-seated prejudices. //
el o AZBHOIQ H2| e Hye=
Mine / because I had worked / for former Prime
Lto| A2 W7t g A7 MIE0IRNHE T S 26l
Minister / Ted Heath / and she, / because she felt /
Ted Heath 2|2 JU= JH7F 27| R0
‘This is Ted’s writer, / he can’t be a writer / for me.” //
0] AFH2 Ted2| M Z7ICH J= 2717 & 4 ¢l LIE ¢ist
She sat, / as she always did, / with one hand / over
JEE UL a7t &4 J2{6t%0| o &2 aue|
her eyes, / and said / “Go on, / I'm listening” /
= 2ol & M2 J22(0 YL ALStHe =1 A0
while I read the speech / aloud.”
7t AMES e S A
Sir Ronald / had used words / attributed to Abraham
Ronald 42 &+E 0|8%iCt Abraham Lincoln0i||
Lincoln / to conclude, / and when he had finished
2o Z2USS 5t7| il a2(m a7t ¢e AS o2 o
reading, / Lady Thatcher / silently reached / into her
Thatcher 2#2 X&s| =H3iCt kel
handbag / and took out / the very quote / from her
= o Je|x AW b2 1 278 el

wallet. / So / the alliance was sealed.
XA J2iA SHo| o|RofHict

®TEEA
* Mine because I had worked ~ : Mine<= My
prejudice is ~5 &< Zo|t}.
« she, because she felt ‘This is ~ : she= she
began with deep-seated prejudices ~5 &¢I
Zojct,
* Sir Ronald had used words attributed to

Abraham Lincoln to conclude : attributed

2, which were7} =FEHL & 4= Ut} to

conclude= B 317] Sl 2 u|=
4 & Ustl= FAM &89 toFg At

* When he had finished reading, : finish<
THAE FZo2 Fst= FAE, stop,
enjoy, mind, give up, postpone &%= &EA}
g 54017t € 4 QU

@ E5HA
Margaret Thatcher 2J¥¢] A 27141 Ronald
Millar 73-Z 21 ¢ke] A T2 o2 A 7] 9&th,
o B o ¥ e HAcz Ao ¢ A
/3% Ted HeathS 913l €& 7] dZolHd
3, dYE ‘o] AR Tedo] A4 A7t e
77 2 = QAL S =717 gZelglE. 1
He 3 2gshRe] & &5 299 & Yol £
A grobA, W7t AEES
A, E3 gloja. "2k TRlola”
Ronald 73

2 1 275 AW 234 S0l o] Fo R H.

@ Solution
1.Q : (A) the very quoteZ} ©] ZolA £
7H7Iva?
Thatcher ¢J¥°] AW £+= Ronald”} Bt
Aup BEE 5tz 98 o] &3 T
Abraham Lincoln® T3} 22 Zo|t} the
very quote?] the very+ ‘HF2 1 2H= ojn]
2 Al quoteE 7FE3ITt
2. WY =4o] A = T2 Ronald Millar
743 Margaret Thatcher 2]€°] Lincoln®
2L 2AE A&} mN Gt A4 AR
A & AT AZEH A= A2 du)eieh

@ e

2. seale B FE B Ao = 45 = Algol
Zed Ao e ¢t gk =4 A

20

ox

rd

R

)

= ol U2 BAF wordsE 418HE THAEAL

ol
—
nx

o

=
o Flo] o] Foi1g Wae oItk
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1tz 4B choicdu ke B p.42

1.@ 2.6

3. construction companies, countries in war

@®20] 27|
Nobel’s father / designed a weapon / which could
Nobel®| OIHZ|E  R7I5 dAIHC HHE mtals 4
destroy ships. / He sold / these weapons / to Russia /
Jd= =L o] RIS 2{A[oto]
and other countries. / The Nobel family / became
a2\ ohE Ligtof Nobel o2 5t

rich. / As an adult, / Nobel worked / with another
CAct  golol =2 uf Nobel2 ¢IF3CH CHE fI&st SE QI

ol
M

dangerous material: / nitroglycerine. // Alfred
LEZZ2M2  Alfred Nobel?

Nobel’s work / caused some explosions. / One

° -
A2 TR ZYS Lozt ot ol

explosion / killed his brother, Emil, / and several
=de & Emil2 = J2|ln #H
other people. // Finally, / in 1866, / Nobel found a
CHE MEE2 Edof 186601  Nobel2 &S
way / to make “nitro” / safer and easier / to use. //
LA LIERS REE o etdstn g7 At&stolof
This new invention / was called / dynamite. //
o M22 ¢EEF2 =0t cro|Hoto|Eata
Construction companies / use it / to remove large
e FAE2 EAL= PN = 2 HRE
rocks / from the ground, / but it was also used / by
HAHstz| 2lsh EolAM StX|2H FESH AFZEIRACt
countries / in war.

Lt2tofl A Y s

MY

CEETPE
* Nobel’s father designed a weapon which
: which® A4} a

weapon & A8 4 TA P Are|t}
* As an adult, : As he was an adult®] v =2,

7|4 ase W & UERdTE

* Nobel found a way to make “nitro” safer
and easier to use : to make= Foll U2 A}
a ways $245t= F-8AH &1 9 toF A ALo]
T} make? E&olE ‘“nitro”©]il safer and

could destroy ships.

2007.1.17 5:15 PM #°o]®]21 CMYKZH $

easier to use= 527 Hojolt},

* Construction companies use it to remove
large rocks : to removex A|A37] Y3l 2
L ouz 2 & dehhs 2 989 to
R Apolch,

O E5HA
Nobel 9] ot A= vl E AT 4= Jle F7E A
Ak, 1= o] F71E #Alotet o E Yt &
%ttt Nobel Fer HA7F =3t Alo] =9l
= o, Nobel> & & 9g3 4% UEES
A TS ATt Alfred Nobeld] 2HS 2
ZoF AE Yoot g W U 9l Emil
I 29 o2 AFFEo| St =09 186640
Nobel > UEZE ¢ ¢tdsta 44 AHgshe W
He YA = o] 2L dHES thol
Yulo|Egtn EFct AA IAES FoA 2
A E AAS7] Yall A AFESHAR, EgH
AR FA et A= AHEE ST

@®Solution
1. o2 42 Efo] HERE ¢ HASHA A}
&5t s YAt W8 22, Finally2
Kol wirgo] Aufjgt ojopr| e} 2L UHE
(This new invention)ell Wgt A A]dl @
of E0j7h=Alo] dyth
2. @A) tholyntolE= W2 AHS A5t
g = A
— foHulo| EE UYdt= T35

2t A4 2 Yt A x AREE AT
— "not only A but also B, : A®4t oY}t B

T A
W3
2. © 3o @ 7t glol
® ti7} 9ol it

o
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Grammar Check p.43

1. to eat

3. I have a book which is very interesting.

4.1 have found a book whose cover is
red.(!t= I have found a book of which
the cover is red.)

2. to solve

@ Solution
1. something= T4 FE&AH &7 9 toFA
A7b Gt
2. ways AT FEAH &Y toRBAT &
Ela=g
3.a bookd} Ito] ZoeEg [t TAHHA
which2 v & &= Slth,
4. which® 287 IANHA whoseE Al
YEIW ™ whose tholl= BEEA] HAP} gfof
gt

Vi T I RacH

I
1. a3} 0|2 A%

@20 217l

Some architects / design a building / by thinking /
o AZIE2 aEs et dzigtoz iy
about what they want / the building to look like. //
a=0| ¥st= Aol Chsh =0 o{E7A 20[7|5
However, / Wright invented the philosophy / of
Stx|et Wright= #2l8 2tS0f Wct
“organic architecture.” / This means / that a build-

‘[IIM AF0l2k= 0|A"2 2ojptct =9 dA=

ing’s design / should come / from its natural sur-
Ltetof Stct A BtHo = HE

ox
o
ye
ol
=
ot

2007.1.17 5:15 PM #°o]X]22 CMYKZH $

roundings. / Wright rejected / using standard ideas /
Wright= 7823t 1Y #gS 01&5l= As

of design / and believed / that each building / needs

Aol chsif 2|2 At 2fztol A2

to be designed / individually. / The design / should

HAlE Eort Attt JiExez I dAle

fit / the purpose / of the building. / This is the idea /

grofo Btk 2xa Ao ojzi0] Azto|ct

called / “form follows function.”

Lol Xl= dbEf= 71Sof WEC

Wright also used / natural building materials. / He
Wright= L8 AFE3HCH MA 245 MEES

once said, / “Buildings, / too, / are children / of
ot H2 2ict  As Al Ar=olct

Earth and Sun.” / He chose materials / with natural
K|t EfLE| d= MEE MEfsic Ateae| Mz

colors / and textures / to make / his buildings /

71 Jeju 2Eg US| s 29 HES

match their surroundings.
O SEn oEe=E

GTEEM

* what they want the building to look like :
they+ architectsE 7F It look liked] =
Aol whate &2 ZE°] o2 Hol7|& ¢
Al 2he ol
each building needs to be designed indi-
vidually : each® 44%& = buildingS &
FPOZ 23 FAE G needsE &
to make his buildings match their sur-
roundings : to makex WE7| $3te B
oJuiz = & yetdle FAH 899 toF
AAboltt, makew AFHFEANE HA 0] his
buildings th=°ll ¥&FHA match7}h &t

2
)
i)
Ao
N
i
Mo
=
il
2
2
o,
X
o
L
N
i
k3
O
rr

o
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- WFH

¥} gropof gt o
Ay zoltt,

Wright= £3 d4 15 A2 & AR g
< AEE JA AT BFe] AbEolnh." 2L
At 2e 19 AE5S BEY oEY=EE s
st A Aap 225 7H A2 E YA

=

@®iSolution

1. organic architecture®] 93 A2 HIZ o}
ol A= A} &, A EA A A2
AAZE 2ol Fleug AR 235 9

A & Ynigi

2. ] lol AZo] et W&olxl, Wright7t A&

AAIS= 57kt S A Hizt|

= Buildings(A&)7} Eo17h= Zo] &t

3. (B1A) Wright7t &% AAT o, 271 119
g A AR AL AE9] 750l
— form(F=)°| function(’]5)S TEct1
oo g function(V]5)E 7HE WA 1P

= Aot

1__

o
=
A

U= E
AT @AA @& G HA A=
3.0 FH @ AE @HE ® ol

Grammar Check P45

1.help 2.tobe 3.do

M

MO
ol

CRalo B

1. U7t 9 =e1E A
2. TYE ol Bo] §H Aol 9712

3. 4= W T4l A€ sHA ot

AU

@ Solution
1. NetAFEZAD) + B & o] + 2
2. Twant+22& o] +toFA A}
3. ThaveAFIEAD + 22 o] + Y&

AYRAAL

FAAH

2007.1.17 5:15 PM #o]®]23 CMYKZH $

ArO[2F OFNIE; a8
Grammar Focus
Example P.46
L 314 : o] 714 AM83He AL BHsih
7ho] Lt

Z139] : to use this machine

2. 84 £2l= &5 AARS wEE Ao] 7Hestth
IR =g
7HE2o] it

A& A o] : to make a space station

Let’s Try p.47

1.@ 2.@

@20 871
If you have ever seen / a man wearing a dress, / you
0{21=0| = Ho| lctH HAZE EYAE Y1 U= AS

might have thought / it looked very unusual, / but
H2MEX| 2 20| ofe Eolsh Eelct  stx|zt

do you think / it is odd / for a woman / to wear
Hztst=7t olgstcta  OXpIt HiXIS

pants? // In other cultures, / men are allowed / to
U= Aol O E FsolMe HXE0| S8 ELCt

wear “dresses.”
EPAE gEE

®REEN

*you might have thought it looked very

unusual : "might have p.p..& ~°|SA

% ek & ooz 3A AR et okt
2 2 e,
it is odd for a woman to wear pants : it
7FF9], for a woman< 2ujAre] Fo] to
wear pantse XFoo|t},

*men are allowed to wear “dresses.” : AFg
=°] A4S0 EHAE UEE FEJTE= 9
jo|BE2 =FEHE AT

L

o
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O HEHA
of gl fo] YA7t EYAE AT Y AL & Hol
ok, oS Sols) Heltky AZEA] BEX

T, Az BRI E Y= Ao] oldstthal A7t
71?7 o2 B3l s dRIE9] ‘EYIATE A=
= sgH}

@®!Solution
@ : Tit ~ for ... toFZAL FRELZ Fo] 2|9
= 715019l it A of gttt

2
@E0 7]

Technology, / materials, / devices / and fabrics / that
= WS = a2|n PxRE
were first developed / for use / in space / are now
ME e AME3t7| St 2F0lM  OfF|

part of our everyday lives. / These items / are called /

Sa| Uy Mao] Yol of E2E2 ~atm 2alofalct

“spin-offs.” // For example, / one spin-off of space

Rz g = 2F Jlge B | RME2

technology / has made it / quicker / to buy things /

PrEAUCH o W2H 2 A= XS

at stores. / The bar codes / that are used on today’s

7HA 0l M HZEE esd 2T MESo MEEE

packages / came / from the NASA space program. //
LIRICH  NASAQ| F Z2IHM0|M

In the past, / each price / had to be typed / into the

pAof EfO|Z &M X{0F SHCH

cash register. / Think about all the stores / in the

=8 SE7|0] BE JME 48t 2otz Mol

world / and all the people / who wait in line / every
T 2= MNESS EMAM 7iCk2l= O AlIZH

247to| tze

ol
M

hour / of every day, / and you can see / how much
o a3 g 4 U oLt §@2

time / that simple technology / has saved.

AltE 1 Hadt 710 Hofet Aelx|

CEEERS

* The bar codes that are used on today’s
packages : that2 52 IAHEALR APAH
the bar codes& 43t}

ox
o
ye
ol
=
ot

* Think about all the stores in the world
and all the people who wait in line every
hour of every day, and you can see ~ : '3
g t+and ~ FELE ~ohet, a2d
Zoltt gz omo]t},

FoA AMEE BEFoRE AS NEH &, A
, AR, FREL oA 9 g Y] YRR
Atk old EEES “HAMEEAL gt} 49
o, 5 719 & 7HA FAE2 7HAOlA
AHe RS o wEA 3 =t 59 2%
of AHEE= HIEELE NASAS ¢ =21
|4 U2 Roltt, Ao Z+z+e] 742 4
SE7|o BolZAA ok Jt, Aol e BE
7HACE sl wjAIZE EAA ZITHEE BRE AMEE
S Q73| Boteh, a#W 11 whedt 7|&o] dut

U B2 AR Eofdt AUA & 5 S Aot

o ox mn i
o

2

@ Solution

(A) : made Toll U it 7HEH 2 A
ol quicker®t X=2 ] to buy things7}
Z a5},

. 27+ 7} (each price)o] AFEEC] 23|
Bl ZA A= Aol Bg FE &2 Hof gt

(B)

o
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Reading Skill

Example

nickname

p.52

@20 27|
Everybody knows / that Pele is / the greatest soccer
ZE AE2 et Pele= ~0ICt <A 71Y E8F
player ever. / But many people don’t know / that
=7 dg SHA|ZH B2 AfE0| 22
his real name is Edison. // Pele is his nickname. // As
9| ZIm 0]F0] Edison0|2t= XS Peles 12 £H0IC}
a child, / he thought / ‘Pele’ sounded like / baby
ozl AIEol 1= MR Pele’= ~AY ST
talk. // In fact, / he hated / his nickname / so much /
ofZIoto] ¥ A I= Hofc 29 S HELE
that he punched / the classmate / who thought up
d= FHez m2|7|= 3t 8t ofo|S O EEE Azt

the nickname.

o

OTEEN
* he hated his nickname so much that he
punched the classmate who thought up the
nickname. : "so ~ that ..., Y&F ~3|A] -
g o] oujoltt, whoe F4 HAWFAR A
YA} the classmateS 2]},

E2 Pele7} AN 7H E53 &+ A
S ot} AU Wo AlFEo] 19 A
Edison®|2t= A2 2T Pele:= 1

=

@®iSolution
CREETE

2007.1.17 5:15 PM #o]X]25 CMYKZH $

ZF A4 Peled] O

Let’s Try .53
®
®2of 27|

Stars / sometimes / get into trouble / and the fans
AESE MU= ZZ0l| HHHEICt Jeju HE2
get surprised / to know their real lives. // Teen
=t JS9 A dEs ¥u Yad
actress Emma Watson / recently / became more pop-
OfEi2l Emma Watson2 2|20 o FEsiict

ular / in the wrong way. / Watson is the heroine /

2RE grez Watson2 O{FQ130|Ct

in the “Harry Potter” film series. / She plays a char-
‘SHal=E" Fst Alz|=olM = gge ettt
acter / named Hermione Granger. / Watson

Hermione Grangerzta =2/&= Watson2 #2

~

many fans / around the world. / Watson’s image
HWS0| ATt MANe= Watson2| 0[0|Xl=
was hurt / when several photos / were released / to
HYME YUCH F Fo| ALTI0f ~F uf SH=[RAC
the public. / The photos show / the 15-year-old
cHEoil Al I MZIER2 2o &0 15M| Ot 7}
actress / drinking beer / with friends / at a party. //
MEE D= A2 ST e TEM
Her cheeks / are red / because of drinking. / Many
a9 2 gzt 23 o2 B2
people / began criticizing Watson. // In Britain, /
AMZE2 Watson2 HIEsE7| AIZRHCH =0l M

o2
one needs / to be at least 18 years old / to drink
A2~ 2ot o Z|ASH18M7F =lct

alcohol.
=2 OtA[7] 2Iak
CEECER

« the fans get surprised : 'get surprised; =
ot

*She plays a character named Hermione
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Granger. : named<= a characterE +4l3l= actress’ beautiful shape, / but they often forget /
FABAGZ ¢to] T2ZA BAWEA +beSA} OFSCH2 Sojofl Chal StA|2t 252 55 A=t

. . how beautiful / her face is. / According to / profes-
7} A 9
wholwhich] is7} E%H‘ﬂ ek, | e
lsieveral photos Weie released to the public - sional photographers, / she has a very beautiful face /
begAt+p.p.of EH FEole M2 D WIS dUs 09 0802 Y28 KD Ul
* Her cheeks are red because of drinking. : as well as / a sexy body. // A weekly movie magazine /
"because of + (&) FAL, ~TZ] ~E0F OfLIZ MAJE 2 o 2t gt WA=
* Many people began criticizing Watson. conducted a survey / to find the actress / with the
begine EZol2 FPA 9 toR A} BE ANE AN OltiLE 27| 2sh
t beautiful face. / Among 130 actresses, / Kim
753814, began to criticize= HHE . fmos
Festel, beg Fe s b obecte 222 A1 13029l ol Fo
R B Hye-soo was voted / the most beautiful. / The pho-
f\ﬂ—‘: o Wz mAc) wAYt e Ysll7t B3t 7V otEChe HiRE
== N W= tographers said / they chose her / because of / her
o A BEE €3 s 29 AWM paise gan 252 2us Memc ~ne

J Emma Watson=> o] Z5xE W4oz ¢
frsizich Watson “Sf2| ZE” G35} AJg] =]
FlFoltt. 1+ Hermione Granger J&
gtk Watson AlA|IFe= @2 #Eo] QL
atson—] oju|X|= Z Ao Apzlo] EH?"ﬂﬂ]
57 HEl < W AAHE GA =HAA I AR
/\ﬂ oulj &7} el AFET FA WS UP*]
= AL Bo Eof 2499 e 33 wjFof wg
o} W2 ARFES WatsonS H|H317] AR
POl &S vhA = o XA 184171 H
ojof gttt

2

-VL o

[® Solution
obe] AEbEolA AEe] AZA Rate o)
& AA 4Bl YL SE Yk o] o] B F
Aot

Let’s Read
TEgewd 1k oe2chg squng f 537

1.®

p.54

2. (professional) photographers

ELSOII I

Fans of Kim Hye-soo / always talk / about the
dallee MS2 Y oloprlettt I ofHiRQl

o
iau
=)
ol
=
ot

= =2 M

natural look / when posing for photos.
a9l XtAARR B AR EZXE FE

MY

OTEEN

* how beautiful her face is : "how + &AM
AH +30] + AL FA4 9 dekolt,

* she has a very beautiful face as well as a

A as well as B, B¥gH o}2}k A
% (= 'not only B but also A )

* to find the actress with the most beautiful
face. ! to find= H& & Uell= FAH &

¥ to¥ ALl

sexy body. :

[
3
MO
o
=

[t
Mo
o°“
o

3 cluj9-9) opghe Bl
%% 119 dBo] An}
u}. A AR 27HEe] o
uj uk ofujet ule obE
o st # 2 9 %
22 7H ojuj e 2] §)
AARTE 13089 oS Fof A3l
Eohe W2 BH A ATHES
& 2 o) 29| s e By e
o geha W

r’l

N,
ol
N
= o

)
of
o
[e]
-
N
ol
==

(e =

(o]
o
ot
iv)
Mo
B
i

= NO N,
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@ Solution
1. & 93t ZAA7F ARATVEE o2 7P of
S A& B 2AE AXR, A
7F 130789 Al F 1912 3ot We9
20|tk wEhA, o] 29 FA= ® the most
beautiful actress in Korea(gt=ollAl 713 of
ShE ofu )t & 4= ot
2.Q : #7t HeleE 7P ol gtk oufe= A
Ata?
— kX9t £% The photographers said
they chose her< 38l AHY 27450] A3
+= ¢ 5
eI
1. © ol A 7P Ff-3k ofuf -
@ 71 83t ARzl &7t

® Bl Y EFE ol
@ 7V B Bel 23 WA

'I.'JEJE;‘:p;;'E p.55
1.®  2.In1967
@®20] 27|

The Super Bowl / is the championship game / of the
FHE2 Mot ZsHolct

National Football League / in the United States. //
NFL2| o|=29

The game and / all of its events / are part / of “Super
a Eo1ef 2E dME2 gRoltt w#OE
Bowl Sunday.” // It’s like / an unofficial national hol-
AMdolel a2 ~of 2o HISAAe =4

iday. // Most Americans / watch the Super Bowl / on

fego 2SS  AmES 2ot

TV. // And lots of companies / are eager to / air com-
TVE 2|1 Y2 3RS0 ~ote{d 0 ettt

mercials / during the game. // So / millions of dollars /
g &5t 3371 80 JM et geiot
are spent / on this day. / Many popular bands / and

xEECH ol Hof §e R MosT

2007.1.17 5:15 PM #o]®]27 CMYKZH $

singers / have performed / during the game’s half-

S0l SHE off Act d719| StmEtY WAL St

time events. / The Super Bowl trophy / is named
#HE EZOlE ~g A

after / Vince Lombardi, / a former head coach / of
0|£0] X|{FCt Vince Lombardi M Z=

the Green Bay Packers. / The first Super Bowl / was

Green Bay Packers El9 H1E fsHE2

played / in 1967.
d717t gk 1967H o

GREEAM

* lots of companies are eager to air commer-
cials : "be eager toy ~3171& €43ttt

* Many popular bands and singers have per-
formed during the game’s halftime events. :
have performed+= A& 9 9u|E Uel+=
A= 2ol

* The Super Bowl trophy is named after
Vince Lombardi : "name A after B, BE
A A9 olF& At

* Vince Lombardi, a former head coach : &
A fFZeg A A=<l Vince Lombardi’ 2k

a4 g

CRECE
FHE2 U= NFL Fud

4z
o
_—Q oM,

[}
719 BE PSS ‘FHE Aol
o] F2 upx] v|FA A FH LI Zr} fRE
SAAEL 7 A7 Zo] FnE YR o
@3ttt a4 o] Y Zwul gyt x&E)

B2 FrEe e} 7iEo] e PAF Bt
Td= o ot 73 E EZ3= Green Bay
Packers ©¢] A 7r=<] Vince Lombardi® ©]&
< A Aok A3 FHES 196790 4
717} @iTh

@ Solution
1. (B14) o ES v Q7] ik, A &
o) mRelSo] i Hojaln, Be
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i?
2171 Yok il(popular) EE = Tt
2. Q : Super BowlZ QA AIZHE Q7
— upx]et £l A13] Super Bowle] 1967
do ok A=t

CER= s =]
1. ® o8 @ v @ AFT O wE

Bk T gL ary .52
1.© 2. 4450 A9 AR Bt B
A, WG 25 AsSolA Aol a1
gzl 3.@

2ol ¢i7|

Batters / must wear helmets / in baseball. // But /
EtRE2 2UE & Mof sttt OFFL0fl A PNl
how did this practice / come about?

O ol 2ol AZt = AS 7

In Major League Baseball (MLB), / wearing helmets /
HIOIX 2|21 k=0l Af gl 2E2

was not a must / until 1971. // Before that year, /
o|mL= ofLQict 19714 74X|  HMsfol

however, / several batters / got major injuries / in
otx|et 2ZF EHXS0] Z Fds YUt

the head. // So / people began to talk / about the
2ol T M AHS2 0[0F7[5H7| AIRRICH

use of batting helmets. / Charlie Muse, / who died
EfXIE &oio] AbZof sl Charlie Musee 20050

in 2005, / created / baseball’s batting helmet. //
ArSHCE OFEQIC O EMXIR oS

=AM

Muse, / though, / had a tough time / getting the

Muse=  GHX|gH E AlZE BHct MS0| ~otEE

players / to accept the batting helmet. // At first, /
st= o EtXE #UE ®OLS0ICt 2ol
the players laughed / at the helmets / and called

MaE2 HIRUC 1 gys SRR

ox
o
ye
ol
=
ot
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them / miner’s helmets. / They said / the players /
=0 R 2t Js2 2o MdeE2

who would wear them / were sissies. / The players, /

#olct M4E2

= o | —
%“%E M= —TET

however, / accepted the helmet. / Muse saved many

Stx|zt dols gots Nt Muse: 2 M+E2

players / from serious head injuries.
3o Azt o2 RYezREH

A

=
=y |

MY

R

MO

* wearing helmets was not a must : wearing
= 289 Fol2 22 FHAIY mustE B
AFR 220(A] | Eh= Sjmolnt,

* Charlie Muse, who died in 2005, created
baseball’s batting helmet. : whot= A43
SH o A EAeIT, dFE 22 commal,)
7b BAHTEAL ol e ALF groli,
glod YA SHYor FERIT. AL B
HEA 22 SolAFE AR st
"o

* Muse, though, had a tough time getting
the players to accept the batting helmet. :
though+ =% o]l 20)7|% 3taL, o] ¢4
d =4 Afolof| 2o]7]= st however(5HA]
et 22 oujo|tt, Thave a tough time +

ing, = ~3h= H FE A7 By} gk o
ololt}, fget + 520 s o B h= ~7F -3}

£2 3t} 2k ojujolt},

RS ESE B

oo A EfRES AWE & Hof iri
ol F3go] BA AIZE S 7F?
Ho]A 2] offtolA FHl 282 1971¥7HA]
O = oYt AT, 1 Ao 2E BRI
o] Mo & FAS At TN ARES
A Aol ARgo B3| o]okr]et7] AR
2005499 AFgt Charlie Muses ©FF EFA-E-
oS THEAT AT Muses AgE0] ERX}
€ US WolEole R st b oEeS A%
ok AZo] A4EL 2 IS B 89T F

B mAetn B, 158 1 RAE 2k A4

ek

o
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+ HAAolzt TR sHARE ApE2 ¥
WolE 3t Muse= AZeE w2 RBAgo=w

we A4ES THT

i 2
o

@ Solution

1. @9le gh= AM, @Hlo] whEolX ol &
@ EHAHE Hl 2H8-9] JAF of #RE S0t

2. Muse7t A7 ApEofA S AHE-SHA
st Al A R o7t BhE Fofl vet ¢l
o &, FF 2AR s3I, O BAE 2As
Aape AR L E37] wizolth,

3. G4 &A 22 BAES A wE 24
< e o2 RE et
— "prevent A from B, : AZ¥E BE ot}

A= E

1.® BAE due 4t A, ® EAPLE
S Aok k= olf Foll /I Aol UA
9 A A WEs 2t FAE
Eig=

2. O =&t
@ sj=tsit

Grammar Check p.57

1. Drinking (% To drink)
2. finding 3. who 4. towash

2 uhAE AL A% )
2t 18 2 d WE A wy

@®Solution
1. A 0] 4TS st W SHAF B to A
AL FE| = A of gt
2. "have a tough time + ing,
A7k Btk

Lok o QE
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3. A&A g9 =4 BAHEA who?t ottt
4. 'get+F2 o] +toF AL, 1 ~7} SR STt

23 b3z Bk kg B33
1.® 2. 9o IAL AE & HET
3. In 2005.
@20 g1
It’s hard / not to mention Park Ji-sung / when speak-
o=t HIXgE AFotR U= A2 ofoF7|g mf

ing of / Korean soccer. // He is / one of the best mid-
o= =75 Jd= ~oltt 7Hg ol oj=Ed

fielders / in the world. // His nickname is / “oxygen

&9 st g AMAA 19 HH2 ~0lct IES

tank.” / That means / he’s very energetic and tire-

43 a2 9ojsitt 3= i ol gxln XE &

less.

2ECt

Park Ji-sung started / his professional career / in

BIXE2 AlZRRHCH a9l x2 M MES

Japan. // In 2002, / he was selected / to be a member /

Y20lM 20020  I= EHRCH Mez

of the Korean national soccer team. // After the

gt =i =7 2 ey o

World Cup, / he moved / to a Dutch soccer team /

Je &0 HEHE gez

with Guus Hiddink. // It was difficult / for Park / to

ENES IS E IR UEpAE, EIX4o]

adjust / to the new team, / and he didn’t perform

M3ttt Mz2 "ol ag|ln o= Z ot R3UC

well / at first. / By his second season, / however, /

Mols & BN AZo=E SHX|2t
he became fully accustomed / to European soccer. //
J= s M3 =8 =701

In 2005, / Park signed a contract / with Manchester
20050 EIX|M2 Aokt MR AE FLIOIE|=2t

United / and became the first Korean / to play / in
J2|n R AN et=el MeTh E/int He

the Premier League.
mZ2|0|0] 2|20f|A

A d Ay 29

o
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PREEM o7 3= 7R, YEHEE AA WAL
* He is one of the best midfielders in the B FUelE = desrzixe] BEE &0

world. : Tone of the +JF+E4 PAh+=
T~ A o] (R A Bk 9=,
A Aol B BAPE 2= Ao frogit
It was difficult for Park to adjust to the
new team, : It°] 7}529], to adjust”} X159
o™ for Parke] &Juide] Fojoltt. oA to
FAARY ou)idel Fole for+ 534,02
FEAIHATE nice, kind, careful 3 Zo| A
#?o 44e Usdle I8P & dfole
"of + 527 | 0 2 oJu|ide] FoE ettt
ex. It is kind of you to say so.
(A Ty FA2 s R.)

Park ~ became the first Korean to play in

the Premier League. : to play< the first
Korean< 4]8l= &AM &9 toF A

Al
ol

7

AN

b ¢

o]

Lrt
rr

g= S7E 2 M aRge o
Hoh. 2= AlACIA 71 F o

gt golch, 119 M2 ik ®H70
a7} v Fo] PAa AF & ®REH
gt}

ARG 22 A AZES dEA AT
2002 & = S7MHE S " Ae=
B, =g Fof I AL 3|9t oA U
2HE STHCE R A0l MEE "l
Hgshs A2 AL, Agole & A 2R
AR = HA AlEols £ St &Ads]
253t 20059 BFA14d2 WA LE FutolE
E9F Aok, zejujof oA He A WA
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@®Solution
1 G 91 2 MR R T2 A Rl Bt
Zlo|t,

— upA o] JRAS] T2 M TS AR

ol
iau
=)
of
=L
U

stal Qle 2ol
2. x4 9] ¥ oxygen tank”} 9Ju|3t= Hi=

S & That means he’s very energetic and

tireless.oll Lhe} 1o},

3.Q 1 AA BHAAEE ZEu]o] A HJAka?
— A9k £4 In 2005, ~ to play in the
Premier League.& &3 20059 S & &

e,

CER= s =]
1. © A @ 3
@ +d A1E @ F 1A A&

Grammar Check P59

1. for 2.of 3.oneof 4.to

@ Solution
1. to-ZALS] QJujAte] o] : Tfor+E2 4,
2. Ao A7 S el B84 2019 ford
A of2 WA toE AL olmAre] Zol= e}
Ll

3. Tone of the + HAF+E4 BA}, @ 7P ~3
A 59 st

4. "be accustomed to+ ing, : ~3t= Hl I&
Rk

Grammaur Focus

Example
1. Seeing

p.60

2. Being written
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1. 2 U4E e o =430t
2. Fol= o] A, T A2 ¢7] HHH
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®Solution
1. 43 BALEe Fo|7t ovza &
0]
AR
2. $APEo] 5L A, Ao

AR EAZ 12 beingo] A 7= gt

Let’s Try p-61
1.when 2.
1
RN

What’s / your favorite color? // If you like blue

[T Ao JHE Eotetes M2 Y mitME JHY

most, / you are a dreamer. / You have / a lot of /

ZOfatrtH g2 Yot G2 JhR|e UAnk H2

artistic talent. / But you're too sensitive, / so your
od&H Mss SHRIZE G2 |E ofgisict J2iM gl

friends / may feel / uncomfortable / being around

FRse  LuRE DErt 2Ha A F90l U2 o

you.

o

CEECTS

*your friends may feel uncomfortable :

mayt ~UAE mEC g £OE F3 2
ehs 25 Akl

CLEDE

e A2 A Folhte? By B v}

4 Folstth, GAIL BAZIAUT GAL o

&4 Aol Wwalth AT GAL YR ol

1
5
A, ALY ATFEES T4 F90 9l W EH

@®!Solution

ol Tl F9lel 9 o 2 A she Aol A
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drelemz wztle T B Uehie "
wheno|] ¢35t}

2

@20 g7I
Superman has returned / to the big screen. // “Super-
Superman0| =0ttt e stHo=z “‘Superman

man Returns” / was released / around the world / in
NS [ H MA

2006. // The last Superman movie / was made / 20
200610l OFX|2F Superman Y= SO AL

Returns” 7}

years ago.
204 o

The new film / begins / with Superman returning /
ME22 Fst= AIEISITt  SupermanO| E0t= Ao =2

to Earth / after visiting / his home planet. // The
SR gzet 2ol a7t efoit WYE

ol

planet / has been destroyed, / so Superman comes
1 g2 oot J2fM Superman2 =0t

back / to Earth. / Many things / have changed /
=20 X712 o2 B4t

He AS0l

since he left. / Lois Lane, / the woman he loves, /
a7t Mt 0|22 Lois Lane 7t AiEtshe okt

has married a man. // Also, / Lex Luthor, /
st Fxiet Z=&ict Lex Luthor

Lot
Superman’s enemy, / has an evil plan / to destroy
Superman?| & Afetet AglE 2o Ut MAE ohaE

the world. // Superman must now / protect humans.
Superman2 O|X| ~al{of §ICt QIRE ESsICt

®REEN
* Superman has returned to the big screen.
A 9 ouE YEtd= FA L= (have
(has) +p.p.) *+&°]t}.
* The planet has been destroyed,
(has) +been+p.p..% &= FFHo|tt,
* Lois Lane, the woman he loves : Lois Lane
¥} the woman &4 °|tt. the woman¥ he
loves Atololl 547 BAHEA whom(E+=
who)o| A== o] ot
*an evil plan to destroy the world : to
destroy+ 9] WAL plang $43h= &4t

"Thave

ox
ufl
e
of
B+
>

o
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Z g9 9] toF- g Aot

* Superman must now protect humans. :
must= ~ofjof gt g Yu|E R &
B = 2FARO|T

5 A& TR

Reading Skill

CLEDE

66
o Example =
Superman©| & AR Foktt “Super- S dingp
man Returns” 7} 20069 A AlAll 7H5= 3
o} "R Superman F3H= 209 Ao w0
St @zl 27|

[e]
3 & ThA] A 1B Eolel Aoz xzhEr) 1 Kate= =Ct 2T ofekM EAS T2|7 Nick2 et
- T = — A— = 2.
FAL o7y o5 Superman -2 AT nice suit. / Many people celebrate them. // Today is /
o R -, -

‘ T on g=s e ARSS 158 sk 20 252 ~oltt
Eotert, 17t ATE W & g2 Aol W

NE2E 93st= Superman o] glojd AL W= Kate wears / a nice white dress. / And Nick wears / a

Kate and Nick’s wedding day. // It is / a very impor-

o} 17t A= Lois Lane 3 FA AEF kaeo Nickel ZEAl a7 ~olth e EQ3
o}, E3E Superman®] &<l Lex Luthor= AlA tant day / for the couple. / Today is the beginning /
£ o0 Attt A9 zx ok Superman # a2 RRoE &2 Alztolct

L o)A 217HE W Z §of dlc} of their new life.

a5 2L 214l

@®Solution

The new film begins. +Superman returns to

AetA] ggevz & WA 742 o Superman
= with®t &7 EAF gol Folof st FA

returnsS @A &AL returning 2 = HHY Fot @ Solution

L Wz 3o EHAES u I8 7
earth after visiting his home planet. Ka‘ate N u: = oj;!_l‘oﬁo jﬂ ; o E 1_;}‘: . =l f:‘
5 Aol BAlO] YolutrA, £ o) gaye yy  NickE HE TR Yeh. BE 4RSS 1S
O ==13] = 0 . A S
_g__% %A};L—E_Q_i H]_;E_ 7}_]\(-)]]:]_ _;.-,1_017]_ Aﬂi ?_:l]. = ’—‘TO]'C‘H ’Et‘]' =2 Kateﬂ Nick®e Eg‘}'\-]ol
« . DAL 1 RRoAL B9 Fas dolth 2
=

& 359 AR el AlFfoltt,

Kate®} Nick® 2&2]of| tigt 20|22 AFo
2 Kate and Nicks’ Wedding Day 7} ¢%tt,

p.67
Let’s Try
®
@30 ¢i7]
In the early 1980’s, / Drs. Barry Marshall and Robin
1980ELH =Htoj| Barry MarshallZt Robin Warren BfAt=

Warren / of Australia / discovered Helicobacter
SF9| dz|THE mo|2E| #2

w
N
ox,
i)
"
%
e
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pylori bacteria / in the stomach of patients / with

ExabE) XS oM

chronic gastritis and peptic ulcers. // This corkscrew-

2HEZQL 2t Aol U= 0] LMY 29

shaped bacterium / survives / in the acid environ-

gt 2jot= RS S R A U

ment / of the stomach. / The bacteria usually /
#2 0 Etef2|ot= CHH

doesn’t cause problems / in childhood. / However, /

THE Ye7IX Y=ct ozl A== a2t

if left untreated, / the bacteria can lead / to digestive

2t Xz EX| 42 M= =0 FH 1 HiE2loks deZ 4 T

illnesses, / even stomach cancer. / But experts

A3t719 AHS AXIof LR T2 BERIE2

believe / that most H. pylori infections are “silent” /

L=ct PR He|AbE Djo|22| AE2 "ESECY

and produce no symptoms. // According to one
J2|u off Sd&: HEX| et gt Aol W=H
study, / 70% of Korean adults / have H. pylori infec-

gt= go19] 70%7t da|TFEy mjolZ2] ol
tions. // Drs. Marshall and Warren won / the Nobel
AEE0 UCE Marshallzh Warren BfAb= BFUCH

Prize in Medicine / in 2005.
LY ostyE 20050

MY

OTEEN

« if left untreated, the bacteria can lead to

digestive illnesses, : if Foll 5] +beFA},

they are7} A2FE|o] Qth. o|4g =79 A}
Hol A& (Fol +beFAb e Aol 7hstet,

* 70% of Korean adults have H. pylori infec-

tions. ! "FES Y= E8 +of + AR A
SAH] 4= of HE| ALY ol XA

I

CRSESE S
19809 =¥k, Z+2] Barry Marshall®
Robin Warren #AH= T84 993 YAY 3
AHE9] flolA ATty wtol2E] & LAY
o}, o] UAlg moFo] vre|gol= $]9] Ak 7
Lol A &SI, o] Hhgglob= izl o AlAE
de BAIE €27 ge=o I8y, Y X8
HA o Y2 Fol T, 1 Hryg ot 45
o] Ad A= 7R dod 4= Qi 19
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uto|2 g 7t
Y=t |
9] 70%7} &z
MarshallZ}
Warren BFAH= 200580 = 9JsHARS: wiglkt)

@ Solution

o] AYe dov|= deE|Futy FolRe] o
gt WEo|== ® The Bacteria Causing
Illnesses in the Stomach($]¢] B-& ¥27])= 4

g2loh7t Also 2 doity

W3

@ $1 %) 24

@ 919 4+ 87

@ P FutE go|2e #9 A&7

@ =3 o3 S

Let’s Read

wr el 'E"EIE ikt
1.® 2. BFolt AURIE Solzt 84

A get

p.68

ftjo

=)

@20 g7I

Oh, nuts! / They can cause / you / trouble / if you're
2, UuRS IAS2 Yoz £ At o2 2ME 2
allergic to them. / What kind of nuts? // Peanuts, /
o220l aRSo| Y277t ACtHE ofH ST AUFAN EF
for one, / though / they aren’t truly a nut. / A per-
N HmE  HE ~0|X|2 IXS0| Yesls HFEIL OfLCt
son could also / be allergic to nuts / that grow / on
Ot ARE2 ERF ~Y o QU0H AR L =27|7t QUCt Kf2t=
trees, / such as almonds, walnuts. / When you think
LISOIM Ol2E, 3% Z2 G2=0| LY =75 Y2e o
of allergies, / you might picture / lots of sneezing /

JEX= 220 B2 Mi7IE

ox
o
e
of
B+
it

o
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34

and runny noses. / But unlike a mild allergy, / a nut
J2|n 20| Z2= IS L IR Y2 HE duR

or peanut allergy / can cause / difficult breathing /

EE mE gdzrls Yo 4 At 5& Zug

and other very serious health problems. // That’s

J2|1 OHE i Hzet AYYel 2HMESS azof ~&t
why / it’s very important / for someone with a nut
olRolCt 0§ ELsiTt  AMFL Yol L2717t A= A2
or peanut allergy / to avoid eating nuts and peanuts.

HOFL 32 He XS 1ok sk Aol

24

R

* if you're allergic to them. :
~oll =717k =

* Peanuts, for one, though they aren’t truly
anut. : for onex A HAZ = oo},
though ®|& ~olA|WF o] Loz ¢HHES
o|I= H&AbeIH,

A person could also be allergic to nuts that

Ao

fallergic to,

grow on trees, such as almonds, walnuts. :
that2 APA nutsE F48t= 4 LAWY
Atolet, such ast ~9} 22" 9| oujo|c},

you might picture lots of sneezing and
B o 9u2 q

runny noses. : lots of<=
lot of &} &2 &jujojtt,
That’s why it’s very important for someone

with a nut or peanut allergy to avoid eat-
ing nuts and peanuts. : "That's why ~;&
TA0] ~3F olfroltt k= 9u|2 why ol
A3 At the reason©l| A=FE o] Ut it 7+
o], for someone= Ul 0], to avoide
AFololt), avoide FEAFE HH= 3t
= SA| B2 eating©] 2%t

@251 A

o, ATFE! WY ofelfo] TRE 277}

Slthel, IAEE clEelA EAE Yoy 4

olet. ol FRY AVFA 3 WA, BF,
=
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@ Solution

1. Aol o3 dojvh= g 27]of At 22,
= AA9 WEE Yedle AFSE ® The
Allergy Caused by Nuts(ZAZ}tFol 2J3f of7]
He g2t guth @ AnR g2
£ "ot W 2 FEAQ olopr]del 9

=2

DojgA AR dEETE qUE 4 Ay

o

N
o O

— "9 £ That's why it's very impor-
tant ~ to avoid eating nuts and peanuts.&
3 ol AnFIL Solzt 242 BA ¢

+ Aol dHde & 5 Ao

CEA=¢c El

Eiiwen Y 3 p.69
1.® 2.@
CEE

Mr. Baker had a terrible toothache. // He couldn’t eat
Baker M= 0|7} AstA| OfHCt J= 9HE £ ot

or drink. / He did not want / to take time off / from

& YUt I= #skR] Utk g
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work, / so he tried / to bear the pain. / However, /
s JefM = L3t O 18S e IgLt

the tooth hurt / so much, / and he asked his boss /
1 Ol OHHCt HE 2ol J2/1 I 19 AFEOA 2FFct
for time off. / He went / to the dentist. / The den-
Us HACtD = e X|atoff 3 Xzt ofAt=
tist said, / “There is a cavity / in the tooth. // I'll have
It EX7F o ofof L= ~afiof
to / take the tooth out.” / Mr. Baker said, / “Okay. /
g AYULICt 1 0o|E &Hotof  Baker M7t 2L EO0tR
Just stop the pain.” / The dentist pulled out the

1ss BT ML 3 X3 QA= 0|2 HUC

tooth / and he dropped it / into the garbage can. //

J2|n Oz JNE o= 27| S0]
“Don’t throw it away. / Let me have it, please.” //
JRE HZX| otML Mot ARE R==E of FHR
“Why do you want / your old tooth?” / the dentist
gA2 off HoHAIE 2fE 0IE I x| QAT ST
asked. // “I'm going to take it home, / put it in a

Lt O3ds Hez 7thZ AU azg axol

bowl / of hot honey / and watch it suffer.” / Mr.
22 Aole =R £9 I2ju 30| 1sASE AS
Baker said.

X|74 & AYLICH Baker M7h ZFCH

A

|

MY

R

* he tried to bear the pain. : "try +toF% A},
= ~otaL kgsirt(of AT} o oujolt}, BE
9, "try +-ing = T ~3 B} 2t Yu]o]
o} bear= TAFR R}, WSt 2= ko
™ endure®} 22 ojnjo|t},

« I'll have to take the tooth out. : "take out,
< O|F Eot g Yu|E, FF o7} PAke|2
2 A AL Abo] = FEAF Hol & 4 9L
o}, SRR H& 0|7} g Abe| | HEEA] FARRL
FAL Apolof gt 2},
ex. take it out (O)

take out it (X))

* Let me have it, : LetZ ©]-83% 1% ¥H&
< "Let me+EAMEE 22 YEH, W7t ~
sHA & g2t = &oltth

Ao
AT
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*I'm going to take it home, put it in a bowl
of hot honey and watch it suffer. :'be
going to_°l take, put, watch7} U#t3] &2
"ot watche A4EAR F3 0] jto] 534
Hol2 LG FAA} suffer7t KIth.

O E5HA
Baker A= ©o|7} At obtth, = HE &
oA = Qodth e 48 71 YA ot
A, 1 15E Foda =¥}, a8y, 1 o]
£ YF wo] opgta 1= 9] ARgeA ¢4 4]
At @ P, T= Kol Zhh 1 2|3 oAb
£ "ol FA|7F lola, 1 o] Hotof Foja”
21 A3t Baker A& “Fotg, 15S HWHT
FAe. 2 TR, 1 23T rb= olE Bk
d= IRL 247]5 Eo=go, ‘IR H
g2 vl e, A7E RS AEE 3 FAR7 T
A2 9 o] e#jH o]F YstAR? AL 1 |3}
A7 BT Ae AAE JLo=E JHA7IA, 1
AE EAL B IR ¥, 270 1FAeY
3= AS AAE AYYrh 2L Baker A= T
e,

@ Solution
1- ﬂ o= =
= W&ol B2 tEl= BAE A28 =
o] However(Z&4) 7} &gkt

N

2. (3H4) Baker At 18 ofLA| & ol& EF

71E 93

Baker A= B2

o2 Qo A7 7} =

& B go] LF2YY = BES HIE
Aoz I olF TUF71E(punish) IF
ohal e 4= Qi
®2EH3

1. @ a8e= @ Ath7t
@ 2= OXE==vi]

2. © gojx=2c} @ "t
® 7=t ® g7t

o
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rAeHy 2 S F Elﬂ_ﬂ P rHEDN p.70

1. 2. 7FHal oW MR 2|7} A7) =

3.0

kS

Atopy(atopic dermatitis) is / a long-lasting skin con-
OIEO|=(otEm| mFEH2) ~olct 22 X&5= TR Sl

871

dition / that causes itching / and then / a red, raised
tH2e RYste J2|10 0|F0| &1, £0tRE

rash. // It usually develops / in childhood / and con-

WEXIE 22 i LSttt ofZloto] AR 21

tinues into the teen years. / Adults may also have it, /
HU7ER] ALET OESE Eot ONE 7H & At

or have milder symptoms / than they did / as chil-

EE o 28HE B2 K 4 0 250] JHYE e

dren.
o{Zloto|¥S wh

If you have atopy, / your skin is very sensitive / to
2t O2{20| OtE L7t UCHH of2{22| m|R= i HHsit

irritants / and likely to become itchy / and develop a
=0l J2(n JHRX7] gok J2|3 WRX|7}

rash. // Scratching may seem / to relieve the itch, /

LSVt FE A2 ~AME B 4 U TS A=

but it often results / in a rash / and leads / to a cycle /

JdeL X2 5% ZuE d=r WEX|9 a2|u zejsitt a8

of itching, scratching, and rash. // If you have atopic
g, F71, 22/ #E2X9 2t 042{20| OtEm| mFatH

skin, / your skin must be kept / well hydrated. //

o2{29 OR= RX|=[0{Xof BTt 22 H ERII=E

Although researchers don’t know / the causes of
HIE HFAS0| LX| 252! shx|et OtEme| Hels

o=

atopy, / it is known / that skin dryness / plays a big
ct

a2 YN ATt I AxEo| 2 %S @

ron

part / in worsening symptoms. / And avoid the irri-

S¢S A=A7|E O a2|n =SS Okt

tants / affecting your skin.

ol 29l mRo| s F=

®TEEA
* Adults ~ have milder symptoms than they

did as children. : did& had symptoms=
tAlskE HisAkeI .

ox
o
ye
ol
=
ot
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* your skin is very sensitive to irritants and
likely to become itchy and develop a rash. :
"be sensitive to, ~°ll 3T "be likely
toy ~3t7] ot

* Scratching may seem to relieve the itch, :
'F0] +seem(s) +toRBAL = ~AHH Holtf
2t 29U 2 Tt seems that +3-01 +5AF 2 &
2 kg & 5 glek
— It seems that scratching relieves the itch,

* it often results in a rash and leads to a
cycle : result in, ~% ZIE ¥t} "lead
to, ~& 23t
e your skin must be kept well hydrated. :
257 e 289 5 '8 A +be+
p.p-o= YEHdT

* Although researchers don’t know the cause
of atopy, : although& W& ~o|z|qt 9] 9
02 FEAS o|ne F&HAolth

¢ it is known that skin dryness plays a big
part in worsening symptoms. : it 7}50],

thatd o]st7} X F=01ql E7oltt.

* avoid the irritants affecting your skin. :
affectinge AAEALZ oY A} irritantsS
FA_e

@ EsHA
olET|L(olET BRYL) stele e ST ol
Fol H1 fole s WEAF dosl oF A%
B wR gejolch IR oA ofote] AW
of werstm Jrtx] ALHEY, o2EE w3
olE=3)7} QAL EX ofoto| 9 wrTte T
gt Sl YE F= 9k,
whe ofgio] obEwz} girkul, of i W
£ AFE0 e wgstn, AR ¢
weA7} dea)zh 4ok FE AL e
N7l AAE B 5 Qo Iy 232
FTFT WEAZE 298 ¥ 7H s, =71, 29
A WA O] g 2@t v ool of

s

= )
E3] w¥ete, ol Wyl S8 2 e

o
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=% FASCIA k. 1S AFAEOl of
E59) 49e @x R AW, R Az

o] T/44= A= H 2 A4S i o

A T, TE) ojeiie] wie] AR FE A

222 weje,

@ Solution

1. ob=s] o] Bojop Ho] F4 Telm Tk
& &3] s At 3= =olth

2. o1 9] F42 a long-lasting skin condi-
tion that causes itching and then a red,
raised rash©ll 11]/\]5101 AUTH

3. (B4 of=n o A WA S4L 979 7t
ojt},
— obEmE WA Tt gy AdEna Yt

_ﬁ
o|N

A=< E
3.0 1% A, WEXR
@olE GFF

Grammar Check p.71

1. to be 2. that, won
3. Although 4. though

4. 2 obgolE ek AAe] 7hch

@ Solution

1~2. "It seems that+ 0] +FA},
= 0] +seem(s) +toFAAL, | ~HH Holt}

3~4. ¥E ] H&A though, althoughte ™
E ~olxuF o] og ofHAG o HE
Atoltt,

bap che BhE itk p.72
1.® 2. otAT” H7| 3|H 2} upA7]
s AE7 3@

@®20] 27|

“Doctor, / I'm coughing / and sneezing. // I ache / all
OAF MMY XM= 7|Zl0] Lt T2|T MAVZ|E LR Me ot

over. // What’s wrong / with me?” // “Take two
O7|X7|7t 20| HREALL  HA ofame

aspirins,” / one doctor advises. / “No. / Drink this
T YS =ML & QAL Bt Otf ol 5l A=

herbal tea,” / says another. / “Don’t listen to them,” /
i psked CHE QIAPZE Hoi OS2 YE EX| otMle

argues the acupuncturist. / “I'll put / some needles /

e Tttt M7tssAe H= 2 U
in your back.” / Who has / the best remedy? // All of
galel Sof FOF IR AEN VK B2 AREE dS

them, / because there is / more than one approach /
2% fLtstE ~of QU7 WZolct 8 7HX| o]4el F20|
to healing / and many ways / to practice medicine.
A= J2|n g2 S| ot osts Hdlst=
In general, / modern medicine / treats / the body /
Loz St ofgh2 CHEdt  MAE
as if it were a machine / made up of many separate
kx| 7| AIME U2 22| RESE THE
parts / that can break down / independently. // But
g E s A= ZgHe=z agut

holistic doctors believe / that the parts of the body /

MR BX O|5to| QAISL al=r} Ao HEES

[ e To=2T

are interconnected / and must be treated / as a
o5 AT ALt Je2|n CtREoXof sttt THES=E

whole. // There’s another approach / called alterna-
o g2k ot x| 2lstolatu

tive forms of medicine. // It does not depend / on
== N2 YESHR| Y=Ct

surgery and drugs. / No one knows / which of the
a1t 2=0 OtF= X Rttt 1 F2ZE &

approaches / is the best remedy.
o= Zol He E2 XREUX|

®REEA
* “Take two aspirins,” one doctor advises.
“No. Drink this herbal tea,” says another. :

ox
ufl
e
of
B+
>

o
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WA

AHAA e e one, E THE e
another2 F&3gc},

* many ways to practice medicine. : to prac-
tice= %9 YA waysE A5t BEAH &
H9 toF AR,

In general, modern medicine treats the

body as if it were a machine made up of
many separate parts that can break down
independently. : "as if +7Fg®H 34 ;= \HA|
~Q AAY olzts ou|2 @A AHde B2
7H . madevs IAZAIE o] YA
machineZ 4]3t11 ¢)oH thatZ partsE
AYAR sh= 74 TAHEAROIH,

the parts of the body are interconnected
and must be treated as a whole. : 5=°] the
parts of the body®°ll &AF are®t £FAF must
7 uts] 9o 254 e 289 +F
H= "2EA+be +p.p. = UERAT

There’s another approach called alternative
forms of medicine. : called= B+ ol
= % vl HAZAR A approachS
9

3ttt

Al
>

CRalo B!

38

“OAb AAY . AL 71F-o] Y A7 = Q.
A7|A7 = otuta AA H7F AREAFAY
“olavd T &g S48 72T g A7} Fudt
o}, “ohy. o] FH A& ulA e "gm o2 oxlrt
Tt e e EA Al L et
FATE AT FAY SOl HE H w27
8" 7k A Fe ARYe T Y 3
= 27, qust Amolle o 7 ol M
3 olshg Agetes B WSl A7l wiol

&7 obgo] o

2007.1.17 5:15 PM #o]®]38 CMYKZH $

814 gtk obRE 1 HZE F ol o] 7
Fo AmYAX ¥H 2ok

@ Solution

1. & Ao s Al 7HA] A 28& AAsHE 4
£ 33l 95t ekt Sl #3f oopr]sta
Att. mEkA @ Many Faces of Medicine
(&3] ekt SHE)O| AFSE 7Pt gt

o

2. Al B At _E 7] Aol s ZAR}F v
AzHe AAReH, ofxud #7], 3HE 2}
akA|7], 5ol Hg7]olet,

3. GHA) & oshy AAEA o5t YAE
AAE o E BHoR 20
— @ Yot A= AAE BEE FReR

€ W, AR QoA AA Y FEE0

Jo dZEo] Jvhal B Qlnt, wEhA A
o AAEA ofsto]l “dAlbody) ol thah

d3E 2o BRI

e

In

o ox
fu ot foy

i)

W EHI
1. © ok&ud o) Ayt
® chepet 259 88 2}
@ oA o5t
® @f ool WA
3309 @3 @714 @ F&

7
Grammar Check p.73
1.loved 2. were
3. built 4. written
@256 A

1. 2% u}x] 2 oz} ofo]= AlFSsl= AXY W
Sl

2. 239X UE ulx] o]olo| A thEc},

o132 418 Aol Aoj7] wHETolT},

4. U= 2 Aljlo] & A 3 de At

w

o
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@ Solution

1~2. Tas if +7F99 ZA = mHA] ~Q AAH
olgt= ou|E @A AR B dE 7HY
S o} ARE-3hTt

3. '8 TANGA+besA 7 AEE FH
HGARAR PAHE 413t which was
builtoll A which was7} A2F=E o] i},

4. which was written®| 4] which was”7} A =F=]

of get,

Grammar Focus

7
Example P74
1. had / 2 Y7} 27} Qlehe, UE H9E & 9
=l

2. could / Y7} 5 % & 5 9loW £ €,
3. have traveled / 9t I 7} =o] Wt 3
A2 AYS zts d.

@ Solution
1. 7F3% A - @4 AHE Y Wi & 7HY
"f+Fo]+5AY IAE (were], Fol+
would(should, could, might) +&AME
2. Twish+7FdH ItA 1 ~51 £5 HY|
3. 7HH tA R ¢ kA AR 9 R E 7+
"f+3° +had+p.p., 5 +would(should,
could, might] +have+p.p..

Let’s Try P75

1.@ 2@

1
@®E0] 7]
Every job has / safety hazards.

SE ZYS Jixm Tt o YYsis

/| A safety hazard is

oM flgfolzt ~Aolct

2007.1.17 5:15 PM  #°]®]39 CMYKZH $

something / that is dangerous / without caution. //
fledst FOI5HA| pio™

For example, / you might burn your hand / in a

as = 02f20| &2 & = Ut

= =2 T
restaurant kitchen / if you were not careful.

Alg FYollA 2t o220 ZA5HA| pd=rtH

M
af

R

A

* Safety hazard is something that is danger-
ous ' thatZ somethings $43h= 54 &

A g Aol e

(2
3
HO
o

z

SE e ok Ago] Jln A el £
oJaix) gow $1RT olth, elE Sol, vl of
HRo] 2AsHA ghethe, A oA &8
9 %= o
@ Solution

@ : 49 AAZF "might +FAMIE 013 if7F

Ue ALE Hol 7MY IA AAo|BE,
besAMe] B4 E were”l 2fof gtct,

2

@20 g7]
We all often / forget things. // Forgetting stuff is a
22 2F= B35 o A2 d=0t SUS Atdls A2 YRE
part / of life. / But Alzheimer disease is different /
olct  dgho a2t ¥=sto|H He Ch=ct

o=

from everyday forgetting. / The disease permanent-
0o AYSat I EH2 g7XHeR Lo IES

oco=

ly affects the brain, / and over time, / makes it hard-

=Ct J2|31 A[ZHOl X|LHHE o SIS BTt

er / to remember even basic stuff. / Eventually, / the
X0l 7I2Hel AS 7|Ysts AS 2=

person can’t remember / the names and faces / of

O M2 7o & elct 0|53 €22

/ or even who he or she is. // If
E= JL 247t SRR}

family members
HE FEEEY
your old parent were often lost / near the house / or

012{22| LIO|IE RR2EMAM 55 22 Y0 & 20N

C=
P

forgot basic things, / you should watch and take /
JI2HR AES HECH  OE2 XAED 24710k St

A% 2 4

o

39
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him or her / to the clinic. / There are medicines /
au adE H2of oto| ULt

that seem to slow the disease down.
1 Y2 XgA7l= AME Holz

OTEEN

* Alzheimer disease is different from every-
day forgetting. : "be different from; ~<} tt
=2

* The disease ~ makes it harder to remember
even basic stuff. : it makes2] 7229}, to
remember °©|3}7} X=Aojo|th harder+=
makes®| 532 Hojolt}

* the person can’t remember ~ even who he
or she is. : who he or she ist Al remem-
ber ol o]ojA= MY ZELE TOTA+ T
o] +5Ah 9 ol FRiTh

* There are medicines that seem to slow the
disease down. : that< medicinesS A3Ak
2 ste 77 BAdEALolH, T50]+seem(s)
+toFBAhw ~A Y Holtf 2= oot}

T FFANER 7]
2| Yol E RudAA F
A 7)EH ASS Qevhu, olgre 14
I9E NARD Yol Feiztok stk 1 We
A AA7)E AAY Holi opo] gt

@®Solution
@ 1 ifd ] BAF A were, forget = Hof 7t
A9 A FEE ot glengE FHE
29 94 Tshould +&AHEE 0] Hojof &
o}, wakA should watch and take® H}Y
M of gt}

ox
o
ye
ol
=
ot

E =we T e gaiFon
Reading Skill

Example
The U.S.A.

p.80

MY

CRSESE RS
nRe gRe) (RelolA) T 2 £ERA 54

o 4ol e,

Mo

@®Solution
21 £ el F a8 E BRoA |
o] 714 2 yehe vl

p.81
Let’s Try
®
®zol 27|
In the last year again, / Korea’s biggest trade partner /
EoE FAl gt 7hy 2 fe=2
was China. / China was / the biggest export country
=0 T2 ~OIUCH Bt=2l 1Y 2 +E=
of Korea, / but Korea also / imported a lot / from
a2 o= 9Al ol Ut

China. // The total import was / more than 14 bil-

FTOREEH U2 140 E =uiCt
lion dollars. / On the other hand, / Japan was / the
gHHO|| U=Z2 ~0[UCH

biggest import country of Korea. / The gap /
g=o It 2 2= ARtE
between export and import / with Japan / was huge: /

= U= atel et

TEL Y9

there was / about an 8 billion dollar deficit / in the

UAL oF 80 29| Hxtvt LEI
trade with Japan. / The U.S.A. was / the third
FEA ol=2 ~0|Uct M =

o
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biggest / in import. / Which were / the top five @&
2 oA OICIRS o 5 #E=2 L oal= S
oo e mene i U @Rl 2Uoe BR o) A 2 Uk
export countries? ey were ina, Japan, U.S.A., Z30lc}
as2 ~n B4, 42, 0=, )
.= 0] A0]0 ERES
Germany and Taiwan. @ : F=olA e} U2 1409 2=7F A=t
=9 72|7 cfet ® : d&o] FHd s=d=olt
@ : 0] o] Blo] A WA 2 2o 4o

MY

®REEA

* China was the biggest export country of

Korea, : the biggest= 4gFo=2 7P &

o) oJu] S etk TP ~3F o2t £ e

W& Tthe+ 384} -est, 2 2T} ol bigA)

d FEAe Brie 940 mgol i, B %
o= shbd mpqu A4S @ W o A 2o

* The total import was more than 14 billion

dollars. : "more than ~,& ‘~oJ|A9] 2t= 9
ojojct ‘~o]3}tel = Mess than ~; &2 LEL
Ril=3

*The U.S.A. was the third biggest in
import. : a7} obd 2¥A, 3HA= HdH
¢+l second, third 5= A A VERATE
ex. the second tallest (= A2 7|7} &)

geje) A1) 99et. o1% % ceqgol 1014 A
AR E Aok, A9 St &2 AYH A7 1
=2 5=, 48, 1+, 5‘—,%!, 1|3l ojRtol itk

@ Solution
® : A9 s &2 F, v, 98, &7,

St olch.

o]tk

Let’s Read

it 3 p.82

L=
1.® 2. #F A

@20 g7I

Do you know / how many people travel / in the
22 ok=7t Lot B2 AMES0| odlst=xl =AM
country or abroad? // Surprisingly, / each year, /
=2 sfi2lolM SEHA= afiofct
more than 600 million / travel internationally, / and
62 & 0]¢ol a2l S Bt =i
hundreds of millions / do within their countries.
=9 go S0 FLollM Bt
As a result, / the tourism industry / including hotels,
ZaHez 2y M2 g4,
resorts, airlines, and travel agencies, / is described /
Y|, FSAL 2|7 HHAS =EHE SALEC

s “the world’s number one employer.” / According
A1|7=I| Mol 18F'2 R ZAlo| m=H

to some survey, / tourism earns / about four trillion
2 HoSelnt o 4x s
dollars / worldwide / in a year. / Tourism is already /
MARS =z 2t sffofl = olo] ~olct
the number one industry / in the world. //
Miel Mg MIA ol M

Therefore, / many countries try / to improve their
ez E2 L2le =it oy Mes

LS
travel business / to earn more money. // As of now, /
Ea ) o ¥2 =5 g7| 2l M=M=

France and the U.S.A. are the strongest / in this
m2tAet 0|=0| 7+ Zstct ol 70l A

ox
ot
=
o
2
>

o
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42

business. // If you travel next time, / please remem-
012 20| Ch30l o= BICtHE  7|Hstat

ber / that you are joining / the biggest business / in
oi2{20] Hoist UACt= AE 7t 2 Aol

the world.

Mo M

®TEEN

* Do you know how many people travel in
the country or abroad? : how ©]3H= 7Hg <
BRoz AYRFO| MYBA+FAFo,
o) &g Hote © W, TYBA+FO|+F
A1,9) ol g HFITt,

* more than 600 million travel internation-
ally, and hundreds of millions do within
their countries. : do= &9 A} travel S ®
< tEAkolT

* As a result, the tourism industry including
hotels, resorts, airlines, and travel agencies,
is described as “the world’s number one

' 1 0] the tourism industry©]

is described®lt. including&
industry & $415t= @A EARe|T

*please remember (that) you join the
biggest business in the world.: that&°] &

AF remember®] H& & o] &L U}, o|FH

HH0|E o|Il= HHAR= Aol 7Hssit

employer.’
3, A

[
A
HO
o
o Iz

drhy g2 AFrEel SHeE A5t
ol=7F? S¥AE, vttt 69 B o)l 3
< 8, 9 B9 AEEol IUlelA o

i)
L

QLI T

A

AN

o

=
ol
)

L FPA, G, 2T APAE
e A ALY BEF 2 BA
29 2] EY, BFe AAHoE o
o 42 TS WolBTh, BFL ojn] AA

o
-
o
r)v

L= R e A L o [
o o
&
)

g
)

We,

by
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o = I =l o M S I | s B o
At Aol Fefshal k= A 7193tetk

@®Solution
1. ® : WF AP AF= ZefAel njFolr

France and The U.S.A. are the
strongest in this business. ol 1€} 91t}

2.Q : F7HAA HiY nEFA7ER?
— As a result, the tourism industry ~ is
described as “the world’s number one

employer.”oll &} qith,

K==
1. ©: 39 A=} : 69

3
o 3

@ = Ay}
@ @ WF AP A Y 14z
® ¥ A 2E, FEA, FIAE Y
AHS
N alei Lelpe p.83
1.@ 2. We should save energy.
@20 27|

Recently, / the oil price goes up. / Why is the oil /

2 MR 7H40] 221 Aot N MRIF ~ATt
so expensive?
JEA HIM

First, / oil is / one of the most important resources /
M M{es ~olt 71 528t Xtd & oLt

in modern life. / Thus, / the demand / exceeds the
o Adetol A oty »27t 228 zusict
supply. // The oil / is produced / mainly in the

NeE M= F2 3504

Middle East countries, / and the supply / is limited. //
JHM SE2 Hiet=of ATk

However, / the rich industrial countries / need it /
gLt 2R M ZTIES 70| gestct

very much. // In addition, / with the development
0 £40] Azt S=at Qo] € HEO

of China and India, / the demand increases / more. //

TRE 37t EE
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Another reason is / the unstable political situation / Z£2 HhH o nojoyl? AL oYAE Aekst=
L COE olRE ~olct  =SHEE il 4 Ao|t}
A .
of oil countries. / When / the possibility of war /
MR ~str  HY 7tsH0 @ Solution
gets higher / in the oil countries, / the oil price / . OFEL R Ol A] © 2 ©alsbrl
- R Mo s 1. (A) : HIZ D:T'_"ocjl 7 A% SRt
Row 7}A0o] ‘BN i S 1
soars. / What is / the best way / to fight against the ?’1 = 740l ] }E}(expenswe) -
ISt 2R VY B2 wHS a8l diEsis Stz Zlo] gyt
high price? // That is / to save energy. (B) : H2olA AR 743 F71e] A
e ~olct o|xIE Htsh= A £ Aty goerr ‘EobAdHunsta-
ble) g2 3ol i#7re] E o €
T EEA
oleti & 4= it
* 0il is one of the most important resources 2.Q LGk TAEE LEls RS djof &
in modern life. : 354 °|42] F-&A HA 729

=29 35, FEA ¢ mostE 20t} 222

Q FEAE YA F-&AF ofu] -ful, -able,
-ate 5= B9 = F$= mostE €9 A

5 e
ex. the most careful OV A 28-2)

When the possibility of war gets higher in

the oil countries, the oil price soars.
when QJZALR A 2= 9u|E HEY7]
T SHAIRE o]FA F £ ddske JEA Y
& sto] ~& o 9] ou|E YE 7| & Fe
That is to save energy. : that> ¥&%f
ot 9= WAT the best wayE =t to

savel is9] Mo} T sh= WA §49 to
53 Aol e},

O Z6HA

A2, 44 7Hgol o23 ek, o) A9k 19A
s 7

SA, A4l A ABY TP Fa% 49 F 5

dolch, whebd], 87t FF& 2t Hgt

F2 FEOA AAERE FFe ARl gt

T R AR FAEL 498 W gol 3

a8 ok Aol F23 Qo) A o
140k H8 St

E T2 ol fi AHGEE] BOHR AN Aol
o}, gk AF3REolA A4 7Hs Aol BolAw, A

% 7H4e FEeh old mgvtel sk 4

— A A &= apx]9t E&Fo] That is to save
energy. 2t A A= o] Ut}

A= er =]

1. O& - o8& @ =2 - HI}EL
® 7] Y - AW © Bad - 4L
ATy haaels 2P p.84

1.® 2. 2H[AE d % A AEstE=

A7 Wy 3 avs o 7] wi<zol

7]
3. TV advertisement

@®20] 27|

When you see / sports games, / you can see / some

0{2{20] = ARX FJIEE2  OE2 2 & Ut

logos of a company / on famous players’ uniforms. //

ol 3|Ate] 2SS 7get 24+ RUSMM

It is / one of the most popular ways / to advertise.

0[A2 ~olct 7H Q17| = WY F9f sttt Fush=
Nowadays, / the most important advertisement / is

se g Be8 BaE

television advertisement. / However, / there is / one
TV &zolct Jefut ~0| Act
serious problem / with it. / Most of the watchers /
st 74X| Azst 2 o 7]of EE2 AFRE2

change the channels / when an advertisement is on. /

s S8t 7t L= o

ox
o
o
e
ol
B+
>

o
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However, / you will not / change the channels / o] = AL HYrh oHE Qe =R &2
2Lt oiHZ22 ~otX| 4= Aol Mge salct oltl, 938, ogBe A7 YU 2SA 2
when you see / some logos / on the uniform of your TR0 510 6] L o 3}
oigol 21 2nse  Zolels H459 SUZ0I BT 71ED Aol AMEAT, RS

@ % e 219l Aol ol AE2 v

favorite players. // Rather, / you would / pay close
23| 22 ~& Holct

attention to them / throughout the game. // For the
aSoiA 22 #yE JIsolct &7 Ul EA=ME

T Co=

companies, / it is the best chance / to advertise. //

a2 z19l 7|3fo|ct gust=

We call it / sports marketing. / Who is / the most
2= 2RSS FECL AXX OpAE0|2tT F7h ~2dt

favorite and well-paid player? // Probably, / Tiger

H MEEn =2 Hol BE Me otote=

Woods. // He earned / about 150 million dollars / for
EfO|H ©X = =i oF 194 5X OF ==

just using a certain brand.
X SN MEE AIgste Aptez

OREEN
* the most popular ways to advertise : to
advertise= %2 WAL waysE 45t 38
A O toR AR Ao Filshe
WHE olghe Rz ATt
change the channels : A'd-& vpcy 2=
FHL o]AH channelS B3 22 &t A
25 WS F 71 Ado] 24 HBashy)
fzolth, "EAE #ol By, 7t HuY
59 #¥ % change trains, make friends* &
573 ARt
« for just using a certain brand : XA} for
=~ AT olEhs YulE, HAA|ALS F2 o

2L gaA 3o =g & 4= Q)
OHENN
22 A71EE B W, 9T 2SASEY £
UZo|A od it 2u5L 2 2 gt o]A

2 714 Ql7] Qe Fa

59 M 3w

L, 047101]L S 7HA S ZAZE Aok R

of ARAEE FT7h Ged AYg Bt 2
But oleiie Folsh 44Ee fUBel 23

o
iau
=)
ol
=
ot

et ok by HEET B gol
W77 ofub EpolA 2 Folek, Tk

d AES ARSI ATte R oF 19 53

2
>
N

e

=

oo ogi Kl orlo o
©
K

il
VS
i
e
s
iu}
K
o
i)

@ Solution

1. 939 A&A Howevers & o, 9ol
Al Y-&ol e Aola FHoll= EAIH
& Aolnt, FaFo A= /\]zgx}Eo] A
g4 =9 o] BAAY AolEE @9 &1
7hz Aol gt

2.it(aZ)o] 7Hg F2 718 Tkl e,
it@z)el 7He7le AS AuEd, HE o
&) AFEol A7) Foll A71S0] Fobsh= A
FEolA ASerhs AHdolth

3. G4 TV 3= 71 9438 e FaLolth
— the most important advertisement is

lo rlr

rui o[
ot oX

television advertisementZt= HES 3
TV F37F 71 988 J= JudS & ¢+
Atk
.85
Grammar Check &
1. trains 2. channels
3. to visit 4. to look
CRaEST RS
1. U At oA 712E Zot & A o|t},
2. AFHELS Far yeod TV AdS S
3. o]¥o] ZX& W& 7 £ 73|t}
4. %= EHlof 3} ofo] 50| Wt
@ Solution

1. 4= Zo} gl A F 7Y oJAto] HastH

R
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change the trains : 7|35 Zo} gt}

2. change the channels : A'd-& vtttk

3. 8A} chanceE FlollA 218t H toRBANS
Hof gttt

4. A} children= FollA #A15HH toFgA
£ Hof gttt

et vwed 3 ngTAT 2w p.86

1L.O 2.5 2H, 2709 AY =3,
o AR 7Es 3.@

il

Nintendo Brain Games Bundle
HEE 2eQl AY 17X
* Price : $204.99
7t4 2049952
* Availability : Usually / ships within 2 to 3 days. //
() 7tsd oA 2~3Y O[LHof M=F
Ships from and sold / by Target.
M™z|n ZE Target Atoll 2JaHA
* Game Information
Ay 8=
ESRB Rating : Everyone
ESRB && M| o|E7t
Media : Video Game
O | IO AY
Item Quantity : 1
a2 17h
* Product Features
d& 5¢
Convenient bundle gives you / everything you need /
malst 7 [Xl= gollAl FLict gho| HRF 2= AS
to bring your fun / with you / wherever you go.
ENEE /A7t ol galat gl g0l Tk ol oML
Provides 2 exciting games / for variety.
2719 Mt AYME MSEUDH  HEE HshM
Rated E / for Everyone.
ESE o AYUE flst

* Product Details

dE MR Ate

2007.1.17 5:15 PM #o]X]45 CMYKZH $

Amazon.com Sales Rank : #334 / in Computer &
OfOpE T &% 334¢%1  HREH &

Video Games (See / Top Sellers / in Computer &
HIC|Q Q! 2ot 30ls EML 1A 20| T2l ThfxiE #HEEH &

Video Games)
HICI2 AU 200l M

Yesterday : #560 / in Computer & Video Games

O Al 5609 ZFE & HIOR> AY 20f

Date first available at Amazon.com : May 17, 2006
ofotE A EAY 20064 58 17Y

Average Customer Review : Good (Based / on 334

7 By g2 2A%

reviews.)
33471 Hoil

CEETRY
* Convenient bundle gives you everything
(that) you need ~ : you need ©|3}7} every-
things FAsh= &AM It 534 oA
A that E= which7h 2FE o] At
» wherever you go : wherever< ‘ojtjo] 7}&
A e 2o EFHAFAE, in any place
where 9| &jujo|t},
Rated E for Everyone. : &9 530 ARt
=0l &3l wjAR= AolB= 5 2u|f A
AR At 55 oul= FARAE &t
5 Yu|E At

* Based on 334 reviews. :

7] A8l FAZARE Al

CRSISE RS
el =230l AY wi7]A]

« 714 : 204.99E 2

< (dp) 7HsA L Ol 2~3Y ol AAH.
Target Aol &JsiiA A& = T,

AY HE
ESRB 57 : AA| o] &7}
o] - H Y AY
S
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AL 7tA7t=d 248
},
A3LE YA 2709 AldE AlYS ATy
A AFHE Y ESF UYL

< AE AR AV
ofutE Tl =9] @ AFE & °HlYL AU HoF
334 HFH & HlY L AY EokollA 713 @
o] Ty HujR}E Rl HAL)
oA 1 HAFH & HY L AY EoF 5609
ofutE A ZA|Y 1 200649 5€ 17¢
17 B F3(G3470 Hol ZA)

@ Solution

1. AZo] 2~3¢ oyl Hrpal FeB= 104
2549 E= 260 AAE Aol

2.4%F9 EAolza 2= Product
Features @52 Holof gt} Fof 74, 271
A =3, A ABd ALE 7Hs= AE 53
o= =31 9t}

3. Q 1ol HFIA|of R 7|9 Aol 5o Uta?
— Product Features @=°] 29 Providing
2 exciting gamesgtil Ho] glom g 279
Aol =0 A< & 4 AUk

Grammar Check p.87

1. rated
3. wherever

2. reviewed
4. wherever

I

GHEsHA
1. o] F3t= A AHdE I3 ESFolth
2. 1 A2 Benjamin®l o) B]HEokTt

@ Solution

1. 93t= A7 242 S5 17|+ Aol ofy
3 AR E RolmR LFH beFA+
p.p1= &t

2007.1.17 5:15 PM #o]®]46 CMYKZH $

2. A Ax= H|gsh= Ao| oyt H|HE= A
OB R $FE<l TheFAt+pp. B 2t

3~4. oJHE£R, HUEEX] g 9ule B
AFEAF wherever2 UeRHTEH

Grammar Focus
Example

1. which — where

p.88

2. the way how — the way (= how)

CREELE
o 30] 77} Ak olet,

2. omol a7} ol FHE S el

@®!Solution

1. This is the house.2} He lives in it.©] &A%
B9 2 the houseE AJPAIZ dh= TA R
At whereg A oF gt}

2. BAFA howe A3AL the wayt A &
= glod, & F shudt Aok gttt

=

Let’s Try P89

1.® 2.®

1

@20 217l
The real estate business in Japan / looked promising /
Y=o B4 M2 Yol Eot EAct
until 1990 / when the bubble suddenly burst off. //
1990E=7Xl= AHZ0| LA| BHAM HEHE o
The prices of houses and apartments / decreased / by
JHQl ZREHt OHIFE 24O StEh3ic
50% or more. // This drove / many financial compa-

50% 22 1 0l¢ O|A2 SORIT B2 =8 SMS /HEES

o
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nies and families / to bankruptcy. / This is why /
ooz 0]0] ~gt 0|F0[Ct

young Japanese people / do not try / to buy their

29| 20|50 o Ol =25tx| p=rt

[E=jymm

own houses any more.
s Ee Al

MY

CREEAM

* The prices ~ decreased by 50% or more. : by
£ 0 o Eor Yre xjolg vehuict,
ex. increase by 10% (10% 7}stch)

* young Japanese people do not try to buy ~ :
"try +toRBALE ~FHEa kgsicy o ou]
oltt. try Foll FEAE &1 T ~3f Hof
o] o] k.
ex. She tried writing in pencil.

Ove dE= I A 2t

@M 250 A
U] HEA AL 1 A Eo] ZA] HA ¥

1990?_1577}%1% o] Fof Bt 7Hel FH

3} obhE gho] 50% && L ol4F sherh, ol
o g T8 ANEW PYES TARES 3
o} olzle] YR FLolBe] § o4 A4S
A& AL 3R] = olfrolth.
@ Solution

(A) © ol ATt YEtl= AP teBa s A

8 A whicht A #AF wheno| 2% &

4 ey, which7h @8¥ 1 of = o

AAE o AZHE YErY= AXAE in©]

ofof gt wakA RIFbol= AlZHE UE
+ #A A wheno] &gttt

' This= $HE49] @2 AHE9] ik 7

712, H7F A2 &2 F20l=0] A

(B)

e AR o dthes WEoR, vt

235 Uit & 4 ok gebA Rt
o= Y¢S Yetd= TAFA why 7t ¢
7}of et

4 2007.1.17 5:15 PM  ®°]X47 CMYKZHY $

2
@0l ¢i7|

In 2006, / the Korean won / rose around 3.5% /
200630 st=9| Jst= o 3.5% &5t

against the American dollar. / This means / that for
o] =2{3to] HishA 0|A2 2ojgfct

the same Korean goods, / the US customers have to /
@2 o= AE0ll CHahAf 0|2 AH|XIS2 ~ofiof oot

pay more, / so less people / buy them. // This is the
CIS 0| XIZfch J2hM o M2 AfZo] ORSS Mt 0[A0]

reason / why Korean companies / worry about / the
~3 o|Ro0ICt et= 7|¥S0| ~0f ol A3tk

O =
strong won. // A stronger won to the dollar / has
B3t 2 E2{stol thet #st ZM=

emerged / as one of the biggest threats / to the
LIEHRC Mg 2 AY & stz

nation’s long-awaited economic recovery. //
=7te| RS 7icta H ZH =50l el

However, / this strong won has / its merits. // For

gLt o &zt ZMl= 7HEic yEs=
example / with its strong won, / we can import /
o et ZM= Fele s & UL

oils, raw materials, grains, gas, etc. / at lower prices. //

MG, BRI, S8, 7tA S2 2 7HAof

Everything has / good and bad sides.
ZE Y2 UK &2 ot LE EE

OTEEN
» This means that ~ : that 5AF mean2] 23
ol o1 WAL A2ko] 7hs3ltt,
* This is the reason why many Korean com-
ol%

7V

panies worry about the strong won. :
£ Yetl= A4} the reason Aol
st

A stronger won to the dollar has emerged

as one of the biggest threats ~ : "one of
the+ HA4F+25 BALE 7hg ~3 2 3¢

sy ke ejmlolot,

O HE 5] A
20064l Te] sk ) Gelstel] s of
3.5% ASHT, Ol AE ZE W AR YA,
LR
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el 2RSS HE W2 e AFoF s,
mEhA o H2 ARgEe] = AES At AS
ofujgttt, o]Zo] B = 7|YEe] Hst A
of disiM AAsk= olfroltt. st gt
o} Al ol L35 710 S A 35
o digt 7 2 99 $ SR YEbgTh 19
u, old 3} AA= FHEC] A dE =49,
A3}t FA = SEe A, 9, S=, e T
< 9 22 7HF0l 4 = ok ZE delle
F2 Ui Y& 9ol Ql= Aol

@®Solution
AL ol 5 UEHH= the reasonol22 &
AF-AL why7F S017FoF i},

ox
o
ye
ol
=
ot

2007.1.17 5:15 PM #o]%]48 CMYKZH $

ArO[2F Or8lEt ads
I 5t oo Rl TE 25
Reading Skill
Example p-94
o EZ
@20 27|

The number of polar bears / is falling / because of

g2azo| £x}7} E0{S1 At X7 24t

global warming. / Environmentalists say / that the
= ol SHEXS2 Yoot 3 KXt

number / will drop / by 30 percent / in the next 50
Ho{& Zolct 30MME HE o2 50 Lo

years. / With efforts by all, / however, / our polar

2EFo Loz SEX|2E 2l 25

bears / can be saved. // It must become / the duty of

Zse T 4 ot S ~olojof it 2R o

[ =R
everyone, / not of environmentalists / alone.

HEEXEQ 9Tt ot EXee

®TEEXM

* The number of polar bears is falling : "the
number of + 55 HAhLE ~9 & gh= on|
2 o FHFstet vhd) Ta number of + &
AL B~ L oulste], B4 A

« Our polar bears can be saved : Z5A7} Q)
t B 450 (25 +be+p.p R ek
fulas

It must become the duty of everyone :
mustis ~aflof S S Fom YR E 4t

RS AT

A7 edst Qs B3Ee) 247 5L 9

AAEASL oz 509 Yol T %27} 30
A= ol Fojetn At SAW, =
om 92l BIFSS P 4 Ak 1
£A15 o] oby mEo] ofRojof Firt
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@ Solution
A7 LuEE A% B3Igo 2L sH,
87 B2 A dAEot

p.95

@20l 27|
Do you eat / both plants and meat? / Then / you're
o2 Hert Mgt U|1E & o JZCHH o222
an omnivore. / An omnivore is an animal / that eats /

Al S=o|t A SE2 S0l He=

both plants and animals. / Bears are omnivores. //

=

AEntsE S =0| T4l S=o|ct

HT o=

They eat berries, / and they eat small animals / like

Js2 MYe Hett J2ln 82 &2 322 YHert
fish.

=07 g2

Animals / that eat only plants / are called herbi-

S=2 AlE HE =4 S20[2tn =2t

vores. // Some human beings / choose to / eat only
LR AIHE2 AEHBICE AlEE

plants / and no meat. / Many animals, / such as

oiect  J2\m mUke o Bert B2 S22

=21
cows and horses, / eat only plants. / Even huge ele-
Aot & Z2 AlEE H=rh AXI0f AcHEt =Z712]

phants / eat only leaves, fruits, and grasses.
B PN L LIRS, ot J2|m S0 Hert

On the other hand, / some animals eat meat / most
HHHO|| U SES2 1I|E Hert
of all. / Can you think of any? // Lions and tigers, /
e Mtk= 20| U=t ARXteL 30|

sharks and snakes / eat meat. / They / are called car-

Hojep W2 718 Herth 252 |4 S=0)2kn

nivores. // A carnivore eats / animal flesh.

=20t SE2

o [ o
A SE2 Helt SS9 HE

MY

®REEAM
* Do you eat both plants and meat? : "both

Aand B, A¢tB & t+
* Animals that eat only plants are called her-

bivores. : that> A3AF animalsE 43k
2 TA g g Areltt,

@R A

AT AEd 7€ & o Hue? 230y
odglE2 F4 FEdddh FA F=& A
= & O He sEdUH. 5ol B4 sEUY
o T2 AYS Hy By L FL FER
HEUth

AET Hie FE2 24 FEOgT EHUL
AR AFEL A BT H 17)E Yz @2 A
HPA e, a0t T T2 B2 FESS AET Y
SUth Ao ARt Z7gRAE i,
d, 283 9 Yyt

gbde], ofd FE52 diE 7€ Hesyoh
AU 50| Quba? ARRtel Fato] Atolet
B 1718 HeUh o]d 5252 84 &
olgtr E-UY §4 FE2 FEY A4S He
Ytk

@®Solution
Aol Tt BB WA BB 24 52 84

Tll‘
e Al 7R FEEe A9kl e =0t

p.96

PIRLEIRE - & T i

@®E0 7]
A lot of animals, / such as / dolphins, whales, goril-
B2 5250| ~oh 22 sael, me, nat,

las and wild elephants, / are now in danger / of
Jz2|z ofM T2 XZ Aol xalf Ack

extinction. / Extinctions can result / from natural

= =0 Lt A
R =52 Yoje 4 Utk Rfetiol

=20 —
causes. // Dinosaurs, / for example, / became extinct /

goloz  ZEL CER= ]
A% 2 4

o
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50

millions of years ago, / before humans appeared / on
SEEk = o Q1ZH0| LIEtLEZ|

the earth. / But most extinctions / are now caused /
X|Lof| SHX|TH CHERS BE2 Xg Yofitn ot

by humans. // Scientists today / are worried / about
21zl 2faf esd WEixE2 Zgstct 20
the rate / at which extinctions are taking place. //
CHsh 230] LojLtn U=

Our planet / is now losing / about three species / a

S8l gye N3 Ym Ut o 33S

day. // Unless we control / the fishing, hunting, and
StROf 2t 2|7t ZESHK| Y=CtH o=, A, 12|
land development, / many animals and plants / on
EX| JHgS B2 S=ot A=S0|

LT o=

the earth / will disappear.
X0l A= ARZEX|A & ZRolct

®TEEA

* Extinctions can result from natural causes. :
"result from > (o1® AL ~ol4 7]1st
ot o] omE Fof lo] &= ¥, result
inj2 (@ 23 ~o2 Futy g U2 F
o 237t &0t

* the rate at which extinctions are taking
place : "at the rate of (~9] £E2, H|ER), 9|
FHo|A HZo] rate ¥olle EE AXA} ato]
=, wEbA A RGA 2 HA AR} ato]
BAHEAE ol 2t

« Our planet is ~ three species a day. : a= "~
Tkt (=per)’ 9] 2ju|& 2o},

* Unless we control the fishing, ~ : unless=
‘~3h2] o o Lo & jf ~ noto 2ju|ot},

(3
r3
Fo
o
1%

£
K
)

, et oA 37)E o

HBF| Aol A Aok EF2 A

o2 doj|E gtk oE B, F

Zrol Aol ez 24l et d Ao
™

9
)
o ol

ol R Mo
(o

oore & oan K

ro, 2

S~
=

2007.1.17 5:15 PM  #o]X]50 CMYKZH $

o o 35 AT

olek, $-el7t o3,

EX) e 245 ghevhd, A
Ao e 8T ABo] AHAIA) | Aol

@®Solution
1 AT B4 EY o
222, 2 opAjst By Sel7} ok & 4
o A= At
2. Q t AFlA 3HRo B Fo] ARFAAL ItR?
— Our planet is now losing about three
species a day. & &3l oF 3F°] AFFAILL Q&

o] S
=g+ gt

i L_':'H{-‘I-'iIE 1)
1.@ 2.3 A,
7] %-off ¥}

@20 g1

According to / the report by NASA, / 2005 was the
~0l| m=H NASAS| 1 20052 7+
hottest year. / NASA also found / that it was unusu-
G2 si%ct NASAE E&H dopict fHs| ot

ally hot / in the Arctic. / Over the past 30 years, /

=301M x|t 307
the Earth’s temperature / has increased / by 0.6
X7ef 7122 &3 HM 0.6
degrees Celsius. // Over the past 100 years, /
X[ 100E 7t

however, / it’s 0.8 degrees Celsius.
StX[ZH AM 0.8=0]Ct

Scientists say / that the Earth’s temperature / could

WERE: ettt xj7e 7120

rise / 3 to 5 degrees Celsius / within the next centu-

458 = ot HM 3~5=  CHZ 7| 2ol

ry. // Over the next 100 years, / global warming / is

Yoz 1008 ¢ R

expected to / raise ocean levels, / make storms

~g Az olyErnt sirHE dSAZD 232 o Yot U=t

stronger, / spread disease / and change climate
2SS o J2|3 7|2 HE HEtAZICH

zones.
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MY

CREEA
* the Earth’s temperature has increased by
0.6 degrees Celsius. @ A7+ 2=7} AR H
A7HA AL Al =S deEtde A
g8 FEOIY. bye A& AolE UEU=
A2 ~HE o] Kol
* global warming is expected to raise ocean
levels : "be expected to, ~& ALE A=t

RS BS)

NASA®] Hio] M2 200592 7H o2 3
Ath NASAE E3F EFo] $U3] gYtt= Ax
gobyitt, A 30dzt, A9 7122 HH 0.6
= Aok AT A 10097 st 22
Ax) 0.8x0]t},

HEAEL A9 7]20] th5 Al7] Qtell A
3~5% A5 £k Joka gtk o E 1009
B, A 233t S A l
< o ZstA sh, AHS HEe
3 AL 2 oidr

—IT

@!Solution
1. 7 HA £99 WE= T3l A+ 238k
S &7 8l & 29 & 5 Sk
2. QAT 2P A= F9FE FAJA7ER?
— mpA9k B4 global warming is expected

to ~ ol5tef Lok ik, F, A7 2SR s

511—’?—“401 &L, EEO] ol ZefAe, A4
< HEYL 7|SHE WA 7|A 2 Aol
Wigew B £ ENG i) 6kl p:23
1. @ 2. 4% FAPL =2 937 o
] 3. China, health problems

@20 g7]

April is the season / of blooming flowers. // The

482 AHolct e

ll'zOl
<=

weather / may not / be as warm as May, / but it is

M= ~0| OFX|= ZEC} 5T m=sict  shx|gt

still good / for picnics. / Watch out, / though, / for

JdeiE &0t US0IE shrlol FAlskzt SHx|gk

the weather forecast / before planning your week-

ELNCIEES oS A&st| ol

end. // Korea usually / gets hit / by yellow dust
=2 BHE EtZS Y=t At HX| Hiof ofsh

storms / in April. / The dust comes / from China. //
40 1 HxlE 20 Rl

The dust carries / sand and pollutants. // It can make /

3 BiXls Hof LIECH 2ot RESEE a2 e+ ot

people ill. / The following is / about how to protect
AMHES otz o32 ~olct S ESsts YHol et
yourself / from yellow dust. /

EAF HA|ZRE

1. Cut down on / outdoor activities.

E0{2t ofe| 52
2. If you have to go out, / wear / a mask, a cap, sun-
QEZ sHopgh StotH Mzt OfAZ =X}

glasses / and a long-sleeved shirt.

Md3atA J2io 2l A R

3. Upon returning home, / wash your hands / and
ol SOtXatxt &5 Aof2t agln

brush your teeth.

YR|HE st

4. Drink / enough water.
orMet S22 22

5. Do not open / windows and doors.

x| ofat Y2 22
CEELY

* The weather may not be as warm as May :
may not ~°] oFgA| = REH 2= ou|=
FAY &5 & Uedh Tas+F8AHE
A +as,= &5 HATESE ]F 9]
oJmjolt}, o] A oll= noto] YleB=E 5k
T SR b, & sdET o = 9y
i

* how to protect yourself from yellow dust :
"how to+EAFAE S ~dhe B olg= 9
ajo]al, Tprotect A from By BEFE AE
B3ty 2he oulo|tt,

‘
~UHE -

o
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* Upon returning home, wash your hands
and brush your teeth. : "upon +-ing,= ~
shAtEkAY 2= ou|E| Tas soon as+F0]+%
AL E BHY & 5 AT
=As soon as you return home, ~.

@ TEa A
442 Fo| whdstE Aot dXd = sEvtE
OSSHA] GARE, T = Y-S0l € slole 2

o]}, SiAT Fu AYsly]) Mol BH on
2 ZAslel B BE 490] FAL WA it
old) BAL dith I WAL RN o6, =
ot L ABAE Alo] YTk DAL ARES of

ZA vhE o= Qv o2 AL IR 25 E o
S B o Qe ol wgt Aol
1. o] &5 =t
2. &< Sfjoput ehd, mpA= w2} Akl
a3 an) 22 doft
3. Aol SoteAmrt, &5 Al GRS szt
L= w0 nhA =
5. &2 2= €A vkt
@ Solution
1. oF9] &5 £0]3, mpAIY BA F& 20
QEst= A, A7 &5 A FAEAS dt=
A, FEY 49 E5 e A, At 25
A ge A T2 2T FAbol tiA sk U
ojlBz o] 22 A A WHE 278 9
& 2ds &+ o
2. }FE Korea usually gets hit by yellow

dust storms in April.oll 7L ©|F7} A= o]
Utk &, 4¥oll= AL =2 HA7] "2
oltt,

3. (314) B A= T=0lAM o, B2 A3

o BAlE o 4 gtk
— The dust comes from China., It can
make people ill.& F8 At HA= S5
A eu B2 A7 BAE 4o 5 o

] s
L Ae g5

o
iau
=)
ol
=
ot

Grammar Check P99

2. how to
4. from

1. as, as
3. hearing

@ Solution
1. Tas+ FSAHFAH +as, 55 HRLTE :
= .35
2. "Thow to+EAHE R, 1 ~3H= U
3. "upon +-ing, : ~8FAHERE
4. "protect A from B, : BEHE| A H 3 5}}

Rl T -hrko v [2HET p.100

1.® 2. 7FFo2 Qg ZEo| wWakAl
3.0

@20 g1
The Amazon rain forest is / the world’s largest
ototE o 282 ~olct MAA 7+ E2 obd X
wilderness area. / More than / 11 million people /
~0lY 1,1002+ ¥
live / in the area. / Now, / however, / the Amazon
AMCE o XS0 WNE Stx|gt  ototE i 22
rain forest / is in danger / because of / a severe
ol Mall At ~mZ0 =48t 7tE
drought. / The people in the area / are suffering /
0l X|&el AltE2 uSs gu Aot
from disease and hunger. / “We can’t live / like this” /
2ga uze= 22ls & = gl olFA
says a farmer. / “If this goes on, / we won't be able

o SRE LT o HF0 AL HE 2= ~E S+ QS

to / live here / anymore.”
Zi0[Ct Of=0i &t Of O]y

The drought / has dried up rivers. // It's getting hard /

E2 =S 0l2A ot ASOIX|T ATt

o
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to grow crops. // The fishing / and live stock farming / AT o, wEkA, 2 E17|7F A w4
SHES SOl A s RREs Hi A4l 2 AFES 048 BE vhAA F
are also getting impossible. / To make it worse, / the ot
8t E7ksehR|IL ACk dertgez e
drought / has caused diseases / like typhoid fever, @ golution

AHHZ FUHCH RE|ZEA S22t 1. oluf2 o) ool Azkst 7S Hystn
cholera and malaria. / The rivers / are being conta- ’ = = = =°
werelop 22 220] eeig gt (explain) 3l= 2°ltt,
minated. // Therefore, / dead fish / are often found / 2. &&= 7%= Z°] dESoiA 1L, HAlet 55

TEIYY Z=2 BUI|7} XF LHEC) AE E3} E7lSE1A A @ oH’Tt HFZ QFEAF
and even some people died / from drinking / conta- of Ul 9itt =& 71Eo| ZHEL utE4 37|
J2|n fXo] FE ARHES2 FAC 0tHM o 2o},
glérgt;d_ water. 3. B4 7HeS olmtE AFES A¥y) wjnE

oz 1% WA ek,
S — A HA £9] the Amazon rain forest is
- in danger because of a severe drought.®ll
*the Amazon rain forest is in danger olufE AlgtSo] AWy} wjuZTog TE W=
because of a severe drought. : "because 0] 97} 7}= wjolal= AHo] Lhet glth,
of +BAhE ~uR B oulz olf &
Uehie, Fell 7t 2t} ¥ because T  @2EHI
ol o]+ EA}, 9] Ho] 2}, 1. @ #2317 gl
« It’s getting hard to grow crops. : get (~ @ E%317] Yl
o HHi=) HoF, (~3t7]ol) ol=tt 9 <ofu| ® #@Arst7] Slsl
2, o]l becomelE HHY W= TS oJu|7} @ zdi5t7] Y3l
g}, 1t 71501, to grow7} ZFojo|tt, 3.0 @ gl ¢ @7 ® %=
* The rivers are being contaminated. : "be
EAt+being +p.p.a TELE, FEH WY
o] ou|7} ezl & 5ot
CRSEETE p.101
il drh £8e AAGA A e oy Moy Orammar Check
oIt} 1,100% @ ool o] Aelef ket spxur | 1 setting - 2. made
A3 obihe Qo) A FAT A8 HEe gy | S from 4. make
of As At o] AY AHEES AW wjE
2 RES W3 Yk "9 oA A S glo)  @HEHA
Q. ol Aol A HY, Ll o ol o] 3. L =T ofole FHORE 1 Tl gt
o A 4= ¢l AUtk g § HRE Wit 4. FEE =0 3= gt VMo R, ¢g
Hge 2ES A A HES ASE A & AE g
o] YEOIAT St WA BEYE E3 B}
o 2 @ Solution

(~] JH =) =

1. "get+3&Ah ¢
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2. "be5At+being +p.p.s : S=EE F3e 9
0|7} H7bE A3 5
3. Tsuffer from, : ~2.2 1% it}

4. "to make it worse, : Ao 2

Grammar Focus

Example p-102
1. more 2. most 3. much 4.as
@251 A
1. =2 SR 940 ¢ gt
2. % 2Ao|| wEH, I QSo] AlAtelA 7t
B A 2sn R UFolct
3. eispado] WapARTt Slofo] A T 4ol gr,

4. 1= JNNHE Fsith

@ Solution
1. 'more ~ than ...; : -2t} o ~3%t
2. AT FE8A+ -est / most+FEA
3. H] & 7= even, much, still, far (&)
4. Tas+F-E&AHFEAH +asy  ~THF -3
Let’s Try p-103

1. @ more white and more brilliant
— whiter and more brilliant

2.0

1
@20 2171

When you take photos / yourself, / be careful / with

Arig mg o 3 N7 et

lighting conditions. // Bright light / makes / your

o o
EScE S %2 12 ket gl

face / look / more delicate and smaller. / On the
=2 HO|IZE o dAMet of 2 gHHO

o
iau
=)
ol
=
ot
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other hand, / your face / looks / more white and
Aol d=2 Helrt o ot¥m of gLt

more brilliant / in photos / taken in the dark.

APElof A £2 RolA w3

MY

CEETPY
* Bright light makes your face look more
delicate and smaller. : "make + 53]+ %
FAAL 2~ oA wET ke ol
e your face looks whiter and more brilliant
in photos taken in the dark. : taken ¥ell=
"2 A NEA+bes At which are”t A=k
=0} glom IAEA} taken©| photosE 4]
L=

O T 25 A

ARE A He o), 2 s A7 Ae

< g gale] dFg o AAstT o 2 Bol
. RBHAo) FAle A o T 3o

@ Solution
® : white? H]2gF more white7} oyt
whitero|tt,
A= El
@ : yourself= Z|H, 222 g 9u|9 A
g Afo| T},
® : "be careful with, ~& &3t}
® : delicate®] H]2F — more delicate
small®] B]2g - smaller
® : taken ¥oll+= which are7} A= o qlch,
2
@30 27|

Have you ever wondered / why take-out food is /
ol 8t 2ol A=t of EI0]Z0tR S4l0] ~I7t
usually cheaper / than eating / at a restaurant? // For

HE ©f mct He AL Aol A
example, / drinks sold / at take-out coffee shops /
g = Y2l= S2+= HOIZO0MR 71| ZHA0IM

=S T T

o
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are cheaper / than those sold / at cafes. / Some pizza BALA &8 9] oA A}o|t}
o Mt gz REC Ftooll A OfE mX}
shops / offer / a 10 to 20 percent discount / on pizza/ @ZEsH4
VIS ISR I0m20tAS BEE el o Hlolzols S4j0] Aol Wi Zuct B
if you don’t eat / at the restaurant. o = =
] AX 23 3k Ho] Q=T g= & o
2t GAO0| HX| 4=CHEH THAlO A 1 I =l ] } Oﬂ =°l, Hel
ok A3 ZHAA T < ZHl oA =}

The reason for this / is simple. / A take-out place / is
018l olR= ZHErsic El0|20t= 7HilE

often smaller / than a regular restaurant, / so / the
&% o = LRl AR w2t
rent is cheaper. / In addition, / a smaller store / has
Yozt o M Aot o 22 JHle

fewer servers, / so / the owner / does not have to /
ZYE0| o Mok w2t
spend much / on personnel costs. / So / next time /
ol XI&stct  Qlzdd|of kM chEofl ~E M=
you want to eat a pizza, / take it out / and eat at
XS 9o 20k Elo|=0tRS skt a22|1 HolM
home! // You can spend / the rest of the money / to
Hojzk oEE2 & 4 UM g2 =2

buy ice cream!
otojAFES AL7| sl

7<O|O

zole ~3 ™o} it

MY

CEE-TRS

* Have you ever wondered ~? : "Have you

ever+p.p. ~7,& ~3 & ol 8?7 2=
duz Y < gL Bdoltt,
* drinks sold at take-out coffee shops are

cheaper than those sold at cafes : sold+
drinksE 43t= #ARALR 9ol which are
7} A2FE] o] 9t} those: drinksE BHe A4
g Akl o,

* the owner does not have to spend : 'don’t
have to+&AHEE, ~& 271 itk (=need
not)

* take it out and eat at home! : "BAHFAL,

o olojFAtell A 2ol gAY BS

=] =4

A BARSE BAY Aolol] £t} © WA B
o T BARSl RAL Ao] Ei B HoE &
4 9t

* You can spend the rest of the money to

buy ice cream! : to buyt E& & UEtd=

%ifidﬁRM:ﬂﬁﬂﬂ7Mk7MM
YRS HA| gfow 9z} 714 9] 10~20HAE
gelsf =t

ojA ¢ o
Ql8}A 0]

2w

O -

fre e HolAokk THE %

Mg | A se gaes o

o ot > e

=

Aoy, AL, o #e el 4ol o 4
9.t Fae dave] £2 wol % Bt
QA Bk 22y theel] WAt W Ae wk

HlolZobalq WA Hojeh de £ ofolx
29 A7) $I8) & 4 T

@ Solution
®: G T 2F2 T2 7He T4l
ZolA 7HA Flo] dAv|Y =& Wol &
a7t gty = ou|7t =ojof gt} whbA
moreE T A& 9 9u|Ql fewer= Ao}

Sl

o



e (Level 3)-2XWFA  2007.1.17 5:15 PM  #o|X56 CMYKZY $

E op71= IATE A

Reading Skill

Example
3=

p.108

@20 ¢i7]

I tiptoed / into the room. // I should not / make any
L= d343 Z0M SO Yoz L= ~siME ¢ =t

sound. // I can’t see / very well. / Oh, my goodness! //
225 UL L= & 7t glot ofF & S, Mol

I almost dropped / a vase / from the table. // I should /
Lhs 719 Ho{w2 #3ict 2HS B0|S20M L= ~3of St

be careful.

Zpstct
OAEEHN
* I should not make any sound. : should+=

~afjof gtk e O & UEle 2FAM]
o}, "not ~ any = no¥] &ujo|t},

2 47} ek, ot ANl ¢ A
WS Wojmd Wy z4shof

@ Solution
AHAT W ¢ollA S71A] 271 Y8 TEAE &
AZAF Aol A 29E gol=dy

TR R EH7IE =2 5 A4

2K

: 109
Let’s Try .

@

A 2 A

@0 ¢i7]
The house was dark. // “It’s strange. / Where is
2 oFR 0[5t =F o
everybody?” // I thought / at least / Minho would be /
UR| Lis 23 o RisE U 72t

at home. // I felt / tired and lonely. / “Where are
ol Lis 20k XX Ette oket ot

mom and dad? // It’s already / past six.” / I came
oiC| A HA ~o|ct BAIZE X U= SO0t

back / late / because there was / a group project. // 1
o =A ~7F AT Wl g sHM7t

turn the key around / in the lock / and open the
L= E4E S0t ItE4 oM J2|m 22 At

= =2

door. // Inside is very dark. / I turn on the light. //
of2 ot ofFCt L= 25 Act

“Surprisel!!!” / “Happy birthday!!!” // I see / my broth-

ey Y =stol L= 20 W 34,

er, mom, dad, and all my friends. / Oh, even the
Hof, ot 12| W 2E RFSS Of, MX|of wt=2

very ones / who just said / good bye / to me!
JojEE w2 U ergojztn LA

=2 M

CTEEA

* I thought (that) at least Minho would be
at home. : I thought ¥ BAHEE o]Il=
&AL thato] A=FE o] Sl

* I turn on the light. @ "SAH+FAL Q] o] FA}
o] Z2 0|7} gAY 7% SAR} FAF Abolof 2
71% shal AR thgoll £7]% gt &) turn
the light on°]2tal N Hct o F& o7} o
PAFH HEEA] FARRE FAL Afolo] 2t}
ex. turn it on (O)

turn on it (X)

* Oh, (I see) even the very ones who just
said good bye to me! : SHEol|A HHEE=
I see7t AFE £40°lth the very= BA
onesE FXst= o]FE HIE I'd ko= 3
A%ttt whoe 2 TANEAR onesE 5

g,

(R

s
AL of ek, ‘oAb, B oft] X7 L

Ao

o
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Aol = ol & A A4, U=
AR Fohal =R, "Hute} ofk= ojt A
A2 - 6AI7E A= Ue 25 =A17F 3
7] W2l Aol =A ek ve A= oA
dHE =9 £ Aok &2 ofFF ofFHh U=
=2 Aok ERANT LSSl ve Ul
A, Aok, obmE I Y BE TEE 2
ot oF, AAlo] Wra ehgelzhal WA THE ==
1 NS

@Solution
Aol Mol olFE gl Ao} 9
%2 (lonely) “AAE, 71553 1757 9)
T AL oA H9e o YRS (happy) =2
= Aol

W3
@ FEE — Lrheshe
@ A Fg — FE3t

Let’s Read
WML 3 D arRer
1. ® 2. The indexing service (in
Windows Vista).

p.110

®Zol 87|
Oh, my goodness, / Michael! / My computer / starts
2, Mol Michael U ZFET} A7

to stink. // It smells like / something is being roast-
LE7| AJZRRHCH O2 ~Z22 "MZF Hoh B2 R A=

ed. // This stupid indexing service / in Windows
O HIE Z2 QUEA MH[ATL =P H|AER

Vista / runs all the time at 100% CPU. // It’s been
&4 CPUE Cf EotHo| Xlg A

2007.1.17 5:15 PM #o]X]57 CMYKZH $

now 3 hours / that this dumb indexes stuff / is mess-
Wt 0l HiE Z2 Q™A F0| W dREHE
ing up my computer. / Programming, working, or
YR 1 ATt Z2OME ME, LS olE, 82

gaming / is not any fun, / because this program con-
AYE stE Mozt gl 0] T2I20| CPUE Tt Fotx7|

sumes all the CPU! / My laptop / is now very hot. //
= ol U =ES HRFE{7F oM ofF =grt

The keyboard / is very hot. / And my head / is hot, /
XHEO| e =gct  J2ln W el EYc

too! // The problem is / I cannot stop it! / What
A ZHE ~olck L7t 3RS HE a7t glok g
should I do?

aHiof Six|

24

R

* My computer starts to stink. : A} start=
2012 toFEA} FHAE B HE 5 At
It smells like something is being roasted. :
Mt+ 25 AHseem, look, smell 5)+like+
FAhe ~d A Ao, ~AHE Holo, ~Z2
HAZE U 5] on|E 2=t
ex. It smells like popcorn.

(HZ HA7E de)
'be&At+being +p.p..= X3 FFHoltt,
Programming, working, or gaming is not
any fun, : Programming, working, gaming
= Y Fol2 29 FHAIH, FHAL F
old o & FHFSHER FAbis7F Rt

Ao

CRalo B!

2, A&l Michael! W BAFEAA A7 U]
A, AR AL TN Y A B 9
Aok, A= u]AELY] o] HEE ZH QlEl A A]H]
27} B4 CPUS o Fobdol, o] uhx 2 g
2 wo| W AFEE WAL = Al A= 3ATHA
of, ZREIWE A=, 42 dte, T2 A 5t
= A7t glol, gukstd o] =230 CPUE
o ROl AE! W =ER FAFE7t oAl ofF =
AL Awe =xdy g2y Y Wz =AY
A= W7t AA&(@ 22a9E) HE 7t ¢
Th= Aof! oJ 2 A sfjof 5}#]?

ol

ox
o
o
e
ol
B+
>

o
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S WFA

@ Solution
1. 29 olz2u 9715 o dl= A4S UE
= BolES Bol 35S HotEEE It
my goodness, stupid, dumb, messing up,
my head is hot 5 A%l &Ju| 9| ThojSof A
A= 37 Yangry) a2 € 5 AUth
2.Q : HAFH AIE 2dozd AL FAUTt
27
— 4R B4l A This stupid indexing ser-
vice in Windows Vista~2t= E & A
indexing service’l ZAIE ¥doFths A&

& % sk

CEIEYE]
IOR2-5 @ &=
® &7z @ 1u}g)st=
sk 2 :EEE-'-'--‘:--"'. p.111
1. @ 2. 541 7Ido] Al FAIskAL AR
S stea A7) A 20T AR 7 aste
A 7] Sl
@20 7]

Most of us / use Windows program / as the operat-

2 HEE2 HERZx Z2IUS MEHHT 28 JA=Z

T

ing system / for our computers.
22| HREIE sl

// In many
B2 Lzl M

countries, / Microsoft / is being sued / because of
OO|Z2ATE A= TASSHD QUCt

their most successful product. / Why? / Monopoly. /

=9 7Y g3He ME w20 AL =3

Many governments prohibit / monopoly / by law. //

mo MHES O ==y k=1
i ==]

He YRES2 SR oz

This is to prevent / those monopoly companies /

0|2 27| flsiMolct =H 7I¥S0l

from controlling the market / and forcing / people /
AgE SHlsle A22RE J2|1 ZQshs A2ZRE AFS0|

o
iau
=)
ol
=
ot
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to buy only their goods. // Some software companies /
7| 2lA E2dtE MES of ATEQ0] FAE2

complain / that because the Windows program
=gt =2 Z2IHO| EAIE7| W20

comes out / with an Internet searching program /
QIES HM m2 a8

and a movie player, / they lose the opportunities /
SYY WY Z230 A OS2 V(=8 HoiH i

to sell theirs / in the market. / However, / Microsoft
59 T2 IUMS T AIE|A SFX|2H OIO|AZAZE A=

says / otherwise.
EfUENE =Y

OEEEAN

* Microsoft is being sued : Wto] 2R A AL}

A3 A D8 G5 SIS Sjols) U
olty, 1Y +FH+= "beFAt+being+
FEH = &

* Some software companies complain / that
because Windows program comes out with
an Internet searching program and a
movie player, / they lose the opportunities
to sell theirs in the market. : that ©]3}7} &
T+ B3t Wgolth that olste] £42 o
Al 4 F5AT becauseE AAEE FHI F
%42 vdrh. they lose ©lst7} FHo|1
because °]5t7} F&H ot

* they lose the opportunities to sell theirs in the
market. : to sell°] $2] A} the opportuni-
tiesE 248h= B84 &9 to g Atel Tt

S

CRalor B!

2 i
§ Az

ZE A=

Ao
ol

AREE 93 A= Z2IYL
AT Qe @2 uetelA] mlo]
259 71 AEAL AE QE
Fotal Qlet. HAd7? 53 wiZoloh w2
Yoz EHe FAuL) ok B4 7|
o] AJAE BRI AFEEo| A7) IAF EA
=& ZFasts AL 9] AsiAoltt o
gol BAEL =S 2 TWo| QIF
T2 9 S94 A4 T2IWY I

rlo

A

o 2 [ fo Ho
HU

tlo —lu:

>~

R=Sye)}
=1

b
Im

i

T E o2

o
=

o
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SAIE7] figol, 59 Z2IWS AFA &
Wi 7135 doiwcty ERgct shA|RE, Bt
O|ARATE At thE A Wi},

@ Solution
1. 0] 22 B9 Bxe] 2L el gojt
A8 g AR st glom vlojaz
1=

T AHEEhL Qe BR FYAo|T & 4

3.Q Y g2 AFs0] 5HE sAsHR?
— This is to prevent those monopoly
companies from controlling the market
and forcing people to buy only their
goods.oll 2714 o|f7F AHEo ok &, =
A 7ol Ade EAIsk =4 719 edw
AER = AS 7] Aol

Eriar@t N
1.® 2. 21x 39, 229 W, A& 7tE
3. T-money, ride a bus

®z0f 27|
We are accustomed to / using paper money and
2ele Asalid U Xm et SHE A&sls Ao
coins. // However, / Information Technology /
J2Lt 2 Jlg2

brought / us / new ways of transaction. / One of
TR L2/0lA M22 A2 YES I & stk ~oltt

od=
them is / electronic money. // It refers to money /
Xt st e =2 gttt
which is exchanged / only electronically. //
wets= (ONESISE=L])
Typically, / this involves / use of computer networks /
HgHoz  O|A=2 ZEfeitt HFE UEYIY AE
and digitally stored value systems. / One example is
J2|7 CXEstEo] Bds 2 AlA—E B 7KK ols
T-money / that you might have used / to ride a bus. //
T-o{Uolct of2fZ0| AERE = U= HAES Ef2{D
Other modes of transaction / with Information

CHE Y| 7l +EHE2 g= 7lee

e —

Technology / include / online banking and debit
=TSt 22te Wt XE JIES
cards. // These are making / paper money / unneces-

O|AS2 1 Atk XWE S

sary. // Some people predict / some day / paper
LR AFHES ollABIC AT

money or coins will be / the things of the past. //

X|HLt STol ~of & Rolct Ao A

Can you imagine / the world without money / we

M2 4dg & U7t =0l gle Med

can touch?

Salst o 4 Qs

®REEN
* We are accustomed to using paper money
and coins. : "be accustomed to+EAHE™
A~k s8R
* It refers to money which is exchanged
only electronically. : which+ moneyE
Aste F4 AN BT =2 L4822 Wg
£ Aol oy} AlrEe] 93l ngE= Aol
o2 SEHE 2500

this involves use of computer networks

and digitally stored value systems. : value
systems= &A% A%shE Zlo] oty A
o o3 AF=HE Aolnz 52 ulE Ay
£ A EA} stored= 45k et

*you might have used to ride a bus. :
‘might have p.p.,= ~°IASAE ZEt) 2
© U= A ARl it oft 5 & UE
Wt

e Aot sdE& ARt b AssiA
C AU AR 712 fEoA AR AR W
= 7. 1 % stue A Solt, A
AR ozt A s SHE 7o A3
Hog of7lde HFH HEHZY AR YA
doteo] Hase g9 A2gs e o
7HA e APl HAE ' I ARRE =
Je T-HYeltt. 02 FH9 FE 7le A +

ox
o
o
e
ol
B+
>

o
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G5e eotel AT 2% FlES R of
g3 ASS AHE T8 gA wEx ok 4%
AREL AA7E ALt FRe] A Aol & A
olgbm ofeigtty. $ej7k ¥l 4 g Eo] gk
Ade A8 =+ ARA=7R

@ Solution

1. RIZE 9o} e-2|7h A H et T o<xaiA et
At HI7E 7Y =2 A o] AT
AL A= HifEEs fgolmg ‘T 2
oJm| 9] 93 o] H<EAF However 7t G5t

2. One of them is electronic money., Other

o e e

modes ~ include online banking and debit
cards.oll et ot =, A shd), 2kl W
7, A& 7IE7E A 2E A7 S,

3. (314) THU= =] HA}F 39 3 71A] 4
olm, $-g= HAE Be o IAZ o8
AT,

— One example is T-money that you
might have used to ride a bus.°ll 1<} ict,

A= El
1. © A @ 1=8E2=
@ A= ® =

Grammar Check p.113

1. rising 2. broken 3. wounded

CREEE P
2.4=1 1
3. 4 g%

@ Solution

1. 'be accustomed to+HAHFTHAH, : ~3t=
o &3 A Tt / rise Yojutth

2. WE7} Rt 93] 1 i AolBE 5
oJuj o] ItAEAT} gyt

[=2]
o
ox,
i)
"
%
e

3. ZAE0] Tkl A3 A B AolBR
=
[¢]

Ju]e] BA LA Leh.

E'-'"'.i." I::"i--l',‘_* E . l'_ll-..,qt_-.l p.114

1.@ 2.® 3.size, ability

@0 ¢l

ENIAC is / the first large-scale, electronic, digital
oiLet2 ~olct z|=2f 7Atigt XX} CIX|E HAFE

computer. / Do you know / why it was designed

OG22 ¥ A=7t 0A0] HAEn ST

and built / in the 1940s? // This was for calculating /
0l7E 1940 cHof 0IA2 AHtstz| HshM Act

‘artillery firing tables’ / for the US army.

HE H=E' E 0l 82 Hst
It was first introduced / on February 14, 1946 / at the
JA2 Mz A= RACH 19464 28 140

University of Pennsylvania. // It cost / almost

HIAH[o[L[ot CHetol M HE0| AUt
$500,000. // Physically, / ENIAC was a monster. // It
7{9| 50T Ha QMo z olL|et2 ml=Z0(dct ane

weighed / about 27 tons, / was roughly 2.4m by
FHE UZkCE o 272 CHEF 2.4mX0.9mXx30me]
0.9m by 30m. // It took up / 167 square meters, / and
=27|Ack JN2 AX|RHC 1678& 0l
consumed / 150 KW of power. // Despite its size, / its
J2|1 ADRHCH 150KWel TS 0|Rel 27|0l= =75t
ability / was too limited / compared to a modern
I 8452 4R Mo AACH o9l HelE HFREH
personal computer. / Nevertheless, / it is considered /
H|SHA J0= =7t aR2 HAZD

as the first computer in the world.

MA 2z HREZ

CEEIS

* Do you know why it was designed and
built in the 1940s? : why ©|3}= know®
EXH YRR RE TYEA+FOI+F
AL 9] ol FHE

« It was roughly 2.4m by 0.9m by 30m. : 7}

o



— ENIACY] Z7] AA|E 2.4m X0.9m X 30m
=2 ojupojulaiA|nt AMg-E AHE 150kwit =
o2 Agsittilthuge) T = k.

3. Gl4]) olyete] 7]+ ddY HFHET &
A o HAAR, 1 s Y& Agky ot

— Despite its size, its ability was too limit-

Sl (Level 3)-2 W54 2007.1.17 5:15 PM  #10]x61 CMYKZH $ AOIZ OHES as
2 AR, ®olE 2 t= 4o N+E byE edolA Z71= FAT 52 ATEHIASS &
Adght, Sl

* Despite its size, ~ : despite= ~ol|l&= E73} )
ek oz, Fo) WAL 4en] in spite oot
ofeh HHE & & gith wrd, Ze gug 2. OHZQWMEOIEO AL
thoughs 50l +§A}, 9] Ho| 2t} @ 27+ A s f\ﬂ@'ﬂ%t}% A&
* it is considered as the first computer in = e SEs 7Y ol
the world. © ofuete] AbgEo] o) Hze @S0 I T oF 5 Hem A2 =
AFEZ Aol X Ho|BE SEe) =, be ol ohi=.
considered& ¢ Z°o|tt, "consider A as B,&=
‘AE BE 97|t} 9 9jmjo|t,
Grammar Check p-115
ST 1.®  2.by, by
ouyere Xx9o At A}, "XE HFHO 3. Despite(E+ In spite of)
o}, o]Ao] 1940 thol AAET TS o] F
T ¢A A= W Sde T BE AER S guogua
Arser s, 1 Mikek 71 2 4170 2W02 oA}, the
oyele 19464 2 14 HAW ol o} Tt 2 ole2 masg
oV A AR, AR wEel A SO, 5 apae 217} 240m x9em x30cmel .
geiny SRS ABEEL, AHNE AT 5 g el wekm, 2 24T Aol
Aot FA= oF 27 €010, e 2.4m X 0.9m
x30m<e A7tk AL 167A41F vE e H&  @Solution
= AABHAIL, 150KWE AHZ 2B oA 1 @ 1 BEL TR+ F0]+ AL, 9 o
o] A7l EtstaL, 1 e A 7elE &2 HsEE why he is2 HHY Aok &
AFE Y Bl Y& AgtElo] it 18 o},
T B, oyt AlA =z AFER o 2 stE AR, 2ol ¥ mi 7zt 48
Az, by2 A&z}
3. "despite + AL, 1 ~oll= E8tAL
@Solution
1. This was for calculating ‘artillery firing
tables’ for the US army.& 53 wAME22
AL E RS & 5 et
2. Q : ENIACOY Het HALRZ 7H &5k A2? Grammar Focus
p.116

Example
Judy asked Cal if he loved her.

@®iSolution
c I AGRo| EEY H$ 3 A3
HAEEA} © said to — asked

ox

o
o
e
%
i

o
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JEZATL §1& H9 HAEAL | if(whether)

OJ RO oA 1 T AN+ F0] +F A},
’ 117
Let’s Try p.11
1.® 2. said to, should hold

1

@20 ¢i7]
I am really angry. / My teacher told me / that she
Lie EE2 37t &oh A8 WA ZEstact
would not forgive me. / How mean / she is! // I
LIS EMstAl SRct GOtLE QMMBE  JlHE ~2UTt

didn’t mean / to do that.
L= Q=&tX| 4QUCH JZ A st2in

M
af

o=

AT

* How mean she is! : "How+ &-&AL+ o]+
ZALE RS yERdT)

-

CRaESY RS

U A2 st ek AAYAA U 8As
A AT Bestge duit AMETH e
e gk Aol oy St

[® Solution

@ : HESIHA N HAELS HAEAL thatle®2 A
A3ttt kA told me that o2 HHY Hof

Kissy
2
@0 2171

Standard CDs have / a diameter of 120mm, / and
BE ZYEC|ATE= 7HEICH 120mm XIES Jg|x

these can hold / approximately 80 minutes of audio. //

IZjE lérg 2 OI|:|. of 80—'?’—°| _oko

Do you know / why the diameter of the CD / was

of2j22 k=7t o BWECIAZO| KIS0]
62 3y % sia

decided / as 120mm? // It was said / that developers
ZHEACH 120mmE2 Lo TIct SHELAZ Q| HLAHS0]
of CDs / visited Herbert von Karajan, / the conduc-
Herbert von KarajanS #=23iCt

tor of the Berlin Philharmonie, / to consult / the
HIE2! stz el XXt R227| 2ol
duration of the newly developing product. / At the
MEA esl= MEQ 202 I 2rEolM
meeting, / Karajan advised them / that the duration
IS0 FSnHCH ME2R ST 7|7

of the new audio device / should hold / a full-length

EfOfoF BTt s =52

Karajan2

2ol
recording / of Beethoven’s 9th symphony. // Thus, /
HIEH O wEk=ol ofo

the diameter of the CD / became 120mm.
ZWEC|AZO| Zo|7} 120mm7t At

P EEN

* Do you know why the diameter of the
CD was decided as 120mm? : 32
PO EAL+BAM+ 20,9 ol Fsht HH Y
2 Y EA+ o+ FAL Y oS FFT
It was said that ~ : 3|7} HF ZojA Fo
Ao Ite 23 FolE £49 A= 2d T
Fo] - ZFo], FEo|t,
Karajan advised them that the duration of
the new audio device should hold a full-

oDmo
L L

length recording of Beethoven’s 9th sym-
phony. : ¥ ®(order,
(advise, recommend), &-(ask, demand,
require, request), A¢Hsuggest, propose) &
9] FAHEE= I FAHEY] BAM oY F-8AHR)
7b thatd& FZ = b= 3, thatEof
should7} &t} w|=4] gojoAl= should7t
AFE I Fo FHE FAE AT 2E 27
= 3t

command), 31

Chan i
EE FHEHAIE= 120mme AEdH], ©]A
oF 8079 TS T& & Utk FYEHLA

9] XE9o] 120mmE ZAE o|&E ol=r? =
ME AT ALRE0] A=A /EE= AFEZ o)
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Ll 3:& m&

olE ALZ7] S HEd TeEY 9 AFA} o

d Herbert von Karajan< WE3th gt g Xom %O] [e)ke]
Thgoll A, Karajan LE|A A

79 dol= HEHS 9 wFro| A
Hotof gtrhal S ofof, FHET
°]7} 120mm7} H .

a9z Reading Warm Up p.121

L)
r2
Ao
=°||='
Iz

@ Solution

23 o] M54t say to°lH, should= ~
sfoF gt 2k o & UElle 2EACIER
shall2 7] ¢k-5of f-9jghet,

u

s

wel ooz Ay
STk @ olo] gu R

_

oL

re

1>

=
=
Sk oft

q o

);
o o}
ol
=L

7

o
N

_

A

02.

g Mo ™ K rlo
wk

Oﬂ lﬂl m\l

1e AT ey, In) 2sh A
A A, 2A0Aa7
o] A AARUT ABE B
ol e, WA sHAI A 22

A
ds W guch @ Ao ol

]_

o flo > o o>

flo ¥ rlo

03.
A

-

A

e
AL AL At Aol A7 g W
AR 7 W9 S ¥ e, 29

=

04.

OX‘J?;"OKLPJLOQMROXLL

0S.

06. HI7h 2= &, GAL 2e AT gyt
A7), 3 B 7 BA B Aun GRS
AU 1 A A AR o Fo] F

07.

06. 419 1%11011*1 HPELIL ég% HE
07. FAIL dZofA &4l = —‘?——E—
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Reading Skill

Example
I think babysitting is an easy job.

p.122

@720 27|
Dear Julia,
Julia®f| 7|

Thanks for agreeing / to take care of Dave / this
Solalil FA ut DaveE =E F= o o[t

Saturday. // I have to go out / and my husband / is
EQUo Li= eiEsforgt sict  J2(u U HHEH2

going to work. / My mother can’t babysit / because
Aol 2 olgolct  Hats otolE S8 Fo 27t glot fLtstH

she’s going hiking. / 1 think / babysitting is / an

stolgs 2 ofgo|7| mIZolct L= Y2feict Ol0|E SE2E 20

easy job. // We appreciate / your help.

~OICt #2 & 2= ZART He =32

GPEEA
» my husband is going to work. : "be going
to+EAAE, S~ Rl g ouj=
77 wlgfe] A tehdit,
* I think babysitting is a hard work. : baby-
sitting> 9] Fo]2 29 FEARO|H

(@ 250 A

Julia®l A,

o|l EQ U9 Daved B4 F
anbe, & QJEsfjopgt st FH-2 A 4 o
FolAE. dute stolFE & A ol7]
oto]& FH A 71 glo].(d ofol & ER= ¢
o] #|& dojzta AZa,) =k A] mkg,

@ Solution

ofo| & EH F7|12 3 JuliaolAl FAMS] T
= HAR, =22 F5HA 2 sl flE o
£ AYste 7h2dl, ofolE EH = ¢

Yolotm et Wk AL B

=

_

%

S

x

rlo
g >
[> Ho

oX il

ArO[2F Or8lEt ad
’ 123
Let’s Try .
®
@z0 27|

According to the federal government, / the third
A YRol 2ot M
Monday / in February / is / officially / Washington’s
ggole 289 olct BAMo=Z  Washington?
Birthday. // It is an official holiday / in the U.S.A. //
e 0] €2 SAIMel solct 0| =0l| A
Washington’s Birthday / has a history / as old / as
Washington2| Aigle GAME 7K Ut 2

our country. // It was celebrated / publicly / for the

eaLRE AR JldEt  BAHoz #goz

first time / in the late 18th century, / while / George
18M|7| =Htof ~&0t0| George

Washington / was still president. / But this holiday /

Washington0|  OF%| CiEH0| AUt SHX|2 0] SFLO|

is now called / “Presidents’ Day,” / in honor of /

old =act tiESdel golztn 7|'gstod

both Presidents Washington and Lincoln, / whose

Washingtonz} Lincoln tHEH 255

birthdays are Feb. 22 and Feb. 12, / respectively. / A

a5 Mol 2% 2297 28 12%0lct 22

number of the states / recognize / Lincoln’s Birthday /

o =O =
B2 F5 QI Ystct

2 FE2 Lincolne| MA=

as a separate legal holiday.

whel HY BEU2H

OEEEA

* Washington’s Birthday has a history as old
as our country. : "as+3EAHFAN +as, 9
5 HLTELR ~uhE -3 9 Sjujojr},

*in honor of both Presidents Washington
and Lincoln : "in honor of ;&= ~& 7|d3st
o', "both A and B = ‘A$+ B & 9 &
ol

* A number of the states recognize Lin-

Ao

coln’s Birthday as a separate legal holiday. :
a number of + 5 PAL= W2 ~ 9 9n]
2 B4 HFE}h recognize A as By AS

B2 Qs ek ojmjolct,

o
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CRSESETIRS the bus / very much. // Each child / was then given /
A Aol oo, 20 4 WA Aade A 0 TV
a corresponding picture. ter school, / the stu-
©2 Washington®] AQelch, o] @& wse) [ ATFRIEIE P S0l sse
T4 Folth. Washington®] Bd2 dents lined up / outside, / clutching their animal
UEttE 2@id QAE A o AL zxof g 4oz as9 58 122 Mk
George Washington©| o} tgZo|d 1841 pictures. // “I like monkeys / better than zebras,” /
7] Zubo] & FAHOoR 7| dEgIT) AN o Hsot Zop  ¥RumC o
o]A] o] ZZ AL oA z+z} 24 22U} 24 12 said one child / to another. / “Want to trade?”
ot ofo|7t 23YCt  CHE ofofoilAl  mEketey
do] AUl Washington¥} Lincoln &% =
T2 Jlgste “HEF Wolt BUL BS  goouy
FE2 1, 1 el e 1y Z L5 0l ol 2
TZ;} 12;;)}31—4 §US B B v * a foolproof plan to help the younger chil-
[e)
° dren find their correct bus : to helpt &)
@ Solution YA plan<s 415k B84 859 to R FA
L ZAlA =X 7
Washington®] A3¥°] Washington¥} Lincoln o]].:}' help~= - _}Qi °4 }% - "OLthe younger
% E}-—%— 7]‘55’]——1‘5 EH%Eg.O,] Lé'i %%%qﬂ ‘:‘—';]_'?3" Chlldl‘en‘l’]oﬂ ‘E]_%‘I‘Xo}\]‘ fll’ld7]‘ M]:]-
L 7424, Lincoln® AL Wrle ¥A T . clutching their animal pictures : clutching
APATHE R O 29 S Nk, = TAREE HHHE SATESR as they
are clutching®| ¢jwjo|t},
* Want to trade? : Do you want to trade?<]
%ol
@ EsHA
Aot o] 93] WA F|AHSL ofelofoSo] A
) 7] MAE HES E=ol57] 98] viEsE & 4
Let’s Read e ore . o
oapa  SE AUE ASA Hsith Sl 5 e
LF . A 1 osdd -' A .

G oA, g A & A BE B2 o Rl s et
1.® 2.He wanted to trade his animal (o}o] 52 H _J_\_o]] 22 78 AL uf$ oy
picture. ) ololE 2jolA @she 28] Folalck

W5} o] BAEE 159 B8 TY A2 o
@20 27| oz 2xo] U, o ST Uo7} o

On the first day / of school, / we bus drivers / came

ol &tu gl 2| HA JIASE2

up with / a foolproof plan / to help / the younger
HMeralct  HiEate =QtF7| 2ish 0{2lotolZ0]

Sk A Ol

ot As A=ES

children / find their correct bus. / We drew pictures /

IS0 §2 HAS R %2 22l 1S 13

of animals, / and put one / in the front window / of
329 J2|n st St o FEF
every bus. / Children liked / to draw animals / on

2E HAQ| ofo|E2 ot  I=& 12l= As

FoL" 7 ofol7} HE otolof A T, "mad
A"

@®iSolution
1. 3HL M2 FAFE0] B8 19e 18 WA e
o B FoEH ojqlofo]Eo] HAE AT A
UV FES TOFL Ygo|nE, ofolo] M
o 19 g+ A okt Wl @= 2
o] B84 o3l

o
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M|E ".:"F_'_"."Hl LE |~ p.125

1.® 2.No

0] 2171

A German exchange student / was staying / with a
HEl AU 7=

family / in the U.S. state / of Illinois. / He was invit-

B S W 0|

al= ZollA EE ] Jd= ZOEdc
ed / to an alcohol-free party. / His host family /
=0| gl= mEfof OEIE FElot= 7HE2

called his parents / in Germany, / asking / that he
a9 REojA Mg Mot SLol| A= S0{EUTH a7t
could attend the party. / “No,” / came the quick

oE|off HAMel= ==XIE otELICH 1 SEO| AT

reply. / They did not want / their son / to attend
OS2 Hatx| et 359 0t=0| OofH TE|M=

any party / where free alcohol / was served.

Mot A2 SM &0 HE=l=
OEEEN
 asking that he could attend the party :
asking= Foidshe] EAREZO|T
e any party where free alcohol was served :
where> &4F Yet= #AFALR any par-
tyE S,

(2
r3
Ao
o
=

J
e
El
ok
o

Aol ml Peieo] o Gl
LAk o] gk s
FH3He S 19 5

o
2
=
(il
=
%0
2
vl
PN ot

3
32
U
)
o
|

[ oo O 2 & N o
i yo e
fr g

RayelA] sk Aol a7} stelo] 4

HeAg Eojmgith rguTh e me

Fol gtk TEL obEo] go] FAE AT
oW Sheol = FHAIsHE 2 A gheieh

66 3% 2 3y
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@ Solution

1. freee ~°| I ozt X3 AL olFhe
e 7 ek vl 7S gl fle
el gt ou|E TR, 59 R =
ZH2Ql WO 2 Kol ‘go] g4l v 2
oFEfE= &+ Utk

2. Q 1 Rt EoiZ Fm o] L Folo|Yua?
— g Y] R of5o] Fo] FARI vt
Elofl 7= A& dskA Ft

—

S FR LTS PR p.126

L@ 2,412 e oA Astar Iz

3.@

@0 ¢l

Sherlock Holmes and Dr. Watson / go on a camping

Sherlock Holmes®?t Watson EfAt= A qAS 2ot

trip. // After a good dinner / and a bottle of wine, /

QA= MY AAE B 2o T2ln ZEF F Y

they go to sleep.

Js2 2 R ¢t

Some hours later, / Holmes wakes up / and asks his

AL = Holmes= 7HO{HCE J2jn #ilst

faithful friend, / “Watson, / look up at the sky / and

A o2t Watson  atsS Eiet agln

tell me / what you see.”

Loi2A 20| 2ol=X]

“I see / millions and millions / of stars, / Holmes,” /
Le BH a4z HES Holmes
replies Watson.

WatsonO| CHESHCH

“And / what do you know / from that?”
J2|n 23S okt 700
Watson thinks / for a minute.

Watson2 HZI5tCh FHA|

“Well, / astronomically, / it tells me / that there are /
= MEeHez a2 Yall FX| Acts A2
millions of galaxies / and potentially / billions of

25t 7| 25147} J8lm AEeE 449 HHel

o
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planets. // Astrologically, / I observe / that the
Aol Hystxog L= =5 =X E40l
Saturn is / in Leo. // Horologically, / I can see / that
~0f UTH ARKEREE[0 AlAIERe R L & 4 Ul
the time is / about a quarter past three. //
AlZtol ~ol2t= RE  THEf 3A 162
Meteorologically, / I suspect / that we will have a
J|YetHez Lh= RSl ofF EM7E 28 Aolzte
beautiful day / tomorrow. // Theologically, / I can
L Metdoz L=
see / that God is all powerful, / and / that we are a
& 4 UAX| MO| 2= HOIM Zsitks A2 2|1 f2(7t 0jofet
small part / of the universe. / What does it tell you, /
Exzts A2 259 a2 HoilAl fAS Lal FL
Holmes?”
Holmes
Holmes is silent / for a moment. / “Watson, / you
Holmes= FS3ACH  FA Watson

idiot!” / he says. // “Someone has stolen / our tent!”

Yyelz 1 sttt SR SMUEOL o3 ses

MY

GIEEN
* tell me what you see : A} tell 9] HZ 0|2
POl EAHwhat) + 0] +5AH S ZHH o E &0
e},
* Someone has stolen our tent : has stolen
o AW 2 yehjt Ajge FEoR @)
HE7} ¢l3& Yehdt

O X E5HA

Sherlock Holmes®t Watson BfA= 743 o3
< 2o g9hole AY AARe e g BE vl
Sof, 152 &< Ay 70t

2 A7 & Holmes= 7HojubA] A2 -t Al
=02, “Watson, sts< XL F4lo] Hol=
A a2 A.”

TAxEY ¥HWEol EolY, Holmes.” 2t
Watson©] tiggttt,

OAA FRE k=71

Watson> FHA] A2+t

o, AR AR, Uk o) 2ok A

Hoa 2419 Aje] P4o| Ak AL W 2],

2007.1.17 5:15 PM #°o]®]67 CMYKZH $

AR o R = EAO] AR g AL B
SHA EA|, AATH R, thEF 34] 1580] H
Aths AL & 5 . 7T He 2=, WY of
F GR7F S5 Aol AAsH|, AlgtH o2 =
Alo] A 7Fskal el $-59] ekt EXjgt=
AL & 5 YA AAs FAE Tl T
Holmes+ &A] J&E3TE, “Watson, H3 !
F277F #8 HEE SAHZEH 2 Holmes
7} &gt

@ Solution
1. Holmes® #& 9=+ utxg £4 Some-
one has stolen our tento] AAFo] U},
%, 359 Hol HiZ Hlths A2 "HEV} ¢l
ARTHE= AL YujeS g9 771 A ATt
2. Theologically ol 42 ¢l God is all
powerful, we are a small part of the uni-
verse”} 9| 4154 Ql ou]ojt}
3. Q : Watson HALe] SHO 2 njFo] & of
Holmes+= Lo il o g A Ayztehta?
— Watson< Holmesol Al 7Idid digo]
otd ¢Fe degE skl 9le™, Holmes9
kx| gt T “you idiot!" g FEA o] At
I AZERE & 5 Ut
G
3. © L& obF EE3ith
@ 1+ ofF Tsitt,
® I+ ofF rhayrh
® 1+ olF 271t

127
Grammar Check £
1. have lost 2. has gone
@ EsHA
1. e EHE dolHzA, E4E 7L A
et
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68

2. 2= "= 74, 7] it

@ Solution

1. €45 dofugA dA 7HA L A Prie A
olBng  ‘Ax}’F UHUW=s FAHSE
(have(has) +p.p.) AlAZ &t}

2. 247}F ml=e] 7F wEA @A o7] gk A
o2 ‘A & e dAL=E(have
(has] +p.p.) AAI= &0,

p.128

4

[
1.@ 2. GHol o= obA A 7HA] A¢S
SolF s ol B A == A
3.0

®Z@ol 27l
Many years ago, / there lived / a woodsman and his
Ao Akt Lt oL 7t
wife. // Poor as they were, / they loved each other /

JS2 7HARHR|E M2ZE At

very much / and were quite content / with their life. //
OrF ol Jz2|7 mf RHESHCH as9 dEo
One day, / an old man / who had lost his way /
oL o ot =210 Zs Y2
came / to the house. / The wife had little / to eat
St 3 Hol Oth= 742 AL HE 20|
herself, / but she gave / him / her food. // After he
el StX|EE 2= FACH J0lA SAS Jxs H2

ate it, / he said, / “Three wishes / you or your hus-
20f Jd= YO A 7R A0
band / may wish / will come true.” / The woman

Hi2t= 0|20{E o[tk oel2 HE 7%t

was overjoyed / and exclaimed, / “Oh, / if my hus-
Jz2|m A2 o Ui gHol UACHH

g4 22 g4 HHo|

band were / only here / to hear / what you say!” //
o2 o7jofl 52 ghlo] TEot AE

The last word / had scarcely left her lips / when the
ox|gp 2ol Yes HUx| 23U

woodsman appeared / with the ax / still in his hand. //
LIRE0| LEHRtS E7E KR oFE] 29l &0

oX,
o
ye
ol
=
ot

His wife explained / it all / as she embraced him. //
oti= HEACH AR 35 NASHM

For the first time, / he shouted / to his wife, / “How
XMBo=2 Je= A2[RcH  ofLiofA|

stupid / you could be! // You've wasted / one of our

L0t FHer g2~ g2 M B AH 9

wishes. // May you grow / ears of a donkey!” / He

st 7IXIE  Xf2fet LA AL a=
had / no sooner / said the words / than / his wife’s
O wa| US SFX| R¥ICH ~HLCt  ofLiel 7t

ears / began to grow / and grow.
PN VA NESye) ik & Xf2tck

GEEEA
* Poor as they were @ "@&At+as+Fol+%
AbE HE ~o|XF olgts QuE R =
tpebuict,
=though they were poor

Three wishes (that) you or your husband
may wish will ~ : you ~ wish7} wishes&
A5t groll ZA A BAEAL thato] A
of glet.

if my husband were only here to hear

what you say! : "if only ~,= @A YA F
A& vtete 499 2@ o2 7PgE A &
At} what2 ~dh= A o2k ul2 HPAL
£ x3st= AP ALo| T

The last word had scarcely left her lips

when ~ @ "scarcely ... when ~,& “--3}Am}
Ap ~siet 2k ot

How stupid you could be! :
Ab+ 0] +FA o eIt
He had no sooner said the words than ~ :
no sooner ... than ~, “--3kxputR} ~sicf
o] =02 Tgcarcely ... when ~; I} -2 <]
oltt.

* May you grow ears of a donkey! : May S #|

A 719< tehiet,

"How +3&

CREETS

ol RS ohrt gt 15L

Ao
o

7hd R

o
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Ag, AE ofF AFRI TEY B B wE

CEXE]
3. @ ol A AL At

o g Z4g 92 3 wglo] I ol k. off ® o= =} 9Tk
£ A= 9 Aol A9 FPAAR, A7) A4S @ PFLL W1 9t
=l A %311:}. 2 ORAS Y2 Fof| T ® gUHAS Joz g 23 Yyt

o] vhak Al 74A &
Qo] 4] olFo12 Aolth” oIS U 7|mA

A Fh, “of, Wi gHo] of7] kA FAle] T Grammar Check 129
Al AS S & ATl v o] 149 1. as it was 2. sooner, than

HollA olR|ApupAp LpRFEo] o A 3] &of E=7)

2 E A2 dedth ol 18 A%CHA B giaa

ZAES APt 202 I ofYoA &= 20 o JEL 7 olo
& Ak “olel WHY A Bael o a0 U AR A SR

M A vzl gu A Aete” 27t 1
g sl ohle] 717 A M) Ak

what you say!7} oF €] A A 2 Ao

o %, dHe] WO ohi A 7HY 292 B
o-]_7,:7)1\r,]. _110]_4 1:!1—_9_ X]Z-] ‘:0-] th ]__J‘—_y_ 1;]]_
% o] 3 A 29o] Hlo] Wzich

3. (@14) obui7} Q1o A) SAL F9E w,

22 vl g9k

— gHe ol £8E

A= et Yons YRE ¥

2% % k.

¢
>4

flo o

7 ol =78 =
AT

ut

K
1

2. e ARAEE AR} =gt

@Solution
@ Solution 1. "8 At +as+Fo+FALE HE ~olx Y
1 (A): Bh2el WA} buto® Mop oz mg  olote Al SRS OIE, o
A Al QAT AL wolof ] ELe 2. "no sooner ... than ~,< *--3}FA}apR} ~3}T}
2 T U AL GE S lttleR e
W, alittle> 25 3= 9 ojujojt},
(B) : if only ~,& ‘& ~o|7|gt s} o] &
° 2 Hoj 7pgHol 2ot dA AHE 9] vE
g2 Uehis A B9 zagae  GFammar Focus
HAF ALY wereZ} 2Tt Example p.130
(C) : 'no sooner ... than ~; =22 3 | peither 2.sooner 3. but also
Apupa}p ~5fek, o] Lolth,
2. Q o7 A HRl A A 292 FRIMUL? grmam
— if my husband were only here to hear 1 IYL JeaA % om) % ororh

2. 1= EXSIAIR} Ho] AT,
3. fleuEE AL dete Bk ofyat
w7hedt,

@ Solution

AXE o}Y3l BXx ofd

shatutt ~stet
Bk ofyE B

1. "neither A nor B, :
2. "no sooner ... than ~; : -

3. "'not only A but also B, :
Al

ox

o
oo
h=)
)
it

o
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Let’s Try =
1.that 2.0®
1
@20 gi7]

Her fingers / went / so fast / that it was hard / to fol-
aue] &1 itk HR e of2{Rct watztz|7t

low / their flickering movements. / Her thread was /
as9| LEAHel=s 149 A2 ~gir}

o x|o|S
=HUS

so soft / and her cloth was / so fine / that soon / her
HEL 2o J2(1 Je M2 HRLE Mg =

products were known / all over Greece.
e MEF2 et az2|A H=of

2

R

MO

*it was hard to follow their flickering
movements : it 7}5=0], to follow= A

ofole},

T 71 YR WA R §4
& w7t oA, 299 Ae YR &
U3 AL U At 2 T e HES 12
Mo AT

@®Solution

so ~ that ..., RS2 YT ~3)A ---3F o &

|t

2

@20 ¢TI
Whatever / the era, / whatever / the times, / one
FN0|EX] AZ17} FAOIEX] AlTH7E
thing will never change: / fathers and mothers. // If
§F 7kXl= HoiX| 2 AoIck  OfHX|eF o{mL
you have children, / they must come / first. / You
Xpef 7t CHH aS0| <tof etct 20l
must read / to your children. / You must hug / your
{01 Fof stot XHASolA| Qfot Fof sict

children. / You must love / your children. / Your
ot0lE2 Atetstor Sfct oto|E2 H2l

ox
o
ye
ol
=
ot

success / as a family, / our success / as a society, /

432 IELE N 2o 4832 AM=EZMY

depends / not on what happens / at the White

IR T 0| LO{LEX(Z ofLf2t  HHorEol A

House, / but on what happens / inside your house.
& Lol LofLt=X|of 7Kg etolM

This is / where my speech ends. // But it is / where
o|x0  Lto] HHo| ELt= Ro|Ct SHX|2H a2 ~olct

your adult lives begin. / May / your future / be wor-
o222l ol Qo] AlRtel= X dizfch Hef j2iot

thy / of your dreams.
7kx A71E Boz

CTEEH

* Whatever the era (is), whatever the times
(are) : whatever< oJH ~gtk’ o] Lo & <¢F
BAS o], the era®t the times tH2ol &
A& et ise are7t 2H2F AekE] o] ot

* This is where my speech ends.
O FALR 5] Hojo|r,

* May your future be worthy of your dreams.
: May= AAl 7192 YehaL itk "be worth
of & ~& 7H7F I 2he ol

: where<

Rt
| Al7]olE, o | Aol E, & 7HA, of A9}
Y weka ke AU Azt sloka,
o] AU $AA Hojok Ut} otol Sl
B glof Fofof Tt IEL o} Fok Y
. S Al s 8 %2 A
2} 3 A8 2A ) 4TS welgel 4 & Yol
Yojupxlo] T gl Aol ohieh kel A
52 o] dojubeA|o] g Yayth
ooz Aol dAe Zo| dyrh sut ojele
o Hlo=AY 4o NatEE ZYUL oji
of wlel7t B2 77} gl o] H715 i,

=

i
o

Bl 2 2

Q.
-
R=¥6}
=
N O
=

@ Solution

® : "not A but B, +22= depend?] EZ o]
Z on what ~°] 21 gith. TebA @2
but on what happens&til o} gt}

o
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Example
& Eol7] 913 A7t Sop & U

= [e]
ees

ofct

p.136

®2of 27|
Korea’s birth rate / is low. // If it continues to fall, /
st=o E4E2 =Lt oreF J740| A% Ho{XIH
Korea’s economy / will suffer. / For example, / the
st=o Zxl= Aot olg &

workforce / will decrease / and the market / will get
&0 £015 Aolct J2|m A2 o Zord Zolct

smaller. // Also, / the pension and health insurance
Agut o EE A7

ASHE ol2
EHE U2

Lot

systems / will have problems. / Then, / what should
ZHE #A 2 Aol b

the government do?

YR= FAES 6liok skt

o

®TEEA

* If it continues to fall, Korea’s economy
AlZkolu 229 AP A= @
ARt

will suffer. -

A AA7 i E o

(@4H2)0] A%

& Aol
=3 AL o Fobd ol
#3 A7} AR 2 2
%2 ok SH=712

oM.
WJ
b
T ol

ll

=

®Solution
AT BAE AT AT BAYS OE 2o|

E} upxet £ what should the government

0?78 F3) AR} ok T Ao Tt Aol of
01%3&4 212 o 5 gt

SWFA 2007117 5:15 PM  #°]A71 CMYKZHY $

Let’s Try p.137

©)

20| 27|
Korea and the US / started to negotiate / a free trade
2=t 0j=2 Fefst7| AR FTA 832
agreement (FTA) / in spring of 2006. // The agree-
20064 =oil
ment / takes effect / around 2008. / The US wants /
SHES Yst 20084 Zof 0|22 et
a 100% open-door policy / from Korea. // In Korea, /
100% 2= Y His rZo=HE S0l M
many worry / that there will be / more losses than

B2 AS0| AFET ~0| S Aolct P AEChE U= A0

s A [ =

1 gE=

gains / in FTA. // They say / the US does not want /
O @2 FTA MZoz= 2S2 Lol 0[=Z2 HotA| §=Ct

[E=jrumy

to respect / the interest of Korea. // They also think /

= Zg &= olog OS2 E3 M2eic

&&=
businesses such as agriculture and services / will die

S MH[AY 22 ME2 A9E Zolct

out. / But Korea can protect / its interest / if it pre-
SHA|E Bt=2 ESE & QlTt xk=9l 0]ddS

pares well.
otk 774(5H2)0| FHIE Z &}

re

CREEAM

* Korea and the US started to negotiate :
start= S22 toF YA} FEAE & o &

T ATt

* The agreement takes effect around 2008. :
"take effect; 28L& T3jsict

* They say (that) the US ~ / They also think
(that) businesses ~ : say, think ¥|°| HAH
< o|T= H&A} thato] e o] ot

R
= v)=2 20069 & FTA 842 @4517]
Azt 1 42 20089 Fell aS wIe
ot vl IO 2RE 100% =2 N S

sk ot F=ollM, B2 AFE©] FTA A2
de de AEbE 4e Aol ¥ B& Aol

ox
o
e
of
B+
it

o
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@®Solution

2 mpxeel ) gHto] £H|E & shul A2 o9
2 BEF 5 9 Aolety Your ojwA
HBhe Zo] Ao Tk U] olod Aol

Let’s Read
Ehlf‘_".f '.‘.!'i 'i_l

1.® 2.©

p.138

@20 27|

Since the 1990s / many Asian / came to Korea / to
1990t 0% L2 OotAlorelSo0l Bt=of =i
get jobs, / and they married Koreans. // Also, / these
LR[S 27| Yol 22| OS2 St=SH ZECh EE
days / many Korean farmers / marry Asian women. //
RE 2 2 5750 OfAlOF O St ZEstrt
The babies / from these marriages / are called
oIE2 0|5 ZE2o=RE Eio FAl2tol2tn
Kosians. / More and more Koreans / marry Asians, /
=20t HE o g st=els0l OtAlorRIS ot ZE st
so in the year 2020, / one out of three / new born
metM 2020E0l= M & & & gol Aot
babies / will be Kosians.
TARY Zolct
Still, / Kosian kids / do not get / enough support. //
J0E S7tetn FAQE ofElo|S2 X Reltt FRE =22
A survey shows / 17% of Kosians / do not finish
ot ZAl= B0 &CF FAIRtO] 17%7t &t E OiRIX| RSt
middle school. / Some / quit school / because of
Yf=  Suws OthEC 1EE mEo
bullies, / and others / because they do not have

J2|3 OfE URE 350 S8 =0] | HZof

ox
o
ye
ol
=
ot
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enough money. / The data shows / we should do
I Xee 2o 20 27t fFAAVE

something / to help them.

afioF stct ass 57| Hldl
®TEEA

* many Asians came to Korea to get jobs : to
gete ‘= of ou]g vjehit 2AE el
to+ Aol Tt

* The babies from these marriages are called
Kosians. : 'be&At+p.p.,2 FEHZE ~2h1
= 2 s,

* More and more Koreans marry Asians :
H¥F+and +BlREe WA H ~F 9 &
oltt.

* Some quit school because of bullies, and
others (quit school) because they do not
have enough money. : 'some ~ others ..., =
URE= ~ EOE gFE= -7 9 Eolt others

ol ¢kl FAF quit school®] AEFE o] 9dct,

25N A

199045 ©]F B opxlotelSo] AR S A7)
el sol L, 15 FFASH AEUT

2% @ AR HRE0| obAlo} ST

]
ol

E3}

AE3lt o]E ZEoRHE Hold opo]E2 X

Aljtolgtal E9tt A o W2 d=elE0] of

AoRIET AE&E st=dl, o1¥A4 =W 20209

o, Aot Al i F 3 g2 FAIQHY Aot}

JPo= E51aL, AR ool ELS SET =
A= AR 17%

i

01.
i et

Y W&ol guE an

=
4
M
o
it
o,
e
sl
:
ot

@®Solution
1. opA g E&ol A ZAIRES 7] 8l F3A7t
£ dofF gt e E R o] F FHol= ZAIL

ofTolES 915 & 4 Yt Bol olojd Y

o
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2. (314) FAIEL = ofAoFl AbelollA
B oty
— 3R 2ol o] A& Hiold ofo]Eo]
SIA|Qbol2baL Sfal 1 goflA opAlotlat Bh=
9] &S AFReER FAINS =l
otroFQl Atololl A Hojdth= Ae & = T

A= E
ORI ® g4
@ =l ® HAJorel
mi 2 s nbg oI T p.139
1.cheap 2. @
@20 g1

India will come up / as a new world power. //
== HRE ZAo|ct M22 A d=2e=

Research and development centers / are built /
AT e HEIS0 MR
everywhere. / Many world tech giants / such as
2E Rof B2 AAH 7l ZRHs0l

Motorola and Hewlett-Packard / get help / from
REED}, FAUHE Z2 =2E g=tt

their Indian teams.

a=9 =9 HERRH

In India / high-quality goods and services / are
AzolME uF JF3 MH[AT

unbelievably cheap. // “They sell / world-quality

2E o 20| Mt JS2 Hoh MAN SE 4ES

goods / at Indian prices. / They can compete / any-
Q=9 7tHez ase2 4d8g + o

where.” / says C. K. Prahalad / of University of

ofclol MLt C.K. Prahalade Zstct

Michigan.

OA[A cistel

The economic miracles / in Japan and South Korea /

ZHA 7150 U=} 520

did not change the world. / They / did not have

MAE HeIAZIXIE SRUACH ase

enough population. // But India has everything /
28 A7 Ut a2 s 2E AS KT ot

2007.1.17 5:15 PM  #°]X]73 CMYKZH $

that America had / in the 19th century / just before
ol=0] 7kx|2 UH 19A1710f

it became a world power.
ol=0l M Z=0l 7| tt= Hl

®REEAM

* India will come up as a new world power. :
‘comp up as,; ~& 5743t}

* Many world tech giants such as Motorola
and Hewlett-Packard get help from their
Indian teams. : such as= ~¢F Z2 9] ojn]
Z AR AF 5 1 AREET

* India has everything that America had in
the 19th century : that ©]3I7} A3PA} every-
things 43t= 5244 TAHEARE oIt

ol = AA A=o® HeE Aot A
T AlE| 0] BE ol AYstt REET,
FAHAE 22 g2 AAA 7& FAEe] A5
ORI HERRH =S A=

A== g AFT AU A7t 1S 5 ¢le 3
T2 At O52 AAE FAY AEE A=Y
7tAo 2 Yyt I1EL oAy HAT 4
A AUt 2k v]X|7t tfgke] C.K Praha-
lad+= @3ttt

Y&} gh=roll A ] AR 7] F o] AAIE HSHA
717 &ttt 152 TR A gl 1
HU A= ul=o] AA o] =7l upE el

1941719 7H8 9 =& A& 72 et

@ Solution

1. FEel Ql=olA e g A& Au27t #

Tt PO B2 Indian pricer % 7 & 9

ottt & 4= ok, @EkbA Indian WAl che-

apo= HHY & 4= Qlot,

2.Q: 0~ ® %, A=E vHY AA A==
TEE Zo] ofd AL FARTER?

— IT71&, & 7449 15 AF, B2 A+

skar 9l

o] A=F AAZ=L = hErhal Hahal

o
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@& A=7tohd 9
3 drgolct,

£} 9ejuete) A5 o

i p.140
3.@

L
-

*AE ctw LRED AL

1.®

2. raising children

@20l ¢i7|
Until recently, / Korea had / a birth control policy. //
ESTSVION| St=2 off RACH Aot At HAMS
Since 2005, / however, / it worries about / a low
20054 ofzf 2Lt gt=2 At X gitEgS

birth rate. / The problem is / its birth control policy
=M= ~olct et=o| 4tot M3 YEHo

worked / too well.

sALAC HFL E

Young couples / today / do not want babies. / Why? /

2 RRE esd A4S Hotx| Y=t N7t

First, / it is difficult / to raise children / in Korea: /

b oLt HE 7|22 40| St=0i|Af

cost for education is high, / and government sup-

WEH|7b v ME HXE

port / is little. // Second, / the child care system / is
7ol gl & HmE X4 EE A[AM0]

bad, / so most women cannot keep / both family

Forstct 2N tHRERS oMol /X & 4 ¢lct  7tEnt Mg

and a career, / and more and more women / choose

SAlo] Je2|o EE o B2 oygs0|

a career. // Third, / in most families, / women alone /

AAS MEfSICH A M2 222 JHEuME  ofgTto]

are given / the responsibility of raising children, / so

Z0{Zict HE 7|2 Mol EN
young women do not want / to get into / that trou-
H2 0852 Hotx| ot Wxl= He a8 2ol

ble. / Then, / is low birth rate a problem? // Yes, / in

JE0H X EM80] 2HLUIL? JEcot
many ways.
E2 HolAM
orEE

* its birth control policy worked too well. :
worki (A1 w17k 2 sof Uitk of o]
olt}, worke ol9Qld ‘Usit}, FEaich A

o
iau
=)
ol
=
ot
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A Y A7HA o= 2T

ex. We work 40 hours a week.
(2= 1500 4041t L&t}
The watch is not working.
AAZF 7HA] =)

* the government support is little. : little
79 =9 ou2 A £ gle BARE 9
ooy Al = QlE A= few= &t

* most women cannot keep both family and
career : "both Aand B, A%} B & tf 2t= &
O 2 A% B HHEA] PARR} BAE FEASE 5
A5 EHA LR g2 Flo] dAEofoF gt

*young women do not want to get into
that trouble. :
HRR| Tk

Fget into a trouble, Ao

OHEsHA
2R, SR Aok A AL o gk 1e
W, 20059 ol, §FE A B4+l e A4
st} BAIL B3] Aot AT o] YR} 2
S glrke Aot

Sd ge BEE A9 95K gt 9Y
A7 WA, SN At Tl stol of ]
Bl sl s, Ao Ade Ao o

= WA, A By Ado] dorsiA, Hhi
o olgEe ea Ade BT - g
# o we cbsel 4% Au. A A
L TREY el Aol AuE ]2
g AE2 4o B 18 BAlo] wA

Holshx] ghth 2gTHE, A 4L BA

QA7}? 2T We welA.

r_lilPéHUnZiHE-f‘-

@ Solution

1. oRA e 2ol A A EAkEo] B WA 24
7F ok gemz ol" EAZE el o
g W&ol o]ojAl= Zo] AALHT

2. A4S0l WAL HofstA] o= EAHS dF
w2 7HF oA ofgETte] YA = Kot
(raising children)’ ©]t},

o
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3. Q 'l it A1 F g ALY
— @ : Young couple today do n
babies.& &3 254 &

A YokA) U S-S

CEA=: E

¢

1
Ir
>
>
[
3

s ox I rlo
£ g o
o (g Mo x

¢

A

w
® e
ol tlo ol ox ¢ ox

2 o x 2 e

2L

ox,
i)

o] &7 ofolE 7| &t

[e5

Grammar Check p.141

1. (A) Since (B) however

2. little 3. few
O T 25 A

2. 344 7|7k A4 gich
3. o] A= AEo] A9 gt
@ Solution

1. (A) : ~°]H=E - since

(B) : 1Y, 3}A|% — however

2. AY gle 9 Y|z Al & gl FAl= it
tle &t}

3. AY = 9 Y2 A 5= Sl
g &1,

A= few

'-L"g_l g -I- -i-l ! '!i-l p.142

1.(A-(C)-B) 2.O

3. (%) 1 agree. 1 think this policy makes
us competent. &

(8b T disagree. I think the Korean lan-
guage may not survive.

@®20] ¢i7]

Korean government / adopted English / as a second

ot= YRe SOE xHEHACH

official language.

M2 380z

It is / for Jeju Island, Inchon, Busan, and Jinhae. // It

azx2 ~olct Mz, I, B4, a2ln ZEE Slsh

expects / that this policy will make Korea / compe-

a2 ofdetct o] Yol et=g TE Aol 48 A

tent / like Hong Kong and Singapore. // Then, / what
E30/Lt JIENE a3

changes will / this decision / bring?

o H3=2 ol Fo| 7t E7t

Students in those four regions / will learn various

0l Ul X|gl9| tls2 Chyet =2 i Aot

subjects / in English. // Native speakers of English /

goiz o Ho{2=0]

will teach English conversation / in all elementary

o 23E 7t=F Aolct Z2E £5suet FstuolM
and middle schools. // Taxis and shops / will use
ARt dHE2  FOE AEE

English. // Street signs / will be written / in English.
Zo|ct E2 BXEHS2S ME Aot o=

While / some merits are expected / of the policy, /
~ot= EHH 2 JtX] HHEO| 7ItiECt o] FHel R JiX]
some problems / are also expected. // First, / the cost
ENEE HAl o =L A

for running everything / in English / is huge. //
2= As 2Fske HIZ0 oz FIut
Second, / some worry that / the Korean language /
FHME o AlFS2 A et=0i7t

may not survive.
YESIK| Y A=

CEELS

* this policy will make Korea competent
like Hong Kong and Singapore : "make +
2Ho]+ M7 Bol & ~g -3h4 wETy
g Yu|E 5HZ HolE= FANE o=
WAL, F4AE BARA Fo] & 4 9l likek
AAAZ ~AH o] Sjujo|t},

* While some merits are expected of the

oX,
o
e
ol
e
~N
(3,1

o



3 F(Level 3)-2 W FA

policy : while2 ‘~3t=

% 7o) Apuke Aaks ke AuE
.

* Street signs will be written in English. : =
AL e B $FHE 2FAbe+

p.p-,= HEHH, nlF =58 2ol
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@®Solution
1. 3= AR GolE A2 382 A=
Foz F& FHolle= FAFoE AldgE ZAet
71t &35 A5 (A)7F 2 H, (A) R #
HoA 12 QI3 H3E dFFeEE A
H3HE Ugsta e (CO)7F 2 ool oo A
of gttt 1% |, o2 Qg AUHE AFStH
(B)2 vt = Ao| AAAAHT
2. D Fo] 380 AYOZ Q3 FF2 (C) &
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of, 33 TF9 WAL YA - AH -2
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2. surprised
4. helping

1. sweet
3. buying

CLEDE

1. Y4

2. W 29 E e Bl
3. 2 AR ARS B8 Y5 ult

4. AB 2FA A ZAR T,

@ Solution
1. "make+EF o]+ B2 A Kol FLRo|x 23
4 Holz SAY, F8AL AL IARA 5
o] & % glovk, FAH & % glek
2. "make+=2 o]+ HA A Hol, FEo|A 3
oo} B 7 Bojo] PAZL SFolw BHZ 1
o= HARA} L},

3~4. TR AL+ AHEEAH

Grammar Focus

Example
1. do, at all

p.144

2. little, never

@®Solution
1. A 7z = A &l doE &
EAF 2o at allS £t}
2. A9 QY gz A 5 gt A Fole
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Let’s Try 4
1. (A) The (B) Few 2.®
1
®zol 8y el

Many Koreans were excited / about World Cup

oo BZOIS2 BH QoI 2006 Y=Zof Chsh
2006. // The very reason / for this excitement / was
H= 3 0lf= 0] &2 as9

their wish. / Few people / doubted in / their victory /
AL0[ALE =449 ARS0l ARt 139 s2lE

in the quarterfinals.
470 M2

MY

CEETRS

* Many Koreans were excited about World

Cup 2006. : "be excited about, ~°| 3| &
Esich
RS B
o SIS 2006 €= da & L
Atk o] TEY olf+= ThE ofd 159 4]
Atk 1E50] 474 S AE g4t AR
=2 A9 gt
@ Solution
(A) : FAY] ZFR+E= the veryE gt
(B) : A gl 9 YuiE A 5= Q= YAF Sl
= fews &
2
@30 27|

Korea did sign the FTA / with ASEAN. // This is / the
S22 YR FTAE MZCH ofMQtat 0|A2 ~olct
fourth FTA for Korea. / The other FTAs / are with
St=o] 4Hm FTA CHE FTA= 2,
Chile, Singapore, and Europe. // The US also / wants /
d7HE, 1211 [Eol O|== A et

make an FTA with Korea. / However, / we should
st=at FTAE MZsh & Lt fel= 22

never / hurry with the FTA / with the US. // The US
oF ECt  FTA MZS MEZ2LC ol=ate| o= AlE2

market / is too big, / so we never know / its effect /
He 3ot JdM R2lE 232 ZEC0 O ges

at all. / The very key / for success / in FTA with the

HZ 1 G4 g3 8 0l=29 FTANM

oco= TI
US / is preparation. / We should remember / that in
ZHlo|ct Fals 7|stof Bt HAZOM=

Mexico / an FTA with the US / brought about / an
o|=2zte| FTAZ TH 2Tt
increase in exports and investment / but it lowered /

TE FXel 375 SHX|2H 2240] HFACt

the overall quality of life / for the common people.
HMetxol 4o Mg st A
®TEEA
* Korea did sign the FTA with ASEAN.
£ B4t signe R
* we should never hurry with the FTA : sh-
ould: ~3jok gt¥ gt ojmz ‘o 2
Bl =F Aot
* The very key for success in FTA with the
. the very+= °]o|X]+= 1

- did

US is preparation.

Al key S ZFZ3ct
CEISE RS
S-S AL Z oAt} FTAS A2t oA
Skt 9] ‘:M FTA°lt}, TFE FTA:= #d, A7}
E, 181 fgoltt ugE A =3 FTAS
Adst71 & gttt 18y, fg= 22 v=3
o] FTA AZ2ES MEHA = ¢ ot vl A
UE AA 8= 23 I 92 220, vy}

o] FTACIAl A39] dat Zulch St =
oA b=zt FTAZE &3 A9 SHE 7IA
SEA I Auk Al S] 4o} g Wk
7] e}sjoF g},
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@ Solution
®:
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